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0 | foTeTm &1 | sferet S —— O garawd qfA| @ T o — 9@ arde @1 B
o | AW [T AW o B upfa | o 30 EY 90 0 fafer N
Rerfer
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
1 | R | e e YR 16 NINECAECE mg? 842 156 0.02/2
2 | TR | e YR 16 JETR TN mg? 842 156 0.02/2
3 | R | gEe HelHYR 16 | NTHUHTG IoTh mg? 842 118 0.03
4 | TERERE | IRl ERAYR 88 ERIRE mg? 41 997 0.02
5 | AERRE | gIe GRIE] 59 M PR a1 mg? 44 1212 0.13/4 IsH TN W” g S
6 | TERIRE | gIe CRSIE] 59 gl <dl mg? 44 1212 0.11/2 ash TR wg g <l
7 | TR | gEel ERIE] 59 gl <l mg? 44 1212 0.01 NSED TR |umEr <di| Sfad wer
8 | R | e ERIE] 59 SlESINE mg? 44 1212 0.01 qsh TR gﬁ NEIREE
9 | edrRrRn | e GRIET 59 7T <dr mg? 44 1212 0.01 GSE TR - R
10 | TRERIRTY | AT ERIE 59 EERIRE mg? 44 1212 0.01/2 NEEd TR RN Rt
11 | TR | TR GRIE] 59 e <d mg? 44 1212 0.01/4 NSEd e Eﬁaﬂ_ﬂ AT <l




12 | RERIRTY | AT ERIE] 59 ATAT <Y Taég? 44 1212 0.01/4 qsdh R n;_;rﬁ T
13 | TRERIRTY | AT ERIE 59 AT <l Taég? 44 1212 0.01/4 ash qER [T < AR
14 | TERRT | TR CRSIE] 59 USRIRCE Taég? 44 1212 0.01/4 D BEX j:; AT <41
15 | TR | TR g 72 “reT der Twéi? 264 2472 0.02 ?fi’:%rq TN FeT| ded | T Her
16 | TERRT | TR BIN[S) 72 T war Twéi? 264 2472 0.02 ﬁfﬂzw TATAT 1| HSh | Adel HaT
17 | TERRTE | TR IS 72 ERISIIE] Twéi? 264 2472 0.02 NEURSCH IR HqSh | Ade Fa1
18 | TR | TR BIRSLS) 72 Hdq] HaT Twéi? 264 2472 0.02 BT |1 el a;r;ﬁ T
19 | TERRT | TR BIN[S) 72 BRI gl Twéi? 264 2472 0.02 ﬁ:f_;a Hde], §aT 1:2: w
20 | ordIeRT | e BN CE 58 R <4 T%g? 144 1558 0.02  |¥¥ WaI| YRT waT ?;T re
21 | TERRE | gITel e 58 faTer war Taég? 144 1558 0.02 T Uo7 el ?;T e
22 | TR | JhTET LESED! 58 H{mUT |al T%g? 144 1558 0.02 T;T aR¥el e ?;T re
23 | TERRE | el IS 58 BRSNS T%g? 144 | 1577 1578 0(')(')(13/2 Wﬁw a1 <4 ?2 T
24 | T | e faemgR 73 RS Tt T%g? 107 1210 0.03.3/4 :1;2 T e | NIl




25 | T | el HATGYR 30 Y@l AR Twéi? 258 389 0.03 @(i\_;rsg @oﬁ—\_:r:sg @oﬁ—\_:r:sg

26 | R | el HATGYR 30 Hrar <Y Twéi? 258 389 0.03 @(i\_;rsg @oﬁ—\_:r:sg @oﬁ—\_:r:sg

27 | o | el HATGYR 30 RSCIRCE]] Twéi? 258 389 0.03 @(i\_;rsg @oﬁ—\_:r:sg @oﬁ—\_:r:sg

28 | e | e SUEN 19| XgHed wisy T%g? 85 112; g:g; 16.07.71
29 | IENRTA | e RTeTHYR 16 | <1edT arAar T%g? 185 :22 0.01'(;2 16.07.71
30 | e | e SUEN 19| SR 9ISy T%g? 36 908 0.04 14.05.71
31 | iR | e AR 16 GRI e T%g? 211 569 0.07 14.05.71
32 | oredieT | e fehRUTgR 44 | wIRMEOT ATEq T%g? 321 477 0.05 17.04.92
33 | AR | TS HJaT 58 [SECR NI Twéi? 258 1860 0.06 19.04.92
34 | IR | e PHCER 21 far areq T%g? 12 134 0.06 27.04.92
35 | EERT | TS SESSEN 18 A0 HTH Twéi? 339 223 0.06.1/2 14.04.92
36 | oo | e SUEN 19 RIVIEKIN T%g? 250 8201 2 B33l 24.04.92
37 | AR | TS ANITHYR 109 ST <dr xadl (@0 5441 19 3.25 19.04.92
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38 | oIRERIRT | e TSI 69 | A0 T <t Srad) | 250 478 1.75 27.09.91
39 | oredrerra | e | e IMYR | 37 | RTol Hedl T%g? 23 98 0.02 30.09.91
40 | TERR | e q\urgﬁl 19 Eﬂ'\ﬂﬁ‘d?ﬂ—c{ Twéi? 85 1372 3.5 14.04.92
41 | FERIE | el SUEN 19 | HATeTTel i T%g? 192 1250 0.04 14.04.92
42 | SRR | T | @rAT /SR | 47 SRR T%g? 174 1012 0.08 14.04.92
43 | AR | e Sig 136|  WTiRY UfEd T@g? 365 1254 0.08 29.02.92
44 | TR | e TR 27 | #EI0 AR <l T%g? 120 2230 0.04 14.04.92
45 | orERTA | e TR 27 SIS T%g? 120 223 0.04 14.04.92
46 | IRIRRTY | TG SN 136 LI R T%g? 368 571 0.04 14.04.92
47 | TR | <ETe fehRUTgR 44 | wIRMEOT ATEq T%g? 321 447 0.05 17.11.92
48 | TERRI | e q\urgﬁl 19 Wﬂﬁ Twéi? 175 393 3.50 16.04.92
49 | oTEieRT | e BIR 72| fAwRE T%g? 212 1717 0.05 29.10.92
50 | orelieT | e fehRUTgR 44 Rra areq @ o, 47 3.25 29.10.92
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51 | TEERT | TS g 58 [SECR NI o) 258 1860 0.06 09.04.92
52 | IR | e PCER 21 far areq T%g? 42 134 0.06 24.04.92
53 | TR | *ETeT | ATSIYR qrEST | 53 | HAl0 Hwil <dl T%g? 85 388 0.09 25.04.92
54 | TREERT | TS HelHYN 16 IERCIRCINEIG] Twéi? 150 1955 25 19.05.92
55 | el | e G 60 CISIIE) T%g? 1452 6 5.50 13.04.92
56 | TIERTA | e GTa 60 R Al T%g? 22 501 245 13.04.92
57 | e | e QIS 16 RIRRUEC] T%g? 13 312 15 24.04.92
58 | ereRT | e QIS 16 CISIEC] T%g? 13 312 15 24.04.92
59 | credreRTa | e |rel 79 e HEdl T%g? 263 585 2.00 24.05.92
60 | cTEdIeRTa | e SINBIR] 69 e <4t T%g? 263 585 35 23.05.92
61 | o | wgEiTer BIE]] 79 | RIS HEAr T%g? 263 585 5.00 23.05.92
62 | RETRTY | T T 90 | g UrEAH T%g? 41 563 45 23.05.92
63 | TEART | TS DATTYR 30 RIGINGEIES xadl (@0 258 539 3.00 23.05.92

qryad)




L (@

64 | TR | GITRI S8 136 ERLECHICS ) 338 1584 3.00 23.05.92
65 | TR | AR INEIGI 31 [ECICRESIE T%g? 144 903 0.05 23.05.92
66 | TR | TG ERISIE 116|  reredn <dl T%g? 4452 314 0.03 23.05.92
67 | iR | e QINEIR 69 faa dfea T%g? 250 482 0.02 15.10.92
68 | TR | TG JRIRYR 80 wel AT T%g? 292 336 0.02 15.10.92
69 | TEART | TS RTOTYR RXTHWY XTH Twéi? 233 11 0.05 25.09.92
70 | TERERI | IRl SAS 136| 31 YHIT AT Twéi? 388 1401 25 25.09.92
71 | TR | e SN 136 TR ATy T%g? 338 5430 0.03 27.10.92
72 | o | gda BRSS! 72 O HEA T%g? 350 1819 25 27.10.92
73 | EERT | TS BINTS] 72 ‘jﬁ?ﬂ? [SIE7 Twéi? 207 1868 2.00 27.10.92
74 | TEERT | TS AR NINER-EIS] Twéi? 476 175 10.00 29.10.92
75 | ARIRIRT | ST TR 49 IR T%g? 20 1128 0.07 25.11.92
76 | TEART | TS LCICIINIS PN 47 ERGIRCINEIE] v (@0 512 410 25 25.11.92
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77 | TR | gEer IRYR 49 SATAT HEdl fua ) 40 28 0.05 25.11.92
o c ACRINCIAIN
78 | TTERINTT | UG dhceX 21 ERCINRCINEIE tﬁngé’r) 12 89 0.04 13.12.92
o c ACRINCIAIN
79 | TERRTA | XISl [ ATIDYR QST | 54 I <4l tﬁngé’r) 34 76 6.5 15.12.92
o c ACRINCIAIN
80 | eTERIRTY | ITal HeTHYR 16 | U¥ HHR HITDR tﬁﬁsé’r) 285 495 35 19.12.92
ACRINCIAIN
81 | TR | gIer HIOTHYR 87 PR AT @r%g) 446 114 16 15.12.92
ACRINCIAIN
82 | TR | gITer KEIY 31 Bled Aal tﬁ@@’r) 115 85 7.75 15.12.92
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85 | TEIRIRTYA | X[ITel [ 3TNl RTHYR | 37 JeRA N tﬁq%gé’r) 29 154 0.05 29.12.92
o 155
o c ACRINCIAIN
86 | TEIRRTY | IPTST [ ATSTYR qlHSl 53 IR AT tﬁngé’r) 91 58 0.01 31.12.92
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87 | oTEINIRTY | ATl [ TTSIYN <TESl | 53 oI HaTl tﬁq%gé’r) 91 57 0.02 31.12.92
o c ACRINCIAN 15 0.04
88 | TN | UG A HICTYR 103 NERCEERICE tﬁ@g‘é’r) 9 62 0.01 30.12.92
o c ACRINCIAN
89 | TR [ ISl HeHTTYR 103 LEERIET ( 9 15 0.05 31.12.92
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90 |TERI | IRl RITYR 56 QRRY o ) 79 122 0.03 05.01.93
91 | Ty | e YR 16 e <l T%g? 582 3829 0.03 15.03.93
92 |EIRRI | EET| @Il JITqR | 47 EACINIGEG ) T%g? 74 1082 9.5 25.01.93
93 | REIRRI | ST | @Il IATqR | 47 U= ufed T%g? 174 999 0.06 16.12.93
94 | THERERI | GITRI HHTHYN 43 NEEURICT] Tqég? 93 285 0.01 23.02.93
95 | oI | e HHAAYR 43 CRICIIICE] T%g? 93 285 0.01 15.04.93
96 | TEERI | GITRI dﬁg% 24 IMea Rig Twég? 39 186 0.02 15.04.93
97 | TR | ATel YR 19 SlRCINEIR T%g? 8 516 0.04 25.02.93
98 | TR | JhTeT YR 24 ~red Rig T%g? 39 186 0.02 25.02.93
99 | erediery | e ECN | 143 IR T%g? 268 845 0.03 04.12.93
100 | erIeRTa | *iTeT WY 143 AT &1 T%g? 271 867 0.03 06.12.93
101 | STRERIRM | QST | W7 RIGTYR | 47 | ARG UrAdTA T%g? 212 410 25

102 | erdeRTa | *EiTeT WY 13| < as |0 @R g 143 0.06 06.12.93
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103 | erereRm | e Hfgramar 166  garhar <dl Seae) | 168 288 0.03 06.12.93
104 | oTIRTa | TG WRT 143|  ATAYS! <41 T%g? 259 844 3.25 06.12.93
105 | e | e ECN| 143 EA Tl T%g? 259 143 3.25 06.12.93
106 | T | e WY 143 SIRGT <l T%g? 259 84 3.25 06.12.93
107 | T | *EiTeT WY 143 T A T%g? 259 542 0.04 06.12.93
108 | eTdieT | el SN 19 Hlo AISH T%g? 250 820 0.02
109 | orefreT | SEfTa SINCER 3| &g UM T%g? 350 148 0.05
110 | TR | el qeDh 3 | HERE urard T%g? 350 279 0.08
111 | e | el YR 23| w0 RREr <dr T%g? 371 34 0.05
112 | el | e gaXYR 23 Hes Hedl T%g? 371 37 18 24.12.93
113 | TRERIRTY | AT HeAHYR 16 | RAeaR gRga™ Twéi? 704 0.03 24.12.93
114 | TRERIRTY | AT RIBIYR 13 AT <l Taég? 287 0.10
115 | TIRTT | RETe JEYR 51 EEIEISEIG v (@0 17 0.01
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116 | TRERIRTY | AT UTIRTHT = el S dh) 270 83 0.10
117 | AR | e g3 TR ARRY T%g? 84 1024 0.03
118 | AR | TeT | HIOTBYR SEEKINEE T%g? 258 549 0.08
119 | orederTa | e SEIRE 35 ERLECISIES T%g? 2576 25 35
120 | TR | el hATEYN 30 Hlo g4 T%g? z:: 6732{13 0.05
121 | IR | AT hHce YIARIIT UIER Twéi? 18 2421 0.03
122 | oTEraRT | e TG 48 [GERIEE] Taég? 18 35 45
123 | AR | e | @rET RGIYR | 47 | HAI0 FABIRT <dl T%g? 7 384 3.5
124 | R | e | ASHEQR 43 FCRT HaT T%g? 93 24 0.05
125 | eredrerra | e TR 49 | RTREHY HEA! T%g? 7 24 0.05
126 | TR | QT | wTET ISTYR | 47 yHIE JEdl T%g? 74 1082 6.25
127 | orEraRT | e TGl 48 SISCIIRICE) Taég? 18 35 45
128 | R | e | AHEQR 43 e e | @ g 384 0.01
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120 | AR | IRTeT | @M RGIYR | 47 STl <dl Sead) | 74 590 0.02
130 | IR | EreT | 7T ISIYR | 47 | SiIGA Agdl T%g? 74 1082 6.25
131 | o | Efrer | wTar ISR | 47 SIESICERI] T%g? 74 1082 6.25
132 | ordier | el EESTIEN 50 | o ArEq T%g? 96 218 0.04
133 | AR | e | WHET RGIYR | 47 | URHRER] <l T%g? 111 462 0.05
134 | TTRERIRTY | AT HHAAYR 43 T HEdl T%g? 93 383 0.15
135 | TR | SETeT | @rar RISTYR | 47 EREINUKENI] T%g? 310 25 2.25
136 | IR | QT | W77 JSIYR | 47 | RTFEGR HEA! T%g? 310 25 225
137 | TR | YETQT [ WTdT RIGTYR | 47 HEIS! HEdl T%g? 310 25 2.25
138 | IRERIRTY | AT ERSRI KA 48 | YHEET wEGl T%g? 7 54 35
139 | SRR | TR BIRIK! 72 AT AR Twéi? 4 2406 0.03
140 | R | e | @rEr ISR | 47 LICIIIEC] T%g? 185 334 0.08
141 | AR | e | @rET SR | 47 | ol Jred o @) e 334 0.08
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142 | TR | ETeT | WHIQR frSET | 52 REIE Twéi? :; 9.24
143 | TR | TeT | WHIQR frSEr | 52 ARITR AT Twéi? 48 9.50
144 | el | SEATRT IRAT 12| QAR <A T%g? 1143 | 2896 0.04
145 | TIRTA | ETaT STHSYRI 18 G M T%g? 364 483 5.75
146 | oIERIRT | T IR 7 | 70 drerRa’y <Y T%g? 89 219 0.03
147 | TERIRTY | AT SCaSEN 18 ERLECRNGIE Twéi? 152 281 0.04 02.09.98
148 | TERRT | TR SCaSEN 18 FRA grAd™ Twéi? 152 281 0.01 02.09.98
149 | erRArT | <R kT 77| dHA DIl T%g? 77 378 295 03.07.99
150 | REARTY | AT ﬂgcﬁ‘lqd 60 THDATA A Twéi? 164 247 0.32 03.07.99
151 | oredieRTa | e Al AT e T%g? 215 :jg 0.10 03.07.99
152 | TRERIRTY | AT TGl 48 IFTERT HEATl Twéi? 18 36 0.16 03.07.99
153 | e | e IRYR 51 arfaE T%g? 10 105 15 03.07.99
154 | TR | TR AEHATATYR 103| QTeITa= EIEAS xadl (@0 68 7 3.25 03.07.99
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155 | TR | e BRIl 100|  IIR™ET A Saad) | 3% 426 0.04 03.07.99
156 | STERTY | TR SMGUR 155 faRreeR I Twéi? 5 182 0.12 03.07.99
157 | erefra—ra | e HIOTHYR 87 | w0 AT <4 T%g? 190 izj 0.41 03.07.99
158 | REARTY | AT S EINCiCE 36 fawer |a1 Twéi? 54 91 0.17 03.07.99
159 | erIeRTa | e AEHICTYR 103 ERESER T%g? 73 20 35 03.07.99
160 | TR | pfrer | Safiel TH | 36 RSCIREE| T%g? 75 79 0.02 03.07.99
161 | SRR | TR AT NHYY | 37 {:RET HEdl Twéi? 14 137 10.5 03.07.99
162 | orRTa | e INESIE 115|  EF¥R BIGR T%g? 7 55 0.03 03.07.99
163 | SRR | TR AGTYRT 161 ARTIVT H19 Twéi? 506 332 0.04 03.07.99
164 | TR | e | AT MR | 37 T <l T%g? 7 76 1.75 03.07.99
165 | TR | e BRIl 100| TS High T%g? 257 80 0.02 03.07.99
166 | oTIRTa | TG ART 75 I BT T%g? 362 170 3.70 03.07.99
167 | iR | Eiver | J@RT T | 36 | AR Wb el (@ 118 0.01 30.12.00

qryad)




L (@

168 | TR | TR HARYR 55 ARTId Agdl ) 163 187 3.75 30.01.01
169 | erefierr | e CRAYR 5 | SRIAARRICT #&dl T%g? 71 569 0.04 07.02.01
170 | erefierr | e SR 19| wged UNaH T%g? 111 1222 0.04 23.03.01
171 | e | e PCER 21 SRICREN T%g? 12 131 35 27.03.01
172 | e | e FHCER 21 guer Ry T%g? 12 131 35 27.03.01
173 | el | g ERIN] 45 | AR 6P T%g? 82 49 1.75 20.04.01
174 | o | ke BHATCYR 30 eI Hedl T%g? 258 476 25 16.04.01
175 | o | ke BHATCYR 30| fadre HEa T%g? 258 404 17 16.04.01
176 | TRARRT | TS AR 77 CHECECAS T%g? 170 490 0.02
177 | oredrerTa | e drpeT 74 Hepell JEdl T%g? 242 380 0.05
178 | T | el JRARYR 80| NIRER Hsel T%g? 292 360 25
179 | erefierr | e Srg 136|  faw= Wed T%g? 339 1399 0.01
180 | TERIRTY | TS YR 19 GCUSIC] vt (@1 101 100 0.05
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181 | SRR | TR TSR 38 AT HAR ) 132 342 0.03
182 | e | frer | HIRTRER 87 ERIECIRCE T%g? 190 zzj 122
183 | ERIRTY | TS YR 19 ENASIREISG] Twéi? 246 2;2 ggg
184 | TR | TG SN 19 | fd=T @rgH T%g? 246 819 35
185 | AR | IpfTeT | SfafiTel YMYR | 37 | A UrdT T%g? 29 157 0.11
186 | TR | IETeT | AT MR | 37 HqHIar <dr Taég? 27 f:{; 2;2
187 | R | Ifrer | @l IMYR | 37 B/ <Al T%g? 29 246 0.10
188 | R | IpTeT | fAfiel YMYR | 37 | G UTAQ T%g? 29 157 5.50
189 | oIEIRIRT | TG STHSYRI 18 T <l T%g? 247 468 2.5
190 | e | e CRAPR 5 3F=Tqur <y T%g? 48 596 225
191 | oIERIRM | QTG | XGTaT RISTYR | 47 Y ISTD T%g? 172 897 16.00
192 | AR | TG | wWTET jIGYR | 47 ®ar <4l T%g? 172 897 8.00
103 | e | e IHRYR 51| i drem e [T @A g 105 0.03
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194 | TR | RFTST | OISR qrUSl | 53 | dBHQd YR Tqég? ;2 Eg 31'?50

195 | e | e IRT 77 WRA DIl T%g? 303 489 15 09.07.02
196 | orIRTa | e ART 77 e PreT T%g? 378 487 1.00 09.07.02
197 | oIaRTa | e ART 77 |  Foafaar <4 T%g? 229 488 1.00 09.07.02
198 | TRARRT | RATST ART 77 REASRCIS] T%g? 229 488 25 09.07.02
199 | orIRTa | e ART 77 wfear @t T%g? 229 488 25 09.07.02
200 | TR | FEATer IRT 77 g e T%g? 303 489 1.00 09.07.02
201 | R | e ART 77 I BT T%g? 303 489 1.00 09.07.02
202 | TTRERRT | T ART 77 Tl BIT T%g? 170 490 1.00 09.07.02
203 | TTRERRT | T ART 77 eI BIeT T%g? 170 490 1.00 09.07.02
204 | eI | TR IRT 77 WeRT BIST T%g? 170 490 15 09.07.02
205 | R | e ART 77 | w0 aIRgar <4 T%g? 170 490 25 09.07.02
206 | eI | e IRT 77 PR BISl o @, 490 25 09.07.02
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207 | R | e ART 77 SERECE]] Sead) | 170 490 2.00 09.07.02
208 | TTRERRT | T AR 77 CERIRCE] T%g? 170 490 3.00 09.07.02
209 | e | gETer R 77 9IS Pl T%g? 355 492 1.00 09.07.02
210 | IR | TS HHAAYR 44 HRTIR T T%g? 133 679 075 15.11.2004
211 | IR | AT HHAAYR 44 HE HaT T%g? 133 680 .050 15.11.2004
212 | IR | TS HHIRIYR 44 GRIEZAE] T%g? 133 680 050 15.11.2004
213 | FREERT | TS HHAAYR 44 FEH<d Aal T%g? 133 680 075 15.11.2004
214 | TEERT | TS HHAAYR 44 SERESE T%g? 133 680 075 15.11.2004
215 | AR | TS HHARIYR 44 KENICERSEH] T%i? 133 680 075 15.11.2004
216 | TREMART | AT HHAAYR 44 RTSTRTH &I T%i? 133 680 025 15.11.2004
217 | AR | TS HHAAYR 44 RTST RAR AT T%i? 133 680 01 15.11.2004
218 | TREART | AT BIN[S) 72 Ifd e T%i? 124 1596 075 25.09.2004
219 | FEERT | TS BN 72 NEIEA GG vt (@1 124 1596 225 25.09.2004
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220 | FREERT | AT BN 72 4| HAR <™ P, 124 1592 A75 25.09.2004

221 | AR | TS IS 72 ARRM S mg? 124 1592 350 25.09.2004
o ‘ Rl (g

222 | TERRM | TS IR 72 YT T Sroa ) 124 1592 250 25.09.2004

223 | FREART | AT RT 77 A BT vt (@1 294 439 625 18.09.2004
qrad)

224 | FREART | AT RT 77 AR DIt vt (@ 294 442 225 18.09.2004
qrad)

225 | TRIART | AT RT 77 AT BleT vt (@1 294 442 3 18.09.2004
qrad)

226 | TRAART | AT RT 77 [EGIEANGIR] mg? 294 463 225 18.09.2004

227 | FRETART | AT RT 77 DA BIST vt (@1 294 463 9 18.09.2004
qrad)

228 | TRATART | ATST RT 77 e DIl vt (@ 294 463 450 18.09.2004
qrad)

229 | FREART | AT IRT 77 | =90 R <d mi? 294 465 450 18.09.2004

230 | TR | Eer IRT 77 geTad Brel vt (@ 409 470 3 18.09.2004
qrad)

231 | TR | gEer IRT 77 Mmfa=s Hret mg? 409 470 325 18.09.2004

232 | IR | TS TR 108 NIECNEIE) vt (@ 25 51 N 18.09.2004
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233 | FREART | AT BT 108 Rare! qish P, 25 51 A 18.09.2004
234 | AR | AT BT 108 R T%g? 25 51 A75 18.09.2004
235 | FREART | TS BT 108 HTeT HISN T%g? 25 51 075 18.09.2004
236 | TREART | TS R 108 SEISEIE] Twéi? 25 51 075 18.09.2004
237 | IR | TS TR 108 g@ High Twéi? 25 51 N 18.09.2004
238 | TREART | AT TR 108 REUKIE] T%g? 25 51 125 18.09.2004
239 | FREART | AT TR 108 | @ gAR A=l T%g? 25 51 050 18.09.2004
240 | AR | AT TR 108 SSUIGIE] T%i? 25 51 175 18.09.2004
241 | AR | AT TR 108 RoRIE] T%g? 25 51 125 18.09.2004
242 | FEERT | AT TR 108 ARSI g ng? 25 51 N 18.09.2004
243 | IR | AT TR 108 I Hish T%i? 25 51 075 18.09.2004
244 | FEERT | AT TR 108 RIDRIE| Tqéi? 29 57 2 18.09.2004
245 | FREERT | AT TR 108 qrelzer A vt (@1 29 57 050 18.09.2004
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246 | AR | AT TR 108 EAICIE| P, 29 57 050 18.09.2004
247 | AR | AT TR 108 EISEIE] T%g? 29 57 050 18.09.2004
248 | AR | AT BT 108 KEIEAEIE] Tqég? 29 57 050 18.09.2004
249 | TREERT | AT TR 108 gy Hish T%g? 29 57 2 18.09.2004
250 | TRETART | TS TR 108 gIa Arsh Twéi? 29 57 N 18.09.2004
251 | TRETART | TS TR 108 I T%i? 29 57 N 18.09.2004
252 | FRETART | AT SThSYNT 18 AT <l T%i? 175 445 9
253 | AR q@i*l@ STHSYRT 18 IR HEdT Tqéi? 222 401 350
254 | AR q@i*l@ STHSYRT 18 Yol HEd Tqéi? 222 401 350
255 | TRETART | TS BT 63 D], <dl Tqéi? 50 1096 76
256 | TR | QTR HITEYR 30 Y T T%i? 242 703 5
257 | FRATART | AT HTET 61 NIEENIN]] T%g? 113 404 5
258 | T | ETer Rrarr 31 qrelveR Hedl vt (@1 841 229 2

qrad)




T (@

259 | FRETART | TS HeTHYR 16 TTAT UTIaT Sroa ) 600 1732
260 | TRATART | AT geltell e 99 IR, IS T%g? 248 1967
261 | TREART | AT geltell a9 99 SiNSIGI T%g? 248 1967
262 | AR | AT geltell a9 99 TR DIl T%g? 248 1967
263 | TREART | TS geltell e 99 o Bl T%g? 248 1967
264 | TREART | TS geltell e 99 NIGINGECI T%g? 248 1967
265 | TRATART | TS geltell I 99 AR BIST T%g? 248 1967
266 | TRATART | ATST geltell I 99 FIfcid BreT T%g? 248 1967
267 | AREART | TS ECIEINCEEN 99 TR BIeT T%g? 248 1967
268 | TRAART | TS geltell a9 99 CERCHECAS)| T%g? 248 1967
269 | TRETART | TS geltell I 99 I BreT T%g? 248 1967
270 | IR | TS ECIEINCEEN 99 CEICIS T%g? 248 1967
271 | AR | TS geltell a9 99 g Hrel vt (@ 248 1967

qyad)




T (@

272 | AR | TS geltell e 99 A ISl S d) 248 1967 3
273 | AR | AT geltell e 99 JdT BIeT T%g? 248 1967 3
274 | AR | AT ST SYRT 18 = T T%g? 326 493 225
275 | AR q\eillc_a SThSYNI 18 TIMHATA QT T%g? 326 493 225
276 | AR q\eillc_a STHSYRT 18 XA &N T%g? 326 493 225
277 | AR | TS NEZSEN 18 AT T T%g? 326 493 225
278 | AREART | TS SHGYT 18 A0 IfET T%g? 326 493 2
279 | AR | AT SThSYNT 18 uq <N T%g? 326 493 4
280 | ARETART | AT EZEIN 18 el & T%i? 326 493 475
281 | AR q\eiuc_a SThSYNI 18 EI= T%i? 326 493 6
282 | FRETART | AT SHSY] 18 AR TN T%i? 326 493 225
283 | TRETART | TS STHSYRT 18 fafts e T Tqéi? 326 493 225
284 | TRETART | AT LTSN 18 a9 I vl (@1 326 493 5

qrad)




T (@

285 | AR q\eillc_a SThSYNI 18 YpRed TN ) 326 493 5
286 | TTANRT q\eillc_a STHSYRT 18 WEed TN T%g? 326 493 5
287 | ARETART | AT ST SYRT 18 HAI0 GOl <l T%g? 326 493 5
288 | ARATART | AT SHSYNT 18 IESIEARERS] T%g? 326 493 6
289 | TREART | AT BT 63 RIGESECE T%g? 297 1784 6
290 | TRETART | AT ESISIE 116 SEIENGIIE] Twéi? 70 359 6
291 | FREART | AT AR 19 IRRERINECIEN] Twéi? 4 918 1050
292 | IR | AT AR 19 TR M Twéi? 4 912 5
293 | FREART | TS ESISIE 116 Rrgl Hee T%g? 3 377 450
294 | FREART | AT YR 16 |10 SR T%g? 830 174 650
295 | FRETART | AT CINEINI 69 SEEE I Twéi? 9 455 5
296 | TRATART | AT SATSTET= 69 ST il T%g? 139 444 2
297 | AREART | AT QINEIRI 69 NIRECEENII el (@, 139 444 2

qrad)




T (@

208 | ordreRT | ETaEr LI 61 gy < Sgad) | * 483 6
299 | TR | ETeT AIOTBYR 87 ESEIEE] Tqég? 234 470 350
300 | e | et IR 19 g <4l Twéi? 85 505 8
301 | ARETART | TS INBIR] 69 RTASS], HEdl Twég? 223 1165 4
302 | FRETART | AT NEISIN 18 IdRM™ 91g T%g? 222 67 A
303 | TRITART | AT ATOTHYR 87 SARAT ISTd T%g? 71 527 4
304 | TRATART | AT AIOTHYR 87 CRIEIENCEY T%g? 71 527 2
305 | SR | ETer ATOTHYR 87 ERISIRCIE] T%g? 215 541 3
306 | TR | ETeT ATOTHYR 87 ESCINIK SR T%g? 176 753 5
307 | ARETART | AT AT 19 BIEIIE Twéi? 85 1153 450
308 | TRATART | AT SREN 19 Rrg M T%g? 85 1153 2
309 | TR | IRl SREN 19 Bled ! T%g? 85 1153 250
310 | TREART | TS SINEIRI 69 vl fas vl (@1 25 1142 8

qrad)




T (@

311 | IR | AT CEICE 60 RINECNIE | S ) 22 501 4
312 | AR | AT CEICE 60 AeeR sl Twéi? 22 501 4
313 | AREART | TS CEICE 60 SATSTTET ATSh Twéi? 22 501 4
314 | ordreRT | ETer T 143 HETER Hish TQ;%? 275 1220 950
315 | ordreRm | ETer T 143 Feqad Al TQ;%? 275 1220 950
316 | TRIART | AT CRT 143 T g T%g? 306 1056 4
317 | ordreRm | e @R 143 EIGIKIE| T%g? 306 1056 4
318 | T | ETer @R 143 EIIE TQ;%? 306 1056 250
319 | TREART | ATRT T 143 CELIIE] T%g? 306 1056 N
320 | FRETART | AT T 143 ERtEiIEl TQ;%? 306 1056 N
321 | FREMART | AT CRT 143 RIGESIE] T%g? 157 1527 150
322 | FREART | AT T 143 ENIESICE T%g? 157 1527 150
323 | SR | gEer CRT 143 HgF <Al vt (@1 213 866 8

qrad)




T (@

324 | FREART | AT TRT 143 REIENR P, 291 867 4
325 | FRATART | AT TRT 143 [ECIINE] mg? 291 867 150
326 | TRAART | AT ERT 143 far < mg? 291 867 150
327 | ARETART | ATRT ERT 143 7 RH mg? 291 867 150
328 | ARATART | AT ERT 143 faufioor <14 mg? 213 866 3
329 | TRITART | AT ERT 143 IR mg? 128 1415 5
330 | TR | Eer ERT 143 IR mg? 249 862 250
331 | FREART | AT TRT 143 | 0 FHAT <Al mg? 157 1537 150
332 | FREART | AT EIN 118 gRex gred mg? 26 139 7
333 | AREART | AT EERIEN 110 39 ufsd mg? 91 246 3
334 | TREERT | AT qrech 3 IS T mg? 90 41 10
o : T (@
335 | STETART | AT HATGYR 30 NEEIRS RG] P, 258 429 3
336 | AREART | AT EERIEN 110 Ao & vt (@1 91 238 5

qrad)




T (@

337 | AREART | AT EERIEN 110 Rt T P, 91 238 850
338 | AREART | AT EERIEN 110 SIEl & T%g? 91 238 7
339 | e | ETer Qrar 47 NEICINEERI] TQ;%? 158 50 8
340 | TREART | AT HEIYR 64 RTAgel T T%g? 369 1872 7
341 | AR | AT QR 170 HEIAR Ioh T%g? 206 872 A1
342 | o | ETer HTET 61 EISIIET] T%g? 131 619 5
343 | e | ETer LG 61 GGH M T%g? 131 637 3
344 | AR | AT AT 19 Hl0 TERIAH Twéi? 193 1266 2
345 | TREART | AT SIRE [ 72 EENEIRCICIal T%g? 65 2435 5
346 | TREART | AT 3IRE[) 72 TET gelwT T%g? 314 2426 5
347 | AR | AT 3IRE[) 72 JATSEH el Tl T%g? 65 2435 5
348 | TRATART | AT 3IRE ) 72 Nuel Hed T%g? 78 1698 3
349 | FREART | AT BN 72 HqA10 & <4l vt (@1 59 1643 4

qrad)




T (@

350 | TR | TRl RFYR BTH M Sgadn) | 18 2768 3
351 | ARATART | AT RTHYR el M T%g? 1026 2748 6
352 | ARETART | AT RTHYR GISINE] T%g? 134 3051 10
353 | ARATART | AT RTHYR CREIINE T%g? 134 3051 4
354 | TR | QIR IR ECCRINC T%g? 1026 2048 5
355 | ARATART | AT RTHYR Higd 4 T%g? 1046 3020 4
356 | TRATART | ATST RTHYR GISIANE T%g? 1046 302 3
357 | STEERI | IRl IR ST R T%g? 1046 3020 3
358 | ARATART | AT BING) 65 Bad TAIBT T%g? 314 2426 5
359 | TR | Eer ZlEaIS! 111 STed M T%g? 298 787 3
360 | TR | ETer [ENEEN 86 wdl Heel T%g? 97 3080 7
361 | AREART | TS BING) 65 qE M T%g? 330 1701 2
362 | TREART | AT ST 168 70 sfvear vl (@1 25 93 3

qrad)




T (@

363 | TRATART | AT BN 65 Bl M P, 271 1749 5
364 | TEERTI | QIR HEAYR 92 g ol T%g? 33 16 A
365 | TRATART | TS SAGYRT 168 EEGIE T%g? 25 93 5
366 | TRATART | ATST QIRERTHT 11 SREARCEI T%g? 353 1321 850
367 | ARAART | AT QIRERTHT 1 ST S T%g? 306 337 2
368 | TRATART | AT TRAYR 131 ST UTAET T%g? 22 76 3
369 | TRAART | AT P 21 SIEIESSIC] T%g? 10 99 4
370 | TR | IRl BT 21 o] T8 T%g? 10 99 4
371 | o | e [ENEBIN CIBICERI] T%g? 96 896 250
372 | TR | gEer RITRYR TG S T%g? 3 867 8
373 | TR | el AToTgR odl A8 T%g? 64 139 350
374 | s | ETeEr RITRYR NEKIE T%g? 116 302 4
375 | SR | gEer Qrar qral Heel vt (@1 103 301 3

qrad)
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376 | T | ETeEr Qrar PR HqEAl fgad) | 1 502 5
377 | TR | IRl TRAGRT NEECISICE T%g? 542 593 4
378 | e | ETer Qrar SINICEGI] T%g? 27 492 3
379 | FREART | AT SERYR RENIRCIKCIE] T%g? 35 187 3
380 | TR | TRl SRR qrelveR gTE erf T%g? 35 93 2
381 | TR | IRl ITHRYR TR Al T%g? 235 152 R
382 | TR | IRl JTHRYR ARTIVT AT T%g? 10 211 4
383 | ARAART | AT SERYR [ERCIRINEIS] T%g? 35 86 2
384 | TRAARTY | AT P ECR USR] Twéi? 10 99 5
385 | ARAART | AT TRTIOTYR EISIESICH T%g? 6 172/177 10
386 | TRATART | AT fehRoTgR IMEfHYA Heol T%g? 45 526 2
387 | AREART | AT AR SHST G T%g? 16 734 750
388 | R | TR Qrar BEECICEDI v (@0 158 502 6

qrad)




T (@

389 | e | ETar Qrar AR wEdl fgad) P / 4 1767/803
390 | eredremm | ETar Qrar [ESGEENI Tqég? 123 1760
391 | FREART | ATST Qrar A0 HAFDT T4 Tqég? 62 520
392 | T | et ITRYR PITABAR Bl T%g? 19 108
393 | FRITART | AT Qrar EREIRINEIS] T%g? 115 460
394 | TREART | AT SERYR CIRECIRCI T%g? 35 125
395 | TR | IRl JTHRYR qPe Hedl T%g? 35 187
396 | TRATART | AT TTEYRT CRINGIRIE) T%g? 35 98
397 | FREART | ATST Frar RERRCIGEIE] T%g? 145 460
398 | TR | IRl AT Ao AiEh T%g? 35 98
399 | TRETART | AT TTEYRT ERICIIE Twég? 3 116
400 | TETERTY | TG TTEYRT gy wish T%g? 35 98
401 | TETERTY | TG RSN SIRY YT vt (@1 133 342

qyad)




T (@

402 | FERR | IITET TETSYR JMIEIGR HSel fgad) | 122 343 3
403 | TETERTY | TG fapRoTgR EICHICESI Twéi? 316 376 350
404 | TETERTY | TG fehRoTgR SIGIERD) T%g? 120 537 8
405 | TERRT | IITeT fehRoTgR T&IT HAR T%g? 45 607 4
406 | TETERTY | TG fehRoTgR MR UTAaT T%g? 127 580 4
407 | TERRTY | e forvoTgR qrged HEdl Twéi? 127 530 2
408 | TETERTY | TG fapRoTgR RISTRTH #Edl Twéi? 195 164 3
409 | TETERTY | TG RTRYR 9] UIgR T%g? 106 153 12
410 | TERRI | e SAGYRT UeTg Hral T%g? 3 116 5
411 | TETERT | TG SAGYRT NEIIE T%g? 3 116 5
412 | TERRI | ITe SATGYRT NI T%g? 3 116 5
413 | TETERT | TG SAGYRT SICEIIE T%g? 15 104/105 5
414 | TERRE | T KRN EGUECRIE vt (@1 61 292 2

qrad)




T (@

415 | TERRT | ETEr Qrar fagea Aear fgad) | 1 503 3
416 | TERRT | QT Qrar W #gdl T%g? 90 600 6
417 | TERRI | e ITHRYR GO IRIT T%g? 35 185 N
418 | TR | QT Qrar ENRIESI] TQ;%? 37 492 3
419 | TERRM | e RTTRYR BICURCICN] T%g? 106 153 350
420 | TETERTY | TG SRR HE T T%g? 35 185 2
421 | TERRE | ITRT Qrar qrell ATed T%g? 7 24 6
422 | FERRE | IFweT | 3fafirel QR |0 wR o T%g? 53 245 2
423 | TERRE | IFweT | 3fafiTel QR SIESISER] T%g? 53 245 2
424 | THERERM | AT | 37afiTel IMYR EEIERERI T%g? 53 245 2
425 | TERERM | AT | 3rafiTel IMYR 37 JeH At T%g? 53 245 4
426 | FERRE | QT | 3fafiel QR [REIEEERIl T%g? 53 245 2
427 | FERRE | IFweT | 3fafirel QR BIVREIGE] vt (@1 53 245 2

qrad)




T (@

428 | FERRI | QT | 3fafiTel QR AR i S ) 53 245 2
429 | TERRM | FITRT 3RHAT el areq T%g? 7 24 6
430 | TERRE | IeT | 3rafiTel QR |0 g T%g? 53 245 2
431 | TERRE | IFweT | 3rafirel QR gerar A T%g? 14 37 2
432 | TERRE | IFwer | 3rafirel QR RSEIRE D) T%g? 13 135 2
433 | TERRE | IFweT | SrafiTel QR SEIGSRLEI T%g? 13 135 2
434 | TERRE | IFweT | 3rafirel QR I T T%g? 53 245 2
435 | TERERM | AT | 3rafiTel IMYR g@ag Fgdl T%g? 7 24 4
436 | TERRE | IFRT | 3rafiel QR EREREED T%g? 53 245 2
437 | SRR | IFweT | 3rafiTel QR ST <Al T%g? 14 147 250
438 | TERRM | FITRT gefiigR NUICIRICC] T%g? 40 18 5
439 | TERRM | AT | 3rafiTel IMYR EHNECIGS] Tqég? 53 245 2
440 | THETERTY | TG STl T RigeaR Brer vl (@1 363 1820 550

qrad)




T (@

441 | THETERTE | TG BIN[) IToTET WelwT S ) 65 2435 5
442 | THETERT | TG LERE S I T%g? 52 210 9
443 | TERRE | IFweT | 3rafiTel QR S TN T%g? 14 147 225
444 | FERRE | QT | SrafiTel QR |0 el <l T%g? 14 147 250
445 | TERRE | FITRT gefiigR HARHAT <l T%g? 40 72 5
446 | TERRE | FITRT gefiigR Hio e <&y T%g? 7 24 3
447 | THETERTY | TG HIHIUR EERIS Twéi? 234 595 2
448 | TERR | AT HATTYR STl Hedl T%g? 252 653 3
449 | THETERTY | TG GBI IS A8 Twéi? 234 241 10
450 | TETERTY | TG CARIRIK ERIESSISIE] T%g? 234 295 2
451 | TETERTY | TG -] AR UTIaT= T%g? 80 212 2
452 | TERRI | e IR Hrar ey T%g? 106 153 150
453 | TERRT | QT CRII Rifrear wgar v (@0 40 18 3

qrad)




T (@

454 | TERRI | IITET AHIYR U% areq P, 32 130 A1
455 | FERR | IITeT ATTHYR RMTE Al T%g? 54 51 A1
456 | TERRTY | e AARYR be Al T%g? 106 153 2
457 | TETERTY | TG AHIGR o] Al Twéi? 48 235 2
458 | TERRM | FITRT Qrar RUEEEENC] T%g? 57 426 3
459 | TETERTY | TG AHIGR AR wEdl Twéi? 16 137 5
460 | TETERTY | TG AHIYGR GIEEISEN] Twéi? 79 390 150
461 | TETERTY | TG AHIgR Ty dor T%g? 79 349 250
462 | TERRTY | e IR INEIKES]] Twéi? 25 374 8
463 | TERRI | I AHIgR AT gATE Heed T%g? 13 324 3
464 | TETERTY | TG TSR HAI0 P <! T%g? 44 128 3
465 | TETERTY | TG frss URTe M T%g? 59 394 2
466 | TERRT | QT geal SICEESICH vt (@1 8 242 2

qrad)




T (@

467 | TETERTY | TG STl T I Bl P, 292 1855 12
468 | TETERTY | TG Headl BISEICT) T%g? 432 1629 4
469 | TR | QT gedl CIEASSIC) T%g? 8 242 3
470 | TERR | QT gedl EEAIC) T%g? 8 242 3
471 | TERRTE | T geal Ao <dl Tqég? 8 242 2
472 | THETERT | TG Heel HAI0 HAI <l T%g? 13 1869 5
473 | TETERT | TG STl T ey Il T%g? 152 1813 8
474 | TERERT | AT are |0 3ffT FART T%g? 186 698 325
475 | TERRE | ITRT Qrar 3T M T%g? 13 427 4
476 | THERERT | AT Qrar et 3™ T%g? 13 427 4
477 | THETERT | TG gl e HAT Pl T%g? 363 1820 5
478 | TERRI | IITET BT ENRIICC) Tqég? 195 1849 5
479 | TERRTY q\eillc_a GoTEaRy| ECIRICE] vl (@1 195 1849 5

qrad)




T (@

480 | TETERTY | TG BN Ryare area S ) 195 1849 5
481 | TERRI | IITe BB ERRIUIEE] mg? 195 1849 5
482 | TETERTY | TG Heel HEIAR gTad mg? 432 1629 25
483 | TETERTY | TG JARYR INCEICEG] mg? 116 427 5
484 | TERRI | QT Qrar AR FEdl mg? 116 487 5
485 | TR | QT Qrar Igg el mg? 60 615 5
486 | TETERTY | TG free BRI mg? 64 139 450
487 | TEERT | AT A A0 TG AT mg? 61 1573 150
488 | AR | AT A ooy dfea mg? 338 1466 2
489 | TR | QT I BIEE GG il mg? 61 1573 2
490 | AR | AT A RNERGIE mg? 61 1574 325
491 | TETERTY | TG HIOTeHYR BT "Bl mg? 234 330 2
492 | TERRI | e EEICN gefad Hedl vt (@1 258 506 4

qrad)




T (@

493 | THETERTY | TG HTOTeHYR qig M P, 51 792 6
494 | TERRTY | e CARIEIN TR Al Twéi? 234 602 5
495 | TERRE | QT TAdh HATR REIEIRGER] TQ;%? 57 108 5
496 | TERRM | ITRT a1k e & T%g? 135 203 2
497 | TERRTY | e STHSYT ElIR:EGI Twéi? 213 16 4
498 | TERRIY | e HATGYR <ren ufed T%g? 79 1029 3
499 | THETERTY | TG SIRE[S) TR | T%g? 49 2425 12
500 | TRATART | TS STl e R BreT T%g? 292 1855 5
501 | TRATART | ATST STl e BT DI T%g? 107 372 8
502 | TRATART | TS ST SR HTHT TH T%g? 67 958 6
503 | TRATART | AT SHSYX] D] I T%g? 67 958 5
504 | TRATARTY | AT STl T B BIeT T%g? 107 378 8
505 | TRATART | ATST frss g4 <d vl (@1 48 345 2

qrad)




T (@

506 | TRATART | ATST EHICINCIGH feam drer S ) 85 1878 4
507 | TR | TRl EQR Befdld W1 Twéi? 35 183 4
508 | TRATARTY | IATST ARG RECINICEI Twéi? 116 487 4
509 | SR | ETeT Rrarr I HSd T%g? 485 909 12
510 | TR | e TRIBTYR Ig A T%g? 81 2365 8
511 | STdrER™ | gETer Rrarr |Rafer <4 T%g? 159 910 6
512 | STdrER™ | gETer a1k GISIANE T%g? 134 204 625
513 | TRATART | TS STl e AN BIST T%g? 107 378 8
514 | TR | AT TEIBIYR BA Hedl T%g? 81 7377 7
515 | TRATART | AT YRABIYR FERA TicH T%g? 25 329 3
516 | TRIATART | AT I SITHT AT T%g? 61 1573 2
517 | TRETART | TS SREN BT ST T%g? 190 419 5
518 | TRATART | ATST Had] KIS vl (@1 51 1301 2

qrad)




T (@

519 | ordreRm | et free I Al P, 79 388 2
520 | TR | QTR IERTHT T #wEAl Tqég? 303 872 4
521 | TRATART | AT TIRERTHT eell M| T%g? 258 1178 3
522 | TRATART | AT GTSIR Rear < T%g? 285 4366 5
523 | TRATART | AT GTSWR T FET Twéi? 285 4366 5
524 | TRATART | AT GTSWR IR TET Twéi? 285 4366 5
525 | TRATART | ATST GTEWR 3fferp T Twéi? 285 4366 5
526 | TRATART | AT a1k NEIINE] T%g? 135 203 2
527 | TRATART | AT a1k ST M T%g? 135 203 2
528 | TRATART | AT a1k HETGR 74 T%g? 135 203 2
529 | TR | ETeT a1k AR XH T%g? 134 204 350
530 | credremm | ETer gl IR A1 T%g? 8 242 3
531 | SR | gEer a1k RN M vt (@1 135 203 2

qrad)




T (@

532 | TRATART | TS YRAIBIYR ERICIREEE) S ) 81 73 8
533 | TRATART | AT a1k ENINIE] T%g? 134 204 225
534 | TR | QIR EINEERN g@ad 3 T%g? 2 104 450
535 | TR | TRl RIRHYR NEEEEIC) T%g? 31 1 2
536 | TRATART | ATST ESE] kSIS T%g? 51 1261 250
537 | TR | TRl EINEERN SIAITER 3 T%g? 2 104 450
538 | TRATART | ATST BT NSCIRESIG] T%g? 51 1260 2
539 | TRATART | TS HAd] NELSIECE]) T%g? 51 1260 2
540 | T | ETer LIS wdl |ar T%g? 28 1711 3
541 | TRATART | AT HAd] A0 BT 4T T%g? 51 1254 2
542 | TERERTI | QIR [EECE INCECEIIFIN T%g? 22 648 5
543 | TRATART | AT Had] EECIRG G Twéi? 51 1887 3
544 | TRATART | AT BING) qge e vt (@1 212 1717 2

qrad)




T (@

545 | TEERTI | QTR [EECE IIeaR UIgR P, 22 642 5
546 | TRATART | ATST ST ATTH IR PIST T%g? 107 378 5
547 | TEERTI | QIR [EECE q¢ PleT T%g? 107 378 8
548 | TRATARTY | AT BIRET BECRICERGES ]I T%g? 218 1717 250
549 | TR | TR HfsramEr REREERIKIE T%g? 149 382 2
550 | TR | TRl [EECE fag It T%g? 107 378 8
551 | TRATART | TS SRR Tl Hee T%g? 260 1867 6
552 | TRATART | AT BING) EEAIN T%g? 350 2466 2
553 | TredreRT | ETer LG EREISUEIE] T%g? 26 498 250
554 | TETERTI | QTR BT ARIIVT AT T%g? 288 1731 3
555 | TRATART | IATST GIeUR EISECRS T%g? 116 4321 7
556 | STrdreRT | ETEr I RISIEEGI] T%g? 21 1508 6
557 | TRATART | AT IH HAAGR MR Afodd vt (@1 188 1651 5

qrad)




T (@

558 | TRATARTY | IATST BT ERIIR S S ) 284 1865 6
559 | T | et ST TRl <Al Twéi? 284 1865 3
560 | TRATARTY | ATST 3IRE [ EEE T%g? 612 1717 8
561 | TRATART | ATST BIRET CINIREEE]] T%g? 216 1617 2
562 | TRATARTY | ATST 3IRE[S) e e T%g? 212 1717 250
563 | TR | QTR [EECE PR DSl T%g? 107 3780 8
564 | TRIATART | ATST ST Db PreT T%g? 107 378 5
565 | TRIATART | ATST HAd] e il T%g? 51 1302 250
566 | TRIATART | ATST BT IRYE Hedl T%g? 51 1887 250
567 | TR | QTR [EECE R gl Twéi? 22 501 25
568 | SR | TRl ERT URY TTRIET T%g? 92 1514 450
569 | TR | TRl 3RHT TSR BTHR T%g? 681 2799 4
570 | TR | IRl XYY PR o vt (@1 24 75 4

qrad)




T (@

571 | TRATART | TS SREN LSIRSED P, 190 419 5
572 | TRATART | TS BING) Al I T%g? 164 990 220
573 | SR | TRl BT HYRT HEl T%g? 260 1867 4
574 | TERERTI | QIR SR BHRT ATE Twéi? 35 183 4
575 | TRATART | ATST XYY Feqad fa= Twéi? 34 75 5
576 | TRATART | ATST frss AT <dl T%g? 79 389 2
577 | TRATART | AT A AT Al T%g? 5 571 2
578 | TRATART | ATST YRAIBIYR o gl T%g? 16 323 4
579 | TRATART | AT IRARYR SISISICH T%g? 168 243 2
580 | SR | el T INENE] T%g? 132 1497 3
581 | TRATARTY | ATST BT g e Twéi? 8 148 4
582 | SR | TRl arey M A T%g? 263 1232 10
583 | credreT | ETar LG ERIEIE] v (@0 28 1711 3

qrad)




T (@

584 | TR | QTR wga SIRIESIE fgad) | 2 1711
585 | TR | QTR LR CR| =1 M T%g? 89 227
586 | TRATARTY | ATST TNYR B XA T@'ﬁ 168 221
Tadl)
587 | TRATART | AT IR TEYR I T%g? 125 231
588 | T | e SRR ERCECIICC] T%g? 91 591
589 | TRATART | AT IR TEYR Brefl M T%g? 152 215
590 | TRITART | AT IR TEYR EIGIANE T%g? 168 220
591 | e | ETer NIEET NENEEG) T%g? 107 237
592 | T | ETer NIEET [EXINICERI) T%g? 180 5
593 | TRITART | AT NIEE) EESIICIRCIR T%g? 91 571
594 | SR | ETRT IR TEYR EINIEICE] T%g? 192 23
595 | TRIATART | AT IR TEYR Qe M T%g? 125 231
596 | TRIATART | AT IR TEYR SECHENINI| vt (@1 168 243

qyad)




T (@

597 | TRATART | AT IR TEYR [EECIRIIE] P, 158 220 2
598 | TR | QTR YRABIYR §Y T Tqég? 92 51 7
599 | TRITART | AT IR TEYR EECAININ]] T%g? 168 243 2
600 | TRIATART | AT IR TEYR [EEIRUNIEG T%g? 89 226 3
601 | TRATART | AT YRAIBIYR wage At T%g? 30 320 3
602 | TRIATART | AT IH HAAGR Handr dfeq T%g? 95 110 2
603 | TRATART | IATST YRAIBIYR SCINEED T%g? 14 322 3
604 | TRATARTY | IATST YRAIBIYR T, A T%g? 14 321 5
605 | TR | QTR YRAIBIYR [ESEELR] T%g? 133 50 25
606 | TRATARTY | IATST YRABIYR IEERE T T%g? 133 80 3
607 | SR | el are ARER] Brel T%g? 263 1317 N
608 | TRATART | AT arey SIECIGIN T%g? 263 1319 N
609 | TRATART | ATST GTSWR TR e vl (@1 285 4366 5

qrad)
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610 | TRATART | AT CARIRIE ToreT oHf P, 134 413
611 | TRAART | TS HATGYR b AR T%g? 258 507
612 | TRAART | AT HIOTeHYR ECERCINEIS] T%g? 234 238
613 | TRAART | IATST GARILIE IFEART FE T%g? 234 238
614 | TRETART | AT GARILIE TS AT T%g? 234 238
615 | TRIATART | AT arey NESEGIEIN T%g? 263 1317
616 | TRATART | ATST JIERTI NEER-SNE T%g? 303 1188
617 | TR | QTR IERTAT HYRT HEl T%g? 170 878
618 | TRATART | AT IR % A1g T%g? 204 886
619 | TRATART | ATST EICEN ERINGIESES) T%g? 285 4368
620 | TRATART | ATST EICEN ELCR ISR T%g? 733 4367
621 | TRATART | AT HTOTeHYR 7410 AR <1 T%g? 733 4367
622 | TRAART | AT YR BIGSIESIE] vt (@1 94 202

qyad)
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623 | ordreRT | et STHSYT e wear fgad) | 2 258
624 | TRATART | AT Rrarr gex Al T%g? 229 773
625 | TrdreRT | et BT il <dr T%g? 12 120
626 | crdreRT | ETar NG TeHTR Hed! Tqég? 181 204
627 | ordreRm | ETer NI IS Al Tqég? 138 195
628 | R | TR NIGE BRRgq Heal T%g? 138 195
629 | TR | ETeT NI MW Tl Tqég? 146 112
630 | TR | ETer NIEE) CERINCE| Tqég? 146 112
631 | TRATART | AT arey BIRID DreT Tqég? 263 1885
632 | TRAART | AT RTHYR T AT T@'ﬁ 111 18
748
633 | TRATART | AT HATGYR ElCIRIE s T%g? 258 706
634 | TRATART | AT RITRYR fhgT o T%g? 191 627
635 | TRATART | TS RTHYR |l MY vt (@1 1023 2874

qyad)
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636 | eI | el ATTHYR Mg Hedl Sgad) | % 201
637 | TREART | TS SHSYX] INCEIEG] T%g? 241 258
638 | T | et STHSYT NSIREG]) T%g? 241 258
639 | TR | AT STHSYR] M I1ed T%g? 175 263
640 | R | T STHSYR] ESUKESI Twéi? 241 246
641 | TRATARTY | AT SHSYX] [HESICE]l T%g? 175 263
642 | TRATARTY | ATST TIRERTAT SCAIISIN) T%g? 78 877
643 | TR | AT EENIEN ELAIC) T%g? 370 1435
644 | TR | AT JIRIRT] ARG HEdl Tqég? 170 878
645 | TRATART | IATST EICEN EEISES| T%g? 285 4368
646 | TRATARTY | ATST ECIELR AT FE! T%g? 288 4368
647 | TRATARTY | AT EICEN ERCRIGER] T%g? 285 4368
648 | TRATARTY | IATST CIELR AR FE! vl (@1 285 4368

qyad)
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649 | TRATART | ATST EICEN gofd A8l P, 282 4368
650 | TRATART | IATST EIEN TIRY AT T%g? 285 4368
651 | TRATART | IATST ECIELR I T T%g? 733 4369
652 | TRATART | IATST EICEN [EECINIKERI] T%g? 285 3929
653 | TRATART | ATST EICEN ECIRSES | T%g? 733 4367
654 | TRATARTY | ATST EIEN SIS T%g? 285 4368
655 | TRIATART | IATST EICEN NERRES] T%g? 285 4368
656 | TRATART | ATST Ry IHafa <4 T%g? 229 718
657 | TRATART | ATST HIHIUR ESEREGERT Twéi? 234 238
658 | TRATARTY | ATST CARTEIN R A T%g? 234 238
659 | TRATART | ATST GARILIE 3fferp T T%g? 234 238
660 | TRATARTY | IATST CARTEIN RS el T%g? 234 238
661 | TRATART | TS GARILIE 0T 8 vl (@1 234 238

qyad)
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662 | TRATART | ATST CARIRIE &Y Ireq S ) 234 229 10
663 | TRATART | ATST GARILIE TRETIR HEadr Twéi? 234 411 6
664 | TRATART | ATST GARIRIK IHITR T0 IHT T%g? 234 411 6
665 | TRATART | ATST CARIRIK @ M T%g? 234 244 12
666 | TRATART | ATST HATGYR SISERCIE T%g? 258 75 7
667 | TRATART | ATST REIRT el ATd T%g? 234 653 2
668 | TRATARTY | ATST Ry HIEGRINEIR T%g? 229 773 4
669 | TRATART | ATST TIRERTH e M T%g? 37 940 2
670 | TRATART | ATST QIRERTHT SHE did T%g? 118 904 7
671 | TRATARTY | AT TIERTHT TS ATeq Tqég? 303 808 9
672 | TRAART | AT QIRERTHT IFATR Rig Twéi? 303 1188 5
673 | TRATART | AT QIERTHT e Rig Twéi? 303 1188 5
674 | TRATART | AT QIRERTHT g Rig vl (@1 303 1188 5

qrad)
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675 | TRATART | ATST TIRERTHT STHAT et S ) 101 945 2
676 | TRATARTY | ATST OIRERTH frar = T%g? 268 1162 2
677 | TRATART | AT IR [SICINE T%g? 262 1168 2
678 | TRATARTY | ATST QIRERTHT HIR H T%g? 88 1168 2
679 | TRAART | AT TIRERTHT [ENGINE] T%g? 303 1016 6
680 | TRATARTY | AT TIRERTH QT I T%g? 170 1173 6
681 | TRATART | ATST TIERTHT BT A Tqég? 170 1171 9
682 | TRATARTY | AT QIRERTHT o= Rig Twéi? 223 866 8
683 | TRATART | ATST QIRERTHT TdT Rig Twéi? 354 1322 10
684 | TRATARTY | IATST QIRGRTHT PHTPT TH T%g? 78 871 2
685 | TRATARTY | ATST QIRERTHT #ar Tren T%g? 101 945 2
686 | TRATARTY | ATST QIRERTHT THRY AT T%g? 223 867 2
687 | TRATARTY | ATST SREN EREACER vt (@1 101 100 5

qrad)
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688 | TRATARTY | ATST SREN TRHTER ISR P, 101 100 5
689 | T | e STHSYT Ry w7 Twéi? 175 282 550
690 | TRATART | ATST SREN BHRT IS T%g? 299 189 10
691 | TRATART | AT IR A0 BB Twéi? 289 189 7
692 | ordreRT | ETet STHSYT HTAT TS Twéi? 175 282 2
693 | TRATART | IATST TIRERTH HEHT | T%g? 281 869 250
694 | TRATART | ATST QIRERTHT AT T T%g? 281 869 250
695 | TRATARTY | ATST IR TR M T%g? 82 169 2
696 | TR | TRl RITRYR [ERSINSIEAY T%g? 291 627 7
697 | TRATART | AT Qrar NEICEICERNEIR] T%g? 183 408 9
698 | TRATART | AT QT JFHT Al T%g? 3 374 3
699 | TR | T CICEN Rge Hedl T%g? 516 3848 4
700 | TRETART | AT BT 410 G <l vt (@1 2 182 9

qrad)
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701 | o | ETeEr CRII FABT HEdl frgad) | 40 30 2
702 | ordreRT | ETer Qrar TS Hel Tqég? 3 274 4
703 | e | ETer Qrar AIARRIVT Al TQ;%? 174 344 8
704 | TRETART | TS IR EIGECHIE Twéi? 175 388 2
705 | TR | QIR SREN IEAI T%g? 175 393 350
706 | TEERT | QIR SREN YIS gdTe T T%g? 175 393 7
707 | SREART | TS SREN RISEINSICA T%g? 84 394 10
708 | TRATARTY | AT SREN ISGEZNIEI T%g? 84 394 5
709 | TREART | TS SREN EACIEGIN] T%g? 84 394 5
710 | TR | e STHSYR] Tog Hedl T%g? 59 247 R
711 | o | e STHSYT HIR HEA Twéi? 107 274 A
712 | AR | TS STHSYX] BECICEINECESI Twéi? 107 274 1
713 | TREART | AT SEISEN qrell Ireq vl (@1 27 264 2

qrad)
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714 | AR | TS SHSYX] EEIICER P, 59 247
715 | TREART | TS IR ERICSIRGIRII T%g? 84 394
716 | TREART | TS IR [EREENEIE T%g? 175 393
717 | AR | TS IR a0 Sdr T%g? 84 394
718 | TREART | AT AT ERT T T%g? 84 394
719 | AR | TS AT EISECAGIGI T%g? 84 394
720 | FRETART | AT SREN EaNINCRIES T%g? 175 393
721 | AR | AT AT Mfa=g i T%g? 84 394
722 | AR | AT Qrar MRS A Tqég? 136 1024
723 | o | ETer Qrar RYYR Al Tqég? 103 300
724 | FRERRI | AR Qrar S Al Tqég? 144 344
725 | ordreRT | ETer Qrar AfFaepT Hedl Tqég? 116 1072
726 | TR | el REII G "l vt (@1 497 3847

qrad)
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727 | AR | TS BT RS S P, 6 187 9
728 | TRAART | AT P g T T%g? 132 211 2
729 | AR | AT HCER ERtINERI T%g? 132 211 8
730 | TRETART | TS BT g A T%g? 132 211 8
731 | TREERT | TS GISWR for <@ T%g? 286 2873 10
732 | TEERE | IRl GIeW SCISECINCIE] T%g? 212 352 4
733 | TR | el EESLN 92 NSEIRECE T%g? 60 101 3
734 | ordreRT | ETer sfreT 100 drg #ish TQ;%? 347 404 A1
735 | STEERI | IRl SRR 51 M= ™ T%g? 35 225 375
736 | ordreRT | ETaEr Qrar 47 A FEdl T%g? 116 487 10
737 | AREART | TS -] 50 TSI I T%g? 80 212 150
738 | TR | TRl ITHRYR 51 NEEEECI] T%g? 35 58 3
739 | FREART | AT EEIN raoft el vt (@1 75 207 3

qrad)
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740 | TERERI | QIR ERSRIN RIEECRIEE] S ) 355 348 10
741 | TERRI | IRl ERSEIEN gR dfed T%g? 335 1475 4
742 | TERRI | QIR ERSEIEN e ufed T%g? 335 1471 2
743 | TERERI | QIR TG TYRI ST UTAET T%g? 55 1235 10
744 | TERRI | QIR ERSEIN RAEICISK] T%g? 335 1475 4
745 | SR | ETer LG R aT T%g? 110 569 2
746 | TERERTI | QIR TG TYRI el ufed T%g? 335 1472 2
747 | TERERI | QIR TG TYRI ARTIOT AT T%g? 396 1495 5
748 | TEERI | QIR TG TYRI RToT HAR I T%g? 396 1256 5
749 | srdreRT | ETEr LG dred Jred T%g? 34 507 2
750 | TR | TRl TG TYRI ENIVICC] T%g? 360 351 12
751 | TEERI | IRl TG TYRI HeT AEq T%g? 355 1468 12
752 | TRETART | TS STl e AT BrST vl (@ 149 1777 8

qrad)
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753 | TRATART | AT LG SikGISEY P, 98 461 2
754 | TR | AT TG USSIUIEE] mg? 360 350 550
755 | TR | ETer LI ERH el mg? 08 461 2
756 | AR | AT EENIE HTel I mg? 32 1296 250
el (@
757 | FRATART | ATST LG DB AGd P—. 110 608 3
758 | TRATART | AT RT wAl Brel mg? 149 1777 8
759 | T | ETer ART RESICIS mg? 149 1777 8
760 | TRIATART | AT RT I BreT mg? 149 1777 8
761 | TR | ETeT RT |1 |aT mg? 98 461 2
762 | o | ETer HTET i < mg? 110 569 2
763 | TRATART | AT EINUCIIN SNEESIC] mg? 258 1277 4
764 | TRETART | AT HEHTYR g wEdl mg? 89 387 450
765 | TRATART | ATST HEHYR ERINCCRINCE| vt (@1 91 401 3

qrad)
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766 | TRATART | AT HEHGYR NERICES fgad) | 72 70
767 | TRETART | TS &R NNEIISIREIE] T%g? 17 135
768 | TR | el AT =r_r <dl T%g? 146 3023
769 | TRATART | AT RTHYR BIE T Twéi? 202 2671
770 | TR | e AEHEQR g Hedl T%g? 128 429
771 | TR | e AEHEYR M= HEdl Tqég? 80 383
772 | o | e HEHEQR eTaR HEdl Twég? 134 428
773 | AR | AT HEHCYR ERIVRCIRD T%g? 89 430
774 | SR | e Bl NICEE ) T%g? 261 1885
775 | SR | e HEHEQR SR HeAl T%g? 152 398
776 | AREART | AT Bl GECIRCC]] Twéi? 80 1858
777 | AR | TS Bl SEASIGI T%g? 51 1261
778 | AREART | AT Hd] ERERCINEIE| vl (@1 155 1433

qyad)
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779 | AR | TS Hd] Qiffg gTaT P, 199 1963 3
780 | TRATART | AT Hd] ot IRIAT T%g? 199 1963 3
781 | TR | IRl RTHYR RICINERS T%g? 1052 3037 250
782 | TR | QIR RTHYR ENINEES T%g? 1052 3037 250
783 | TR | TRl RTHYR SINENEES T%g? 1052 3037 250
784 | TR | QIR RTHYR 2T faws T%g? 1052 307 250
785 | T | e HEHEQR M= Hegar Twéi? 91 401 3
786 | TR | QTR RTHYR 3y fa T%g? 1052 3037 250
787 | TR | QIR RTHYR EIERCE T%g? 1052 3037 250
788 | TR | QTR EELCAN M"Y Hedl T%g? 66 374 8
789 | TR | IRl EELEAN ECISIIIE T%g? 58 390 3
790 | ordreRma | ETer LIE ESSINASIE T%g? 98 461 2
791 | o | ETer LIE LEEINESE vt (@1 98 461 2

qrad)
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792 | o | ETer LG S HaT Sgad) | % 461 2
793 | FRETART | AT EE] R I T%g? 9 1915 3
794 | ordreRT | ETEr LG Bg Hal T%g? 98 461 2
795 | TR | QIR STHSYRT TRYT A& T%g? 213 16 350
796 | TRATART | AT STHSYX] ERT 7l Twéi? 213 16 550
797 | o | e STHSYT TRl Hedl Twéi? 213 16 4
798 | TR | QTSI ZIBIEN B8R Hedl T%g? 88 250 7
799 | ordreRm | ETaEr LIE REISISEL T%g? 98 461 2
800 | TRATARTY | ATST HEACYR SRIIESICE T%g? 152 392 8
801 | FRERRT | TRt TS MG ISTh T%g? 131 548 2
802 | TRATART | AT RTHYR BRI T%g? 1014 2868 7
803 | e | ETar HTET AR ISD T%g? 131 551 3
804 | TRATARTY | AT RAYR DA AT vt (@1 38 253 150

qrad)




T (@

805 | TRATARTY | IATST RTIYR HEAT A S ) 38 252 850
806 | TRATARTY | ATST RTIYR ESIIICE mg? 38 252 675
807 | TR | TRl RTIYR SIS IS mg? 38 253 3
808 | TRATART | AT are H410 AT mg? 263 551 2
809 | TRATART | AT =T CEEIE mg? 263 552 3
810 | TRATART | AT =T ECHEIRIE| mg? 263 540 2
811 | TRATART | AT =T PIHI AT mg? 263 543 2
812 | TR | gEer are EUIE) mg? 251 527 2
813 | TRATART | AT =T SILCIRCIE | mg? 263 528 2
814 | TRAART | AT =T 3 Al mg? 263 517 2
815 | TR | e RATYR RMaTeS A mg? 38 224 225
. el (@
816 | TRATART | AT =T LU IE] S d) 263 517 2
817 | TRATART | AT T S Al v (@0 67 536 350

qrad)
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818 | TRATART | AT =T [GEIIE] S ) 67 536 2
819 | TRATART | AT =T RTAEROT g T%g? 263 528 N
820 | TRATART | AT =T AR High T%g? 167 534 3
821 | TRAART | AT =T ESCIKIE] T%g? 263 528 N
822 | TRATART | AT =T ELNEKIE] T%g? 263 532 N
823 | TR | TRl ERSEIEN RAERICISK] T%g? 355 92 3
824 | TR | QTR SIS YR MEER Al T@Eg? 213 16 2
825 | TR | QTR HCEY NRICIRELE] Tqég? 12 120 8
826 | TR | QTR HCEY EACRISEI Tqég? 12 88 5
827 | TRATART | TS BHeex TR ITEd T%g? 12 134 6
828 | TR | QTR [E]CEN EEENRERI| T@Eg? 285 3929 3
829 | TR | TRl YTTHYR ELSICINCIE| Tqég? 285 532 6
830 | TRATART | AT HEAYR Hqe7% g9Te Hedl v (@0 89 398 550

qrad)
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831 | TR | el AR HAI0 2T <4l P, 94 129 150
832 | TRATART | AT AR HAI0 Ul <! T%g? 94 129 4
833 | TRATART | AT GAYR MO T T%g? 94 129 2
834 | TRAART | AT are HAI0 <! T%g? 263 523 2
835 | TR | TRl AR STITe <dl T%g? 94 125 450
836 | TR | QTR AR gdol <dl T%g? 94 126 8
837 | TR | TRl AR GGl T%g? 94 129 2
838 | TRATART | AT GG NISGEHE] T%g? 94 129 8
839 | TR | TRl AR Hd10 BfSAT T4 T%g? 94 129 150
840 | TR | QIR RGP ARTICT TR T%g? 94 125 250
841 | TR | IRl AR gre-r a1 T%g? 94 129 150
842 | TR | QTR AR SINCINCC| T%g? 94 126 150
843 | TRATARTY | AT AR A0 S <l vt (@1 94 129 3

qrad)
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844 | TRATARTY | AT AR MR P, 94 121 3
845 | TRATARTY | ATST AR 410 gl & 41 T%g? 94 129 150
846 | TRATARTY | ATST AR SILEECIK] T%g? 94 130 2
847 | TRETARTY | AT &R EURCIREIE] T%g? 53 187 2
848 | TRATARTY | AT &R EISIECC]] T%g? 53 179 6
849 | TRATARTY | AT SINEIST [EEUCCACICIE] T%g? 153 173 2
850 | TRATART | ATST RTHYR NIEEESIE] T%g? 203 2692 4
851 | TR | TRl IR Il &1 T%g? 188 2707 3
852 | TR | IRl RTHYR M T T%g? 188 2707 3
853 | e | ETer HTET gue dicl T%g? 131 499 2
854 | TRATARTY | AT RTHYR RraeRor a9 T%g? 188 2707 3
855 | TRATART | IATST RTHYR PR ™ T%g? 188 2707 3
856 | TRATART | IATST &R RILECINCIE] vt (@1 53 173 2

qrad)
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857 | TRATARTY | AT RTIYR [RENCREINEIE] S ) 38 232 2
858 | TRATART | ATST EEELN NSEIRECE T%g? 89 238 3
859 | TRATART | AT SR AftaepT Hedl Twéi? 38 242 6
860 | TR | QTR RATYR RESCICIE] T%g? 38 235 250
861 | TR | TRl HEHEYR R 418 T%g? 152 437 8
862 | TRATART | AT EEl T gfed T%g? 74 899 5
863 | e | ETar Hfsramr grex A T%g? 134 148 2
864 | TRATART | AT EEIN KESIE] T%g? 34 419 5
865 | TR | ITaT EEIN Bg Ider™ T%g? 64 505 8
866 | TR | QTR TG TYRI AT UTAET T%g? 371 1235 10
867 | TRATARTY | ATST WaTIgR i TN T%g? 607 1747 4
868 | TRATARTY | ATST WaTIgR Bia- & T%g? 607 1735 A
869 | TRATART | ATST WaTIgR RGENICECE] vt (@1 600 1732 2

qrad)
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870 | TR | TRl HIFIAR IregaHe g S ) 234 637 10
871 | TR | el EINEERN CRINCINNES Twéi? 38 80 4
872 | TR | IRl IR ARV M T%g? 536 1361 150
873 | sTdreRT | Eer EEIN Bg Idar™ T%g? 34 419 5
874 | TR | QIR EESIN HelHe g (i Twéi? 21 173 9
875 | TRAART | ATST TRIGIR ERIRARD T%g? 108 871 3
876 | TR | QTR EESLN TREAT <Al T%g? 54 198 9
877 | TR | TRl EESLN KUEEIRCE! T%g? 54 1908 7
878 | TR | TRl AEAYR RTOT GRS T%g? 59 178 8
879 | TR | IRl CRAYR TR ISP T%g? 62 586 4 31.04.75
880 | TRATARTY | IATET CRAYR UCRSED T%g? 84 585 3 31.04.75
881 | TRATARTY | AT CRAYR SIEEiNECY T%g? 84 585 3 31.04.75
882 | TRATART | AT SEISEN qrelT Iqred vl (@1 53 442 7 31.04.75

qrad)
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883 | TRATARTY | AT &R qe Hed P, 32 124 2 05.05.75
884 | TR | QIR &R RIS qTAaT T%g? 32 94 2 05.05.75
885 | TRATARTY | ATST SINEIR] IR A8 Twéi? 258 1277 3 05.05.75
886 | TR | QTR &R [EIRERRCS) T%g? 32 124 8 05.05.75
887 | TR | TRl &R NIRKICSI) T%g? 32 94 12 05.05.75
888 | TR | TRl &R a0 gfear T%i? 32 94 2 05.05.75
889 | TR | IRl &R SIS XM T%g? 32 94 5 05.05.75
890 | TR | TRl &R gvaR M T%g? 32 94 4 05.05.75
891 | TR | IRl RTHYR [EGIEARCICIE] T%g? 111 171 N 05.05.75
892 | ordremmy | ETar CRII ESRED| TQ;%? 66 6 550 05.05.75
893 | e | ETar CRII EERICEGI] TQ;%? 14 31 3 05.05.75
894 | ordremm | ETaEr CRII < Hedl TQ;%? 14 31 5 05.05.75
895 | TR | FETeT gefiigR RIRRICC]] vt (@1 14 31 3 05.05.75

qrad)
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896 | TdreRT | ETar CRII SINIESI] fgad) | 31 3 05.05.75
897 | ordremm | ETar CRII Siq, Al TQ;%? 40 30 4 05.05.75
898 | TR | FETaT gefiigR YT greq T%g? 7 24 4 05.05.75
899 | TR | FETeT gefiigR ESRUEE] T%g? 7 24 4 05.05.75
900 | e | ETer g PTefear Hedl TQ;%? 14 31 5 05.05.75
901 | TR | ETeT gefiigR EaIDIEC] T%g? 7 24 4 05.05.75
902 | e | ETar geigR RIS TQ;%? 40 18 6 05.05.75
903 | TR | TRl SREN GER il T%g? 23 1379 N 29.05.75
904 | TR | IR eTHYR HAI0 A=A T%g? 285 716 150 29.05.75
905 | TR | IRl eTHYR RIS AT T%g? 285 457 7 29.05.75
906 | TR | IRl T HYR SR <4 T%g? 285 457 450 29.05.75
907 | e | ETar INCKIE $ER g1 T%g? 542 5 29.05.75
908 | TRITART | AT gefiigR o= Hear vt (@1 7 24 6 05.05.75

qrad)
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909 | e | ETer ERIIN ENEICEGI] Sgad) | 2 30 5 05.05.75
910 | rdremm | ETer iR EERICESI mg? 40 30 5 05.05.75
o | TR | ETer gefiigR EUNEADICC] mg? 40 30 3 05.05.75
912 | FREART | AT SThSYR] TAVE HEAr mg? 175 316 4 06.05.75
913 | TRITART | AT goal NICEGCIGEIE] mg? 27 105 4 08.05.75
914 | TR | IRl ERT Rrg M mg? 105 149 7 02.07.75
915 | TRATART | AT CRT RCIIE] mg? 132 1495 4
916 | TRATART | AT ERT RIGEZRSK mg? 152 152 3
917 | TREART | AT INESIES g9 TIRER T mg? 76 531 8
918 | FRITART | AT INESIES [ERCIRISEIS] mg? 3 527 5
919 | FREERT | AT ESISIE e Al mg? 51 34 5
920 | FRITART | AT INESIES NEUIRCINEIE] mg? 76 531 275
921 | FREART | AT INESIES EEURISEIR] vt (@1 76 531 275

qrad)
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922 EREINIRIEE] S ) 335 558 3
923 gaag HE T%g? 60 72 150
924 CaNINE] T%g? 60 72 150
925 RUSEAIE] T%g? 3 527 3
926 ERIGESIN Tqég? 3 527 3
927 IENISIC] T%g? 3 527 3
928 gIR®T I T%g? 3 527 3
929 RIREID T%g? 3 527 3
930 [ESNEIC] T%g? 3 527 3
931 Y T%g? 3 527 3
932 SIS T%g? 3 527 3
933 ARTIVT AT Tqéi? 3 527 3
934 KIECINIC] vt (@1 3 527 3

qrad)
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935 | FRETART | AT SREN gt W forem P, 838 134 A1
936 | TRATART | AT EE] kSIS T%g? 51 1264 4
937 | o | et RTOTgR TqP Al Twéi? 51 250 10
938 | TRITART | AT SINEIRI BIRIEE] T%g? 77 334 2
939 | TREART | AT SINEIRI MEECESIR] T%g? 58 901 1
940 | TRETART | AT SINEIRI LIRS I T%g? 69 1452 4
941 | AR | AT SINEIST EICGISASIRI T%g? 58 901 A
942 | AR | AT SINEIRI TRETIR il T%g? 58 901 1
943 | AR | AT SINEIRI AET aT Twéi? 56 403 150
944 | AR | AT SINEIRI el Tar T%g? 56 473 150
945 | TRATART | AT Eel NECE-SE T%g? 154 1177 2
946 | TRATART | AT SINEIST fawy wrar T%g? 40 412 A
947 | AR | AT SINEIRI BRI el vl (@1 40 412 250

qrad)
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948 | TRATART | AT SINEIRI e Tar P, 170 418 2
949 | AR | AT SINEIRI BRI T%g? 56 403 150
950 | TRATART | TS SINEIST 3FS[A |aT T%g? 40 406 N
951 | TRATART | AT SINEIRI qreHIdT el T%g? 170 418 2
952 | TR | IRl SINEIST RLSESE] T%g? 56 403 150
953 | RATART | TS SINEIST CICGE T%g? 33 416 N
954 | rdreRT | ETET G, qITeaR Azl Twéi? 76 401 6
955 | TRATART | AT Al WY Al T%g? 186 451 3
956 | TRATART | ATST Al 3 Hedl T%g? 184 394 3
957 | TRATART | AT Al TR FaT TQ;%? 268 335 3
958 | TRATARTY | ATST SINEIRI ELESIGE T%g? 251 414 3
959 | TRATART | TS Al TR Headl Tqég? 117 494 6
960 | TRATART | ATST SINEIRI EIRS I vl (@1 251 415 1

qrad)
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961 | TRETART | TS EIGaS] A UrRAET S ) 289 512 8
962 | TR | ITRT 3RHAT ESEICRICH T%g? 661 3878 250
963 | rdreRm | ETar S qrelver ATl T%g? 430 2160 4
964 | TRITART | AT Elicaiet [GEIE] T%g? 430 2160 3
965 | TRATART | AT ZlEaIS! AT AT T%g? 430 2160 2
966 | TRATART | AT ZlEaIS! JfPgepT g T%g? 430 2160 15
967 | TRATART | AT ZlEaIS! NIURIE T%g? 430 2160 8
968 | TRATART | AT ZlEaS! CEERICIE| T%g? 430 2160 5
969 | rdreRT | ETar S EIEIEIE] T%g? 430 2160 2
970 | ordremma | ETer S rr Avsh T%g? 430 2160 7
971 | o | ETer S SNCIGIE] T%g? 430 2160 2
972 | o | e QINEIER] [T HEar Twéi? 67 1229 3
973 | s | et TR AR Al v (@0 111 163 2

qrad)
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974 | AR | TS RTSTYR ESSIGESIE S ) 89 1272 10
975 | TRATART | AT RTOTgR EGIRICIGEG]) Twéi? 89 1272 N
976 | TR | TRl I CISIESIC] T%g? 338 1413 150
977 | AR | AT HEIYR el ufed T%g? 279 1510 4
978 | o | et SECIRIE qg= <A Twéi? 58 143 4
979 | IR | TS SCIN 37 SSCINEIR] T%g? 29 150 4
980 | TRATARTY | AT Irafire 37 g3mer <41 T%g? 29 150 4
981 | TRATART | AT SCINE 37 IS THaT T%g? 29 150 4
982 | IR | e ATTHYR AT, TR T%g? 25 219 7
983 | T | et ATTHYR NECCIGER]] Twéi? 94 201 2
984 | TRATART | AT TSR AR UIER T%g? 52 1301 7
985 | TRATART | AT SEREN 52 R el T%g? 4 250 5
986 | TRATART | AT Qrar 47 ERINGIRCIRCIE vt (@1 57 426 3

qrad)
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987 | TRATARTY | AT -] 50 IR S ) 54 88 6
988 | e | ETar Qrar HRATIR FEAl T%g? 103 300 2
989 | TR | FETeT gefiigR gl areq T%g? 14 31 5
990 | TRITART | AT gefiigR ENKERSIEAY T%g? 43 95 5
991 | TRETART | AT YR BIGSIESIE] T%g? 94 202 7
992 | FRETART | AT YR ERICURSIE] T%g? 94 202 4
993 | TR | IRl JTHRYR ERLECIGENI] T%g? 35 165 5
994 | TR | TRl gefiigR el ITed T%g? 14 31 5
995 | FRATART | AT e 52 RIS Twéi? 66 6 550
906 | rdreRT | ETar CRII MR Al T%g? 14 31 3
997 | TR | ETeT Qrar NEEE T%g? 57 426 N
908 | e | ETar Qrar SAGIEN] T%g? 62 520 3
999 | e | et AR THIER Hedl v (@0 80 257 7

qrad)




L (@

1000 | TERRTY | TS Qrar SINIESI] fgad) | 12 1767 9
1001 | TERRTY | ST Qrar UERTS Heal TQ;%? 54 95 8
1002 | TETERTY | TET TTATETYR ERSIEUII Tqég? 125 227 975
1003 | TTETERTY | TRT SINEIRI RN T%g? 175 769 2
1004 | TETERTY | ITGT JRARYR EURISE T%g? 232 392 4
1005 | TETERTY | TET WITAYR 76 SERCIICC] T%g? 36 97 2
1006 | TETERTY | TET YITTYR 76 o fa T%g? 45 111 3
1007 | TTERT | JTGT RT 77 g A8 T%g? 278 737 8
1008 | TTHTERTY | JITGT are 79 EECICIS T%g? 246 1357 10
1009 | TERRTY | IS RT 77 a1 BIst T%g? 137 1785 350
1010 | TTETERT | FTRT RT 77 < P T%g? 362 1201 2
1011 | TERRTY | AT 2RI 77 1Y Pl T%g? 227 1796 450
1012 | TERRTY | IS RT 77 CISCCACA vt (@1 275 1795 275

qrad)
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1013 | TTERRT | TRGT RT 77 Al Brel P, 275 1795 2
1014 | TERRTY | JTGT RT 77 Wb DSl T%g? 267 1797 2
1015 | TTERRT | FITRT RT 77 NENIIE S T%g? 104 1787 2
1016 | TERRTY | AT RT 77 BIcD DIl T%g? 275 1795 125
1017 | TERIRTY | IS RT 77 faael srer T%g? 275 1795 450
1018 | TERRTY | AT YITATYR e fa= T%g? 60 113 2
1019 | TERRTY | AT YITTYR Il | T%g? 52 133 2
1020 | TERRTY | AT YITTYR qH! AaT T%g? 52 133 2
1021 | TERRTYT | TS I ESEISICERI T%g? 338 570 3
1022 | TERTY | JITGT I HEIGR AT T%g? 338 1426 2
1023 | TERTY | JITGT I EASEIERNES T%g? 208 664 4
1024 | TERTY | JITGT I HTeT High TQ;%? 356 689 3
1025 | TETERT | TRT | geltell R ST, AlSH v (@0 139 324 3

qrad)
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1026 | TERRTT | ATET | geltel qaR CISCCIIE] Sgadn) | 1 324
1027 | TERRT | JITRT ot YR A T%g? 356 690
1028 | TTERTY | JITGT RT 77 < PreT T%g? 267 1774
1029 | TERRTYT | ST Tt 77 ESEIE T%g? 356 691
1030 | TETERTY | TET TRTIOTGR 75 QT & T%g? 60 266
1031 | TETERTY | ITET YITTYR NIECNEC) T%g? 52 133
1032 | TETERTY | TET WITAYR JRATEAT |aT T%g? 52 133
1033 | TETERTY | TET WITAYR & |ar Twéi? 52 133
1034 | TERRTY | AT IR g M Tqég? 100 258
1035 | TETERTY | TGT WITAYR 410 gl <l T%g? 52 133
1036 | TTETERTY | JITGT RT 77 Al Brel Tqég? 104 1787
1037 | TTERT | TGT 2RI 77 2R T%g? 104 1787
1038 | TTEERTY | JITRT 2RI 77 qEH Drel vt (@1 104 1787

qryad)
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1039 | TERRTY | TS ART 77 NES Saan) | 1% 1787
1040 | TTEERT | JITGT RT 77 g drer T%g? 267 1779
1041 | TETERTY | ITRT IR gfie A1e T%g? 19 79
1042 | TETERTY | TET AHIGR I w9 e T%g? 85 388
1043 | TERRTY | T bl ST Hear T%g? 170 341
1044 | TETERTY | TET 3IRErSS BISTERT el T%g? 147 1814
1045 | TETERTY | TGT I AN N T%g? 102 510
1046 | TETERTY | TGT I RG] Twéi? 102 510
1047 | FERRTY | AT [EECE ARTeR s T%g? 22 501
1048 | TERRTY | T Aga BUKIE Twéi? 272 1568
1049 | TERRTY | AT ENES 410 AT 4T T%g? 64 575
1050 | TETERTY | ITET BN B UER T%g? 138 1623
1051 | TERRTY | TS LG NERIECC] vt (@1 35 482

qryad)
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1052 | FERRTY | AT ENES S Al S ) 21 1570 4
1053 | TERRTY | AT ENES EISIRCIE| Twéi? 21 1570 4
1054 | TERRTY | ST LG TRl Tdl T%g? 35 422 3
1055 | TERIRTY | IS RT 77 SIS T%g? 77 320 5
1056 | TETERTY | TGT AHIGR NEE-EICER T Tqég? 85 388 5
1057 | TERIRTY | TS ART IRATT UIER T%g? 135 1622 4
1058 | TR | AT ENES o T T%g? 64 1575 4
1059 | TETERTY | TET BT AR 9 T%g? 307 928 150
1060 | TTETERTY | TET AR CICGISASIES T%g? 70 729 3
1061 | TETERTY | ITGT AR 0 SwIH T%g? 1319 179 3
1062 | TETERTY | TET GAYR NNIEINEIE T%g? 6 8 3
1063 | TETERTY | TET AR NSERCIREIS] T%g? 6 8 3
1064 | TETERTY | TGT ATTHYR & WD vt (@1 65 32 4

qrad)
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1065 | TETERTY | TGT free ey A S ) 25 374 4
1066 | TETERTY | TGT SEREN B A8 T%g? 35 214 150
1067 | TETERTY | TGT TR IR Hedl T%g? 67 115 350
1068 | TETERTY | TGT SEREN AT A T%g? 16 105 4
1069 | TTETERTY | TET ARG GINCEI T%g? 35 214 150
1070 | TETERTY | ITRT AR TRy AT T%g? 88 64 250
1071 | TETERTY | TRT AR CICIISEIRIRCI G| T%g? 306 384 150
1072 | TETERTY | TRT AR IG FATAT T%g? 187 748 3
1073 | TETERTY | TRT QIRIRTHT IR AT T%g? 303 1040 2
1074 | TETERTY | TRT ENEE g3 T T%g? 242 1583 2
1075 | TETIRTT | e Arsi EUSIGESI) T%g? 337 1920 2
1076 | TRETIRTT | e T8 CISESE T%g? 131 593 2
1077 | TERRTY | TS LG b el vt (@1 131 507 2

qrad)
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1078 | TERRTY | AT EENIN ERICECICA Sadn) | 148 2049
1079 | TERRTYT | TS LG SICIEGE Tqég? 108 488
1080 | TERRTY | TS LG AT et Tqég? 131 550
1081 | TETERTY | TET Bl A0 G <l T%g? 333 1916
1082 | TERRTY | AT [EECE [ENGECASICS T%g? 128 476
1083 | TERRTY | AT [EECE Bled |g Twéi? 6 468
1084 | TERRTY | AT [EECE REENICSIES Twéi? 6 468
1085 | TETERTY | TGT ENES URI I T%g? 27 1717
1086 | TETERTY | ITGT ENES HEIAR M Twéi? 27 1737
1087 | TERRTY | AT Aga g T T%g? 27 1737
1088 | TTHTRTY | JITGT RT g PreT Tqég? 216 1702
1089 | TTHTERTY | TSI 2RI 3T BT T%g? 107 378
1090 | TERRTY | TS LG CIGIRGE] vt (@1 131 513

qryad)




L (@

1091 | TERRTY | AT GBI NEIRGE S d) 206 1791 5
1092 | FERRTY | AT B g1 el Tqég? 110 1813 3
1093 | TERRTY | AT LR CR| SIECIIE] T%g? 27 37 2
1094 | TERRTY | AT LR HqAI0 T==dr <dl T%g? 27 133 2
1095 | TTETERTY | TET e TIRN I T%g? 27 1737 2
1096 | TERRTY | AT wga ST, M Tqég? 27 1737 2
1097 | FERRTY | AT LR CE| BRI M T%g? 27 1737 2
1098 | TERRTY | IS RT T Brel T%g? 107 378 5
1099 | TETERTY | ITET SREN CRGRCIRCIE T%g? 111 1223 450
1100 | TERRTY | IS 3RHT REECEIRCIC T%g? 691 4052 4
1101 | TETERTY | TR NESEN 18 ITHST T T%g? 350 480 5
1102 | TERRTY | JTRT Rra<e 118 BT XM T%g? 176 570 2
1103 | TTERTY | JTRT I ECEEIE] vt (@1 339 1399 N

qrad)




1104 | TTERRTY | TGT A NECIRASIE TQ;%? 45 1586 150
1105 | TERRTY | IS ZlEaIS! NERIEIE] T%g? 176 948 350
1106 | TETERTY | TGT JRARYR IR Fedl T%g? 142 329 2
1107 | TERRM | TRT | @Rl QR 37 M ATE Tqég? 19 153 2
1108 | TERRIY | IJATST | Fafired PR 37 SACEGIK] T%g? 9 384 150
1109 | TTETERTY | TET SCIRES 36 ESCCIE Twéi? 65 95 150
1110 | TETERTE | ATRT | 3f@fial IMYR | 37 RIS Twéi? 29 153 2
1111 | TERRT | PTRT | @Rl QR 37 ECIIGIS Tqég? 29 153 2
1112 | TEERTE | TRT | 3f@fial IMYR | 37 NEICEICEICEG|) Twéi? 29 153 2
1113 | TERRM | PTRT | @Rl QR 37 THTR HEd! Twéi? 9 384 12
1114 | TEERME | TRT | 3f@fiTal IMQR | 37 TR HEdl Twéi? 29 153 2
1115 | TEERM | TQT | 3f@fial MY | 37 IR FEl Twéi? 29 153 2
1116 | TERRM | PTRT | @Rl QR 37 ARRIVT Al Twéi? 9 385 150




D
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1117 | TERRE | JFwer | 3fafiid -ER | 37 RESGIE frgad) | 2 153 2
1118 | TERRT | TRT | @Rl IFQR 36 Bad Hal Twéi? 65 95 150
1119 | TERRT | TRT | @Rl QR 36 NEENE Twéi? 65 95 150
1120 | TETERTE | TRT | 3f@fiad MY | 37 JRHTER HEA! Twéi? 96 384 150
1121 | TERRE | FeT | @i R | 37 A0 WA T%g? 29 153 2
1122 | FTERRM | QT | @l R | 37 BrpT T%g? 29 153 2
1123 | TERRM | JFQT | 3@l R | 37 CASE T%g? 29 153 2
1124 | TERRM | JFTQT | @l R | 37 el At T%g? 29 153 2
1125 | TETERTY | TRT SCIRCENEIEN 37 TIIRY Al Tqég? 29 153 2
1126 | TEMERT | TQT | 3f@fiTal IMYR | 37 faerear T8 Twéi? 96 384 150
1127 | TERRI | AT SICIRE 36 TRYIT ¥H&T T%g? 65 95 2
1128 | TERRTY | AT SICIRE 36 Y el T%g? 65 95 A
1129 | TERRM | TRT | @Rl IFQR 37 EENEANEEN] v (@0 29 153 2

qrad)
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1130 | TERRI | QT | 3fafied R | 37 BICT A8 frgad) | 2 153 2
1131 | TERRME | Fwer | fafiid R | 37 RNIECIEN T%g? 29 153 2
1132 | TEERTE | TRT | 3f@fial IMQR | 37 MR Al Twéi? 96 384 150
1133 | TETERME | TRT | 3f@fid IMYR | 37 NIBCREESI] Twéi? 96 385 150
1134 | TERRME | JFeT | @l R | 37 RMHARTIRYY ledl T%g? 96 384 150
1135 | TERRM | TQT | @Rl QR 37 SikgRES Twéi? 29 153 2
1136 | TERRM | IFTQT | 3fafiied R | 37 HqAI0 HHEA <A T%g? 96 384 150
1137 | SRR | ITer | orafiie IR | 37 EERESI Twéi? 29 153 2
1138 | TERRTY | ITer | orafiiel IR | 37 SHT HEdl Twéi? 29 153 2
1139 | TERRT | PTRT | @Rl QR 37 EEIERERI T%g? 29 153 2
1140 | TERRI | IFTQT | Fafired PR 37 RMAEIHY el T%g? 9 384 150
1141 | TERERTY | TRT 3rafiTat 36 fasn areg T%g? 54 85 3
1142 | TETERTY | TR IrafiTe 36 TSI FaT vl (@1 65 95 150

qrad)
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1143 | TEERTY | TRT IrafiTe 37 70 e <@ P, 29 150 3
1144 | TERERTY | TET IrafiTed 36 REEISE T%g? 65 95 125
1145 | TEERM | TRT | 3f@ffiad IMYR | 37 Rrava w&ar Twéi? 96 384 150
1146 | TERRI | JATQT | 3Fafired QR JHARN <l T%g? 29 150 3
1147 | TERERTY | TRT SIKEIET 69 IS} T Twéi? 250 999 0.8
1148 | TETERTY | TRT SIKEIET 69 B33 M Twéi? 250 999 0.8
1149 | TERRTY | IS aﬂ?ﬁ%ﬁ Bled e T%g? 15 1199 1.5
1150 | TTETERTY | TET ENEEN 86 DA AT Twéi? 53 3056 0.009
1151 | TETERTY | ITRT farergR 86 NERINIESIC Twéi? 53 3056 0.022
1152 | TETERTY | TRT ENELEN 86 ERSIGIE] Twéi? 96 3056 0.082
1153 | TETERTY | TRT ENEIN 86 I TaT Twéi? 63 3055 0.07
1154 | TETERTY | TGT AR 88 BIC dTel 9Tal Twéi? 88 | 996 997 0.022
1155 | TETERTY | ITGT AR 88 SIRGIE vt (@1 41 | 996 997 0.04

qyad)




1156 | TERRM | IJFTQT | gHYR, faegR 882’ AFR AT Twéi? 41 73| 997 3065 0.016
1157 | TETERTY | TRT AR 88 ERIE| Twéi? 41 997 0.026
1158 | TETERTY | ITGT AR 88 ESERSIE Twéi? 41 997 0.92
1159 | TETERTY | TET ENEEN 86 e, ATl Twéi? 12 3062 0.015
1160 | TETERTY | TET ENEEN 86 SEISESIEY Twéi? 73 3063 0.01
1161 | TETERTY | TRT AR 88 % |rer Twéi? 41 | 998 999 0.017
1162 | TETERTY | TGT ENEEN 86 g et Twéi? 97 3056 0.015
1163 | TETERTY | ITRT ENEEN 86 RIS Twéi? 53 3058 0.012
1164 | TETERTY | ATRT AR 88 ST ATET Twéi? 41 | 996 997 0.72
1165 | TETERTY | TGT AR 88 HAT AT Twéi? 41 | 998 999 0.014
1166 | TETERTY | TGT AR 88 CICUBGIC] Twéi? 41 996 0.006
1167 | TETERTY | ITGT ENEEN 86 MR AaT Twéi? 53 3058 0.02
1168 | TETERTY | ITGT faemgR 86 EIRCIISE vt (@1 97 3056 0.013

qyad)
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1169 | TETERTY | TET AR 88 ORI HaT P, 41 998 0.006
1170 | TETERTY | TRT AR 88 S |aT Twéi? 41 998 0.003
1171 | TERERTY | TR ENEEN 86 SENEESE Twéi? 73 3065 0.49
1172 | TETERTY | TR AR 88 ECURGE Twéi? 41 | 998 999 0.064
1173 | TEERTY | TR farergR 86 B8 YN Twéi? 1473 2876 0.04
1174 | TERERTY | QT RISIIK 81 TG High Twéi? 133 121 0.006
1175 | TETERTY | TRT RISIIK 81 HiTeT High Twéi? 19392 121 146 8883
1176 | TETERTY | TGT EISIIK 81 RIS Twéi? 133 121 0.013
1177 | TERERTY | TR RISIIK 81 RICIIE) Twéi? gi 120 129 0.05
1178 | TETERTY | ITRT RISIIK 81 RECEEIE] Twéi? 133 121 0.61
1179 | TEERTY | TRT EISIIK 81 W A Twéi? 133 126 0.05
1180 | TTETERTY | ITGT AR 81 | A Twéi? 16 69| 125 126 0.002
1181 | TEERTY | ITRT RISIIK 91 qge Arsh vt (@1 133 121 0.04

qyad)
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1182 | TETERTY | ITRT AR 91 qfvre Arsh P, 21 129 0.014
1183 | TETERTY | ITRT AR 91 RIECERCIE | Twéi? 16 125 0.006
1184 | TETERTY | ATGT RISIIK 91 T wiEh Twéi? ﬁg 126 128 0.02
1185 | TTETERTY | ITGT RISIIK 91 EAICIE| Twéi? 210 115 0.35
1186 | TETERTY | TGT RISIIK 91 ESKiIE Twéi? 21 129 0.016
1187 | TEERTY | ITRT AIYR 92 NEIGIE] Twéi? 32 141 0.09
1188 | TETERTY | TGT HYR 92 <Y wigh Twéi? 64 153 0.012
1189 | TTETERTY | TRT EISIIK 91 BIAE Al Twéi? 16323 123 122 0.04
1190 | TETERTY | ITRT LR 91 ENIIE) Twéi? 133 124 0.04
1191 | TETERTY | ITRT RISIIK 91 ARTE A Twéi? 210 115 0.01
1192 | TETERTY | TRT EISIIK 91 CRICIRCIE) Twéi? 16 69| 125 126 1.34
1193 | THTERTY | ITRT AR 91 UEEIE Twéi? 16 125 0.008
1194 | TETERTY | TRT RISIIK 91 REIE) vt (@1 16 125 0.008

qyad)
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1195 | TETERTY | ITGT AR 91 ST High P, 21 23| 129 120 0.05

1196 | TETERTY | ITGT HYR 92 e il Twéi? 32 143 0.05

1197 | TETERTY | ITRT ATIYR 92 ECRINECIE | Twéi? 50 | 139 340 0.06

1198 | TTETERTY | TET ATIYR 92 EERUKIE) Twéi? 28 142 0.03 1/2
1199 | THTERTY | TET AIYR 92 ESSEIE Twéi? 64 153 0.54 1/2
1200 | TETERTY | TET AIYR 92 gex High Twéi? 32 64 141 153 0.011
1201 | TERRTY | IS I U s T%g? 33 543 0.03

1202 | FERRTY | AT I EIIE) T%g? 88 509 0.04

1203 | TERRTYT | TS I Qg A T%g? 88 509 0.04

1204 | TERERTY | JITRT A GRS T%g? 338 545 0.02

1205 | FERRTYT | TS BIERUKIE| TQ;%?

1206 | TERTYT | JITGT A fav=i =g T%g? 5 6580 0.03

1207 | TETERTY | TRT Lol 108 SISEIE vt (@1 25 51 0.01

qyad)
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1208 | TETERTY | TET TR 108 NEREEIE] P, 25 51 0.03
1209 | TTERRTY | JITGT =R AT TQ;%?

1210 | TETERTY | TRT TR 108 ESIRIE Twéi? 32 56 0.01
1211 | TEERTY | TR TR 108 ESEIE Twéi? 29 57 0.026
1212 | TETERTY | TR BT 108 AR ASH Twéi? 25 51 0.06
1213 | TETERTY | TR HYTAYR 105 | ¥ RN Al Twéi? 4 51 0.09
1214 | TERERTY | TET UTAYR 105 TR Heed Twéi? 4 51 0.010
1215 | TEERTY | ATET HUTAYR 105 fearelel Heol Twéi? 4 51 0.10
1216 | TETERTY | TET BN 93 IMed M Twéi? 153 259 0.04
1217 | TEERTY | TR SECARIE 120 ST, High Twéi? i878 1818é84 0.05
1218 | TEERTY | TRT TIDPISIE 120 EEEIEIE Twéi? 58 | 182 184 0.26
1219 | TTERRT | TRT TSR 20 EECEIE T%g? 47 187 0.64 1/2
1220 | TETERTY | TET TIDISIE 20 B AlSH vt (@1 54 168 0.03
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1221 | TETERTY | TET SECARIE 20 ST High P, 47 187 0.011/2
1222 | TETERTY | ATET SECARIE 20 g1 AT Twéi? 47 188 0.02
1223 | TETERTY | ATET SECARIE 20 ST, High Twéi? 49 183 0.02 1/2
1224 | FERRTYT | TS T A TQ;%?

1225 | TETERTY | TRT SECARIE 20 RIEEICIIE ) Twéi? 49 183 0.03
1226 | TETERTY | TET TIDISIE 120 TRUTT High Twéi? 58 184 0.12 1/2
1227 | TETERTY | TRT SECARIE 120 PRI ] Twéi? 43 42| 1743 172 0.011/2
1228 | TETERTY | ATET SECARIE 120 JEWR Hish Twéi? 58 120 0.04
1229 | TETERTY | ATET SECARIE 120 BICIIE] Twéi? 58 120 0.04
1230 | TETERTY | TET SECARIE 120 GIYUTETe IS Twéi? 52 53| 273 172 0.08
1231 | TETERTY | TR TIDPISIE 120 RISIEIE Twéi? 29 167 0.03
1232 | TEERTY | TR SECARIE 120 KIECREIE] Twéi? 58 123 0.05
1233 | TEERTY | TR TIDISIE 20 IRECRIE vt (@1 41 114 0.02 1/2
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1234 | TETERTY | ATRT SECARIE 120 ECRIE] P, 58 122 0.02
1235 | TETERTY | TET SECARIE 20 EAICIE| Twéi? 43 172 0.05
1236 | TETERTY | TET SECARIE 20 ESERURIES Twéi? 53 172 0.05
1237 | TERRTY | TGT I EGIRIIE T%g? 18 360 0.02
1238 | TERRTY | TS I qrgad Al T%g? 259 364 0.16
1239 | TERRTY | IS I L CRECNE ] T%g? 182 360 0.02
1240 | TERRTY | JITGT I arerg wish T%g? 272 361 0.02
1241 | TERRTY | IS I Tar wish T%g? 188 360 0.01
1242 | FERRTYT | TS I Grer gl T%g? 188 367 0.01
1243 | TERRTY | ST A ST AT T%g? 259 369 0.02
1244 | TERRTYT | TS A AR s T%g? 145 362 0.02
1245 | TERRTYT | TS A EISEENIE| T%g? 272 361 0.14
1246 | TERRTYT | TS A ST AT vt (@1 259 363 0.03

qyad)
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1247 BIEERCIE| foad) | 25 363 0.03
1248 REIE! T%g? 192 370 0.01
1249 EISIIED T%g? 192 370 0.02
1250 SR T%g? 259 359 0.06
1251 At s T%g? 359 359 0.02
1252 g #rsh T%g? 182 360 0.17
1253 Bicd Al T%g? 252 347 0.08
1254 qfe gl T%g? 192 370 0.01
1255 TR AT T%g? 2471; 372 373

1256 NIGEEIE] T%g? 271 1598 0.02
1257 SERCHEIE| T%g? 371 1598 0.02
1258 N IE] T%g? 271 1598 0.21
1259 EECNIE vt (@ 271 1598 0.06

qryad)
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1260 | R | e Sial EREISUR:IE] Seadn) | 27 1598 0.01
1261 | TERRTY | AT TRTIUTYR 164 LICIEGIG] T%g? 6 176 0.03
1262 | FERRTY | AT TRTIUTYR 164 wag didl T%g? 6 176 0.03
1263 | TERRTY | AT TRTIUTYR 164 & TROT il T%g? 6 176 0.03
1264 | FERRTY | AT TRTIUTYR 164 =1 aic T%g? 6 176 0.03
1265 | TETERTY | TET TRTIOTYN 164 MBS HISH Twég? 11 206 0.44
1266 | TETERTY | TET TRTIOTYN 164 SIEGIE] Tqég? 11 206 0.04
1267 | TETERTY | TRT TRTIUTYN 164 IR JiEg Tqég? 11 206 0.04
1268 | TERRTY | AT ARTICTYR 164 STYAT A T%g? 11 206 0.04
1269 | FERRTY | AT ARTICTYR 164 STYAT A T%g? 11 206 0.04
1270 | TETERTY | TET TRTIOTYN 164 TRHTIR AT Twég? 11 206 0.04
1271 | TERRIY | AT TRTIUTYR 164 | Rem AR T%g? 13 207 0.01
1272 | TETERTY | TR TRTIATYR 164 TroTeT Hish v (@0 11 206 0.01
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1273 | TEERTY | ATRT TRTIOTYN 164 A wish o) 11 206 0.01
1274 | TETERTY | TET TRTIOTYN 164 TG TSI Tqég? 11 206 0.02
1275 | TETERTY | ITGT TRTIOTYN 164 JARAY HiS Twég? 13 207 0.02
1276 | TETERTY | ITGT TRTIOTYN 164 | RIS i Twég? 18 208 0.01 1/2
1277 | TETERTY | TET TRTIOTYN 164 CINECIE] Tqég? 13 206 0.01
1278 | TETERTY | ATRT TRTIOTYN 164 IS HE Al Tqég? 21 175 0.07
1279 | TEERTY | TRT TRTIOTYN 164 s J'an Twég? 21 175 0.05
1280 | TETERTY | TET TRIIOTYR 164 NIECNEIE]| Twég? 14 1005 0.01
1281 | TETERTY | TRT TRTIOTYN 164 BT HISH Tqég? 14 432 0.03
1282 | TETERTY | ATET TRTIOTYN 164 ArelT Al Tqég? 14 432 0.05
1283 | TERRIY | AT ARTICTYR 164 ECEIE T%g?

1284 | TERRTY | AT ARTICTYR 164 SUIE T%g? 14 1005 0.01 1/2
1285 | erRAIRTY | TTT NIEE] 166 e | @A, 432 0.05
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1286 166 GIRIIE] aead) | Y 432 0.05
1287 166|  #gad sl T%g? 14 432 0.05
1288 166 3rerg sl T%g? 115 970 0.04
1289 166| 9T AN HEN T%g? 22 1004 0.03
1290 166 HTeh Hisl T%g? 14 432 0.05
1291 166 EIE T%g? 14 432 0.05
1292 166|  SITeild Hisl T%g? 14 432 0.05
1293 166| A Hish T%g? 115 970 0.04
1294 166|  dmr #ish T%g? 14 432 0.02
1295 166|  #gad sl T%g? 20 1014 0.04
1296 166 woT Al T%g? 0.02
1297 166 TR AT T%g? 144

1298 166 o= =vsht (@0 970 0.04
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1299 166 RRIcEIE qead) | 14 432 0.05
1300 166 IERIEIE]] T%g? 26 1012 0.01
1301 166 Bicd Al T%g? 22 1004 0.03
1302 166 g, Aish T%g? 20 1014 0.01
1303 166 SR T%g? 20 1014 0.04
1304 166 T s T%g? 27 1012 0.01
1305 166 B Hish Tqég? 144 1008 0.02
1306 166 BIEERCIE | T%g? 19 1013 0.02
1307 166| NI AT T%g? 19 1013 0.02
1308 166 EGIEL T%g? 26 1011 0.02 1/2
1309 166 ENIRIE] T%g? 144 1000 0.02
1310 166 CarSIIES ) T%g? 20 1014 0.01
1311 166 EaRIEIEl @ (@A 1013 0.02
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1312 | e | e NI 166 e i aeaa) | 1 1013 0.02
1313 | e | e NI 166 EECSRIE T%g? 115 970 0.04
1314 | SRR | e NICE] 166 SISO A T%g? 27 1012 0.04
1315 | SRR | qETar NICE] 166|  URATar i T%g? 27 1011 0.02 1/2
1316 | TR | Tar NICE] 166|  ©Tdhel A T%g? 19 1013 0.02
1317 | eI | e 3FRYR 165 CEIE T%g? 374 816 0.01
1318 | e | SgTe STHRYR 165|  GRANT A T%g? 343 583 0.01
1319 | IR | e STHRYR 165 NIGECIE) T%g? 377 799 0.01
1320 | TR | e STHRYR 165 ERCREIE T%g? 378 784 0.15
1321 | e | e 3TFRYR 165 ST A T%g? 377 799 0.01
1322 | IR | ST STHRYR 165|  T[efTd Hish T%g? 374 811 0.01
1323 | IR | ST STHRYR 165| gl Hish T%g? 375 796 0.02
1324 | TEIRT | ST 3FRYR 165 ERIETE N AU 795 0.02
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1325 | STEIRT | STl 3FRYR 165 NEIKIED froad) | 199 789 0.06
1326 | TEIRTY | ¥ 3FRYR 165  <aunl A T%g? 198 794 0.01
1327 | IR | ST STHRYR 165|  WGIR A T%g? 198 784 0.01
1328 | ST | ST 3FRYR 165 TSI AT T%g? 196 793 0.02
1329 | oI | SgETe STHRYR 165|  XTERY Hish T%g? 375 785 0.02
1330 | TEIeRT | ¥ 3FRYR 165 EIEIE T%g? 376 800 0.02
1331 | TERRIY | AT STHNYR 165 ARG <™ Twéi? 200 562 0.06 1/2
1332 | orereRTa | SgTe STHRYR 165|  STTEIE g T%g? 200 562 0.07
1333 | TEERTY | ATET STHNYR 165 qIeied & Twéi? 200 563 0.01 1/2
1334 | TERRIY | AT STHRYR 165 AT < Twéi? 200 563 0.01 1/2
1335 | TEERT | ETa 3TFRYR 165 RINIEC| T%g? 200 562 0.40
1336 | TEIRT | ¥ 3TFRYR 165|  SINIZER &1 Tqég? 200 562 0.01
1337 | TERRTY | AT JERYR 165 BRI <4l v (@0 200 562 0.01
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1338 | TERRTY | AT STHNYR 165 MIKCINAEN o) 200 562 0.01
1339 | TEERTY | e 3TFRYR 165| T fPoR T T%g? 385 564 0.02
1340 | TR | TS JTFRYR 165|  RM™U ™ T%g? 385 564 0.02
1341 | TERRTY | AT STHNYR 165 AT < Twéi? 377 798 0.01
1342 | TR | ST 3FRYR 165 RISIIE] T%g? 376 800 0.02
1343 | TEERTY | T 3TFRYR 165| e A T%g? 376 800 0.02
1344 | TERIRT | AT IFRYR 165 faget wigh T%g? 376 800 0.01
1345 | TERRTY | T IRYR 165 CICAIE] T%g? 377 610 0.05
1346 | TETERTY | ATGT JTRYR 165 ARTGOT High Twéi? 376 800 0.02
1347 | TTEIRRTY | LIS JTRYR 165 SR T%g? 377 610 0.05
1348 | TETERTY | IATGT JTRYR 165 RIGINGRCIE ) Twéi? 377 610 0.05
1349 | TR | AT JTFRYR 165 BT AT T%g? 377 799 0.01
1350 | STEIRIRTY | IS JTRYR 165 SIS o @0 o 799 0.01
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1351 | TEIRIRTY | LIS JTRYR 165 FOR AT Sz | 376 800 0.02
1352 | TEIRIRTY | AT JTRYR 165 ECRRIIED T%g? 378 804 0.03
1353 | TETERTY | ITGT JTRYR 165 SIRIRER ATl Twéi? 376 815 0.03
1354 | TR | TS JTFRYR 165 1, s T%g? 381 802 0.01
1355 | TERRTY | e IRYR 165 TR AT Twéi?

1356 | TEIRIRTY | IS JTRYR 165 SEERIE] T%g? 377 797 0.01
1357 | TTEIRIRTY | LIS JTRYR 165 RTET A T%g? 364 796 0.01
1358 | TEIRIRTY | IS JTRYR 165 TR A T%g? 376 802 0.03
1359 | TTETERTY | TET JTRYR 165 HYRT A Twéi? 381 802 0.01
1360 | TR | TS JTFRYR 165 EERICIE] T%g? 376 815 0.03
1361 | TR | e JTFRYR 165 Rrq s T%g? 380 778 0.02
1362 | TEIRIRTY | IS JTRYR 165 e #igh T%g? 378 806 0.02
1363 | TR | T JTFRYR 165 X i o @A o, 816 0.01
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1364 | TTEIRIRTY | LIS JTRYR 165 CEER I fgad) | 374 816 0.01
1365 | TTEIRIRTY | LIS JTRYR 165 EINCICIE T%g? 374 811 0.01
1366 | STEINRIRTY | JLATTST JHRYR 165 ERIECIE T%g? 377 610 0.06
1367 | TERIRTY | e IRYR 165 RERIE] T%g? 377 7999 0.01
1368 | TERIRTY | e IRYR 165 LSISRIE T%g? 377 788 0.01
1369 | TERIRTY | IS JTRYR 165 Afvren sl T%g? 377 799 0.01
1370 | STEIRIRTY | LIS JTRYR 165 ISEEZRIE T%g? 376 800 0.01
1371 | TEERTY | TR JTRYR 165 EICCRIE) Twéi? 375 800 0.01
1372 | AR | AT JTFRYR 165 e, A T%g? 376 815 0.04
1373 | oIRTY | Ter ICIEH 31 HeTed Hedl T%g? 229 722 0.02
1374 | TERRTY | TGT STIRT A TQ;%?

1375 | AERRTY | AT CEIN 163 e, wish T%g? 106 504 0.01
1376 | TIERRTY | TG CEIN 163 NEECK I el (@6 o 504 0.01
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1377 | TERTT | AT EEIN 163 NEIC E] e | 10 504 0.01
1378 | TTERTY | gHTaT EEIN 163 Sieiar Al T%g? 106 504 0.01
1379 | TR | T EEIN 163 FTE A T%g? 106 504 0.01
1380 | TERTYT | TG EEIN 163 LIl T%g? 106 504 0.01
1381 | TERTY | e EEIN 163 e Aigh T%g? 106 504 0.01
1382 | TTERTYT | e EEIN 163 R A T%g? 106 504 0.01
1383 | TTERTYT | gHTET EEIN 163 CIE T%g? 106 504 0.01
1384 | TTERTT | TG CEIN 163 #re A T%g? 106 504 0.01
1385 | TTERTY | TG CEIN 163 i RIE | T%g? 106 504 0.01
1386 | TTERTT | TG EEIN 163 e wveh T%g? 106 504 0.01
1387 | TTERTY | gHTa EEIN 163 T Aish T%g? 106 504 0.01
1388 | TTERTYT | TG CEIN 163 Raar Ash T%g? 106 504 0.01
1389 | TTERTT | TG CEIN 163 S A el (@ o 504 0.01
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1390 | TRTT | TG EEIN 163 NEEEE Sl Srady) | 106 504 0.01
1391 | TTERTT | T EEIN 163 @I A T%g? 106 504 0.01
1392 | TERRTY | AT EEIN 163 g Al T%g? 106 504 0.01
1393 | TTERTYT | e EEIN 163 EISIIE T%g? 106 504 0.01
1394 | TR | TG EEIN 163 e A T%g? 106 504 0.01
1395 | TR | T ZEIN 163 gewfa wwEh T%g? 106 504 0.01
1396 | TTERTT | TG EEIN 163 ERIRIE | T%g? 106 504 0.01
1397 | TERRTY | AT CEIN 163 EREARIE T%g? 106 504 0.01
1398 | TERRTY | AT CEIN 163 RUCEIE] T%g? 106 504 0.01
1399 | TTERTT | TG EEIN 163 & wish T%g? 106 504 0.01
1400 | TTERTT | TG EEIN 163 Hrer High T%g? 106 504 0.01
1401 | TTERTT | e CEIN 163 ger el T%g? 106 504 0.01
1402 | TR | e CEIN 163 g i el (@6 o 504 0.01

qyad)




L (@

1403 | TTERTT | gTE EEIN 163 TR High e | 108 504 0.01
1404 | TTERTT | TG EEIN 163 HETdR A T%g? 106 504 0.01
1405 | TTERTT | JTET EEIN 163 ST Hish T%g? 106 504 0.01
1406 | TTERTT | TG EEIN 163 B i T%g? 106 504 0.01
1407 | TTERTT | T EEIN 163 Tl i T%g? 106 504 0.01
1408 | TTERTT | TG EEIN 163 IR wiEh T%g? 106 504 0.01
1409 | TTERTT | TG EEIN 163 SrrREr wiEh T%g? 106 504 0.01
1410 | TR | JTET CEIN 163 <R A T%g? 106 504 0.01
1411 | TR | e CEIN 163 TRITT i Tqég? 106 504 0.01
1412 | TR | T EEIN 163 Pifie wih T%g? 106 504 0.01
1413 | TR | e EEIN 163 s A T%g? 106 504 0.01
1414 | TTERTT | T CEIN 163 AR® A T%g? 106 504 0.01
1415 | TR | TG CEIN 163 Trorer High wadl (@0 504 0.01
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1416 | TR | TG EEIN 163 s High e | 108 504 0.01
1417 | TR | e EEIN 163 SR High T%g? 106 504 0.01
1418 | TR | e EEIN 163 % At T%g? 106 504 0.01
1419 | TR | JHTET EEIN 163 g, A T%g? 106 504 0.01
1420 | TR | TG EEIN 163 e Aigh Tqég? 106 504 0.01
1421 | TR | TG EEIN 163 YA A T%g? 106 504 0.01
1422 | TR | TS EEIN 163 FETdR Al T%g? 106 504 0.01
1423 | IR | G CEIN 163 < High Tqég? 106 504 0.01
1424 | TR | TG CEIN 163 e w7 T%g? 106 504 0.01
1425 | TR | TG EEIN 163 g At T%g? 106 504 0.01
1426 | TR | TG EEIN 163 miferes Afsh Tqég? 106 504 0.01
1427 | TR | TG CEIN 163 G A T%g? 106 504 0.01
1428 | TR | TG CEIN 163 iy wieh vt @ o 504 0.01
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1429 | TTERTT | TG EEIN 163 BRI IE Srady) | 106 504 0.01
1430 | TR | TG EEIN 163 Arerr At T%g? 106 504 0.01
1431 | TR | T EEIN 163 Ry wish Tqég? 106 504 0.01
1432 | TR | AT EEIN 163 sty wigh T%g? 106 504 0.01
1433 | TR | e EEIN 163 qrear High T%g? 106 504 0.01
1434 | TR | TG EEIN 163 NEGEIE T%g? 106 504 0.01
1435 | TR | TG EEIN 163 el A T%g? 106 504 0.01
1436 | TR | TG CEIN 163 Ior wish Tqég? 106 504 0.01
1437 | TR | AT CEIN 163 ESKIE) T%g? 106 504 0.01
1438 | IR | G EEIN 163 TERY =il Tqég? 106 504 0.01
1439 | TR | TG EEIN 163 st sl T%g? 106 504 0.01
1440 | TTERTT | TS CEIN 163 % At T%g? 106 504 0.01
1441 | TR | TG CEIN 163 et Atsh wadl (@0 504 0.01
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1442 | TERTT | TS EEIN 163 T High Srady) | 106 504 0.01
1443 | TR | TG EEIN 163 ARY AR T%g? 106 504 0.01
1444 | TERRTY | JITGT o Rig TQ;%?

1445 | TRERTY | GIATST GrRIN] 114 e At T%g? 11 92 0.01 1/2
1446 | SRR | GIATST ErRIN] 114 dig wigh T%g? 11 91 0.01 1/2
1447 | TEIRTY | TS ErRIN] 114 ey A7l Twéi? 11 85 0.01
1448 | TERRTY | T GRIN] 114 STEAT A Twéi? 96 84 0.03 1/2
1449 | TERRTY | T ERIN] 114 Fegp, wish Twéi? 9 84 0.02
1450 | TETERTY | TRT ERIN] 114 A AEh Twéi? 33 81 0.01
1451 | EIRTY | TS ErRIN] 114 Il AT Twéi?

1452 | TERRTY | T ErRIN] 114 feg wigh Twéi? 33 80 0.02
1453 | TEIRTY | TS ErRIN] 114 STTeTer il Twéi? 13 82 0.01 1/2
1454 | TEIRTY | TS all 114 reft Agh vt (@1 13 82 0.02
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1455 | RETIRTY | TS ErRIN] 114 TR AR Sead) 13 80 0.01
1456 | IR | TS GrRIN] 114 et A Twéi? 13 82 0.01
1457 | TETERTY | TRT GrRIN] 114 [ESEIIE Twéi? 10 75 0.01
1458 | IR | TS GrRIN] 114 v Al Twéi? 10 75 0.01
1459 | TERRTY | T ErRIN] 114 g A Taég? 43 76 0.02
1460 | IR | TS ErRIN] 114 RIGICIE Twéi? 43 77 0.02
1461 | TEIRTY | TS GRIN] 114 ST A Twéi? 25 69 0.01
1462 | IR | TS ERIN] 114 e A Twéi? 25 69 0.01
1463 | IR | TS ERIN] 114 CICECHEIE Twéi? 25 69 0.01
1464 | TEIRTY | TS ErRIN] 114 T A Twéi? 10 67 0.01
1465 | TETIRTY | TS ErRIN] 114 STTeTer il Twéi? 25 69 0.01
1466 | TERRTY | T ErRIN] 114 [EEIE Twéi? 19 69 0.01
1467 | TERRTY | T all 114 1 i v (@0 11 88 0.03
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1468 | IR | TS ErRIN] 114 ERIEIIE Sead) 11 88 0.01

1469 | IR | TS GrRIN] 114 LS Twéi?

1470 | IR | TS GrRIN] 114 U AT Twéi? 26 87 0.02

1471 | TEIRTY | TS GrRIN] 114 orer A Twéi? 11 88 0.01

1472 | TEIRTY | TS ErRIN] 114 % AEh Twéi? 27 87 0.01

1473 | IR | TS ErRIN] 114 T AiEn Twéi? 27 87 0.02

1474 | TEIRTY | TS GRIN] 114 ST A Twéi? 26 87 0.02 1/2
1475 | TERRTY | T ERIN] 114 dte A Taég? 28 73 0.011/2
1476 | IR | TS ERIN] 114 ST A Twéi? 24 73 0.02 1/2
1477 | FERRTY | T ErRIN] 114 RICEIE Twéi? 24 73 0.01

1478 | IR | TS ErRIN] 114 ey A Twéi? 24 73 0.02

1479 | IR | TS ErRIN] 114 AT A Twéi? 24 73 0.01

1480 | IR | TS all 114 e A vt (@1 10 72 0.01 1/2
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1481 | IR | TS ErRIN] 114 SIRTEER A7 Sead) 22 71 0.02 1/2
1482 | THRTY | JITGT SIIRIE] T%g? 7 104 0.02
1483 | IR | TS GrRIN] 114 B A Twéi? 7 7 0.01
1484 | IR | TS GrRIN] 114 BT Al Twéi? 7 104 0.02
1485 | RETIRTY | TS ErRIN] 114 1 A Twéi? 24 74 0.03
1486 | SRR | G ErRIN] 114 ESKIE T%g? 19 70 0.01
1487 | IR | TS GRIN] 114 fasfy wish T%g? 19 70 0.01
1488 | TERRTY | T ERIN] 114 fRyarel A T%g? 7 104 0.01 1/2
1489 | TEIRTY | TS ERIN] 114 WA A Twéi? 7 114 0.02
1490 | IR | TS ErRIN] 114 ST A Twéi? 7 104 0.01
1491 | TEIRTY | TS ErRIN] 114 <y il Twéi?

1492 | IR | TS ErRIN] 114 T AiEh Twéi? 14 89 0.06
1493 | TEIRTY | TS all 114 ey A vt (@1 13 80 0.01
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1494 | TERRTY | T ErRIN] 114 arerg AiEh P, 27 87 0.01 1/2
1495 | REIRTY | TS GrRIN] 114 EINGIE| Twéi? 10 75 0.011
1496 | IR | TS GrRIN] 114 ECIIE Twéi? 10 75 0.01 1/2
1497 | TEIRTY | TS GrRIN] 114 EiiE T%g? 27 87 0.011 1/2
1498 | TEIRTY | TS ErRIN] 114 TR A Twéi? 11 88 0.01
1499 | TEIRTY | TS ErRIN] 114 NEISIE I Twéi? 24 73 0.01
1500 | TTETERTY | TGT GRIN] 114 eIRER A Twéi? 10 72 0.01 1/2
1501 | TERIRTY | ITe ERIN] 114 dte A Taég? 10 67 0.03
1502 | TTETERTY | TT aroy, A T%g?

1503 | TTETERTY | ITGT SES 136 B T%g? 295 1130 0.02
1504 | TTETERTY | TGT 3N 136 R A Twéi? 155 110 0.01
1505 | FTRERRTA | AT SR 136 T wigh T%g? 293 1126 0.03
1506 | TETERTY | TGT N 136 AT A v (@0 155 1099 0.02
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1507 | TETERTY | ITGT IR 136 HETR A o d) 293 1126 0.01
1508 | TTETERTY | TET SES 136 di A T%g? 296 1126 0.01
1509 | TERRTY | AT SR 136 < el Tqég? 167 1096 0.02
1510 | TETERTY | TRT 3N 136 EGKIE T%g? 185 1102 0.01
1511 | TETERTY | ITRT 3N 136 At Hish T%g? 293 1133 0.01
1512 | TETERTY | ITRT 3N 136 [EEEUIE T%g? 293 1126 0.02
1513 | TERRTY | AT SR 136 FeEp, wigh Tqég? 184 1136 0.02
1514 | TETERTY | TGT SES 136 EISRIE] T%g? 293 1133 0.01
1515 | STETERTY | ITQT 3N 136 SRR Hish T%g? 293 1123 0.02
1516 | TETERTY | ITGT IR 136 ENRIE Twéi? 338 1103 0.02
1517 | SRR | AT XA 136 ESCERIE] Tqég? 3308 1103 0.02
1518 | TR | AT XA 136 CRICI IE) Tqég? 335 1111 0.02
1519 | TETERTY | TRT N 136 NEER-SCIE v (@0 167 1096 0.01 1/2
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1521 | TETARTT | T REG! 136 a1, High Tqég? 293 1133 0.01
1522 | TETERTY | TRT 3N 136 Pifret A T%g? 338 1115 0.02
1523 | TETERTY | ITGT 3N 136 fasir Afsh T%g? 7 1107 0.02 1/2
1524 | TETERTY | TGT SES 136 [SUBIED T%g? 184 1136 0.04
1525 | TETERTY | TGT 3N 136 Arar Aish T%g? 185 1102 0.03
1526 | TETERTY | TGT SES 136 di A T%g? 184 1136 0.01
1527 | TERTY | TRGT CEEIE T%g?
1528 | TETERTY | TGT SES 136 ESUKIED T%g? 338 1113 0.01
1529 | TTETERTY | ATET 3N 136 oAl Aish T%g? 338 1113 0.01 1/2
1530 | ETARTY | T REG! 136 g A Tqég? 338 1115 0.04
1531 | TETERTY | ITRT 3N 136 CISCIGIE] T%g? 167 1106 0.04
1532 | TETERTY | TET IR 136 CIRK ] vt (@1 335 1114 0.01
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1533 | RITRTY | G SR 136 ST Hish P, 338 1103 0.01
1534 | TERRTY | AT SR 136 g s il T%g? 185 1102 0.02
1535 | IR | G SR 136 T High T%g? 293 1126 0.03
1536 | TETERTY | TGT 5§ 136 gieaR High T%g? 293 1126 0.03
1537 | TETERTY | ITRT SN 136 [GEIIE] Twéi? 336 1112 0.03
1538 | TETERTY | TGT 3N 136 GEECRIE T%g? 338 1115 0.04
1539 | TTETERTY | TET SES 136 ERRIIE] T%g? 155 1109 0.01
1540 | TRITRTY | G SR 136 Bl High T%g? 135 1111 0.02
1541 | TETERTY | TGT IR 136 EICIIE] Twéi? 167 1097 0.05
1542 | TETERTY | TGT 3N 136 T A Twéi? 155 109 0.02
1543 | TERTY | JITGT e A T%g?

1544 | TRITRTY | TS XA 136 XA HEH T%g? 167 1144 0.05
1545 | TETERTY | TGT 3N 136 arer A vt (@1 244 1098 0.02
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1546 | TETERTY | QT 3N 136 RCEIE] ) 155 1109 0.01

1547 | TRATRTY | TS SR 136 ESIGIE Tqég? 684 1136 0.01 1/2
1548 | TETERTY | ITGT 3N 136 RISIIE] Twéi? 199 117 0.02

1549 | TETERTY | TGT IR 136 gt wiEh Twéi? 336 1145 0.01 1/2
1550 | TTETERTY | TGT SES 136 SR Hish T%g? 335 1196 0.03

1551 | TRITARTY | G SR 136 T High Tqég? 199 1127 0.03

1552 | TRITARTY | G SR 136 RIS Tqég? 335 1111 0.01

1553 | RITARTY | G SR 136 B AN Tqég? 335 1114 0.03 1/2
1554 | TRATARTY | G SR 136 B A Tqég? 184 1136 0.01

1555 | STETERTY | ITGT 3N 136 SRt #ish T%g? 167 1097 0.02

1556 | TTETRTY | JITGT facr wish T%g?

1557 | TETERTY | IATGT SN 136 dre, Ash T%g? 338 1103 0.02 1/2
1558 | STETERTY | ITGT 3N 136 GEECRIE v (@0 155 1109 0.02
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1559 | TTETERTY | ITGT 3N 136 Bael Hish S dh) 335 1114 0.01 1/2
1560 | RITARTY | GIATST SR 136 SicaitIEl T%g? 335 1111 0.01
1561 | TTETERTY | ITGT SES 136 HeTed High T%g? 167 1104 0.01
1562 | TRITARTY | GIATST SR 136 oo High T%g? 167 1104 0.01
1563 | STETERTY | ITGT 3N 136 NEICRICEIGIF] T%g? 155 1109 0.01
1564 | TETERTY | ITGT SN 136 arfewa! wish T%g? 115 1109 0.02
1565 | RITARTY | GIATST SR 136 T High T%g? 335 1111 0.01
1566 | TRITARTY | TS 136 [ERSECIE] T%g? 338 1113 0.01
1567 | TETERTY | ITGT 3N 136 [EERUIE T%g? 335 1111 0.01 1/2
1568 | TRITARTY | GATET SR 136 bR A T%g? 335 1111 0.01
1569 | TTETERTY | TET 3N 136 RECUSIKIE T%g? 335 1111 0.01/2
1570 | TETERTY | TRT 3N 136 NEKIE] T%g? 160 1196 0.02
1571 | TETERTY | TRT IR 136 ST High v (@0 167 1104 0.02
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1572 | FERRTY | AT SR 136 el Hish S d) 167 1104 0.02
1573 | TETERTY | TGT 3N 136 Bre gl T%g? 335 1111 0.01
1574 | TETERTY | ITGT SES 136 Mfd=s A T%g? 167 1096 0.015
1575 | TETERTY | ITGT REG! 136 [EGCACIE T%g? 335 1111 0.01
1576 | TETERTY | TGT 3N 136 e A T%g? 335 1111 0.02
1577 | SRR | AT SR 136 g wish Tqég? 335 1114 0.02 1/2
1578 | TR | AT SR 136 R Aish Tqég? 167 1097 0.05
1579 | TETERTY | IATGT IR 136 fdpex #igh Twéi? 335 1111 0.03
1580 | TTETERTY | ITET SES 136 NSEIE T%g? 155 1109 0.01
1581 | TTETERTY | ITGT IR 136 BUEIED Twéi? 338 1110 0.02
1582 | TR | AT XA 136 B AN Tqég? 335 1111 0.02
1583 | TTETERTY | ITGT 3N 136 Sie Hih Twéi? 338 1110 0.04 1/2
1584 | TETERTY | ITGT N 136 CRICIIE] v (@0 338 1110 0.02 1/2
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1585 | THIRARTY | QT i 136 dig #igh o) 167 1105 0.08
: T (@i,

1586 | TRGRTY | <R SITerT 100 of g Srad) | 322 435 0.01

1587 | TERIRTY | TS SITErTT 100 5] Afsh vt (@1 319 447 0.05
dreadl)

1588 | TERIRTY | TS SITErTT 100 T A vt (@1 325 416 0.01
dreadl)

1589 | TERIRTY | TS Sfrer 100 BSCECIIE) mg? 359 62 0.02

1590 | TERIRTY | TS SITErT 100 IECERCIE vt (@1 326 424 0.05
dreadl)

1591 | TG | <TQT SITerTT 100 e A vl (@ 448 0.01
dreadl)

1592 | TTERTY | TGT SITErT 100 CIESISRIE] mg? 325 1075 0.015
: I (i,

1593 | TTEARTY | ATET Srer 100 Y A Srad) | 42 66 0.02

1594 | TERIRTY | TS SITErTT 100 B v (@0 358 428 0.029
dreal)

1595 | TG | <TQT SITErTT 100 e A (@ 409 0.03
dreal)

1596 | TRGRRTY | <TG SITErTT 100 Ryl igh vl @ e 429 0.05
dreadl)

1597 | TG | <TQT SITErTT 100 qERA High vt @ g 419 0.02
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1598 | TRGRRTY | <TG SITerT 100 e High vl (@ 436 0.05
dreadl)

1599 | TTETRTY | TGT SITerT 100 RERIE) vt (@1 320 457 0.225
dreadl)

1600 | TRGRRTY | <TG SITErTT 100 e High vl (@ o 449 0.03
dreadl)
. R (@,

1601 | TRGRRTY | <TG SITErTT 100 e <N Srad) | 56 436 0.005

1602 | TREGRRTY | JTQT SITErTT 100 o High vl (@ e 424 0.005
dreadl)

1603 | TREGRRTY | <TQT SITErT 100 ERICIIE vl (@ o 449 0.004
dreadl)

1604 | TR | gTaT ATET 100 SUIIE] mg? 354 449 0.003

1605 | TR | TG LTET 100 SUBKCIE] mg? 320 413 0.005

1606 | TRGRRTY | <TG Srer 100| ®dIGR HAEN mg? 317 449 0.03

1607 | TR | <gTeT SITErTT 100 SNRICIE mg? 319 447 0.005

1608 | TRIRIRT | T STeET 100 SH Hish mg? 359 60 0.055
o ¢ ~ Xl (@,

1609 | TR | T Jrafire 36 el Aeq aeaa) | 54 89 150
o ¢ ~ . Xl (@,

1610 | TN | ATTST SEINK 37 A g o) 100 377 .37




1611 | TR | e Jrafire 36 = |al Tqég? 65 95 1
1612 | SR | e rafire 37 arfa g T%g? 100 377 3
1613 | TR | e AT 36 NIGEISE] T%g? 54 85 150
1614 | TERRTY | T AT 37 FeHad el Twéi? 81 381 150
1615 | TR | e AT 36 SR |l Taég? 65 95 1
1616 | TR | e AT 36 HHAT HaT Tqég? 65 95 1
1617 | TR | e SICIRE 37 CEANE Taég? 100 377 3
1618 | TR | e AT 37 SR HEdl T%g? 96 384 150
1619 | TERRTY | AT AT 37 EIGIEIG Twéi? 96 384 150
1620 | TR | T Jrafire 37 | onf¥e #Edl T%g? 96 385 150
1621 | TR | e AT 37 NESERH T%g? 100 370 3
1622 | TERRTY | AT AT 36 A0 fAgerar Twéi? 65 95 .50
1623 | erRdIeRTa | TG 3rafira 37 | AMATd AEal T%g? 96 385 150
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1624 | TERRTY | AT JINATA 36 RLCE-EE] P, 54 85 150
1625 | IR | e TRITTHYR PISAT YIRIATH Taég? 43 48 2
1626 | TETERTY | ATET HEAYR <dr w7 Twég? 69 153 0.15
1627 | TTERRTY | AT HEAYR g Arsh Taég? 32 191 50
1628 | TERARTYT | T HETYR BR] Hish Twéi? 64 153 150
1629 | TR | T AEAYR A0 SHAT <Al Tqég? 88 142 50
1630 | TR | e TRTYR foretr area Tqég? 43 48 4
1631 | TR | e SICIR g4I |aT Tqég? 78 99 1
1632 | TR | e AT g8IgY Hal Tqég? 78 99 1
1633 | TERRTY | AT SICIRS o &l Twéi? 78 99 1
1634 | TR | e Jrafire SHE |al Tqég? 78 100 1
1635 | TR | e AT LIRS Taég? 78 101 1
1636 | TR | T Jrafire Aol et (@ 102 1
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1637 | TR | e SICIR SIST Aal Taég? 78 102
1638 | TR | e AT SEELINIGE] T%g? 78 103
1639 | TR | e AT e el T%g? 78 103
1640 | STERIRT | T rafire AT ¥HaT T%g? 78 103
1641 | STERIRTT | T rafire CIG I T%g? 78 104
1642 | TR | e SICIR g, el T%g? 78 105
1643 | SRR | T rafire T HaT T%g? 78 105
1644 | STERIRTT | T SICIR H2N |aT T%g? 78 105
1645 | TR | e AT ufed Har Taég? 78 105
1646 | TR | e AT e ar T%g? 78 105
1647 | TR | e AT T[0T AT Taég? 78 106
1648 | TR | e SICIR NS T%g? 78 106
1649 | TR | e AT IRAR |aT T%g? 78 106




1650 | TR | e AT dIer HaT Taég? 78 106
1651 | TR | e AT T AaT Taég? 78 106
1652 | TR | e SICIR 91 |aT Taég? 78 106
1653 | TR | e AT eicd AT Taég? 78 106
1654 | TR | e AT eIl HaT Taég? 78 106
1655 | TR | e AT ESIEIGE] Taég? 78 106
1656 | TR | e AT diRk& a1 Taég? 78 106
1657 | TR | e AT SESESE Taég? 78 106
1658 | TR | e AT IREAR AT Taég? 78 108
1659 | TR | e AT e war Taég? 78 108
1660 | TR | e AT gax |l T%g? 78 108
1661 | TR | e AT W Fal T%g? 78 108
1662 | TR | e AT A Hal T%g? 78 108




1663 | TR | T SICIR Tl &I T%g? 78 108
1664 | TR | e AT Sh] Acal T%g? 78 109
1665 | TR | e AT fawet |a1 Taég? 78 109
1666 | TR | e AT RISUREL T%g? 78 109
1667 | TR | e AT Sl aT Taég? 78 109
1668 | TR | e SICIR wrg aT T%g? 78 111
1669 | TR | T rafire el HaT T%g? 78 111
1670 | TR | e AT CIIISEAL Taég? 78 111
1671 | TR | e SICIRE SEECAGE Taég? 78 111
1672 | TR | e AT rHTell \aT Taég? 78 111
1673 | TR | e SICIR Hel Aal Taég? 78 111
1674 | TR | e SICIR U IISEL Taég? 78 111
1675 | TR | e SICIR UG Taég? 78 111
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1676 | TR | e AT A A | gy | 78 111 1
1677 | TR | e AT AT T Taég? 78 111 1
1678 | TR | e SICIR Tl A&l Taég? 78 111 1
1679 | TR | e AT fag= Har Taég? 78 111 1
1680 | TR | e AT IMEAR A&l Tqég? 78 111 1
1681 | TR | e rafire HET Har Tqég? 78 111 1
1682 | TTEARTY | T AT 10 el Twéi? 78 111 1
1683 | TR | e AT HA0 <gferar Taég? 78 111 1
1684 | TRIRIRTY | TTaT ATEl 61 | #HI0 HUAT <l T%g? 131 541 2
1685 | TEIRTA | ST RS 167  GIR®T #ish T%g? 126 829 2
1686 | TTEERTY | TE MENIEN 69 | Hio g A T%g? 39 239 10
1687 | TR | e SICIR 37 | G urEaE Taég? 102 81 3
1688 | TR | T Jrafire A0 F@A dl (@0 g 384 3
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1689 | erRIeRTY | TG 3rafira HIET Al froad) | 102 81 3
1690 | TR | e rafire gfe=r <y Tqég? 102 81 3
1691 | TERRTY | AT AT 37 SHEEEIGCIG Twéi? 102 81 3
1602 | FERRT | AT IRHT 12 IRGRCINEIS] T%g? 86 4272 150
1693 | TERRTY | AT SR 136 NEACINCG]] Twéi? 9 1566 4
1694 | TTETERTY | TET SN 136 CIESIUSISIC] Twéi? 339 1399 .5
1695 | TTETERTY | ITGT S8 136 NIGINGAIC] Twéi? 344 1392 2
1696 | IR | GIATET REG! 136 9 |1 Taég? 344 1392 2
1697 | TETERTY | ITGT S8 136 IFEER A1 Twéi? 339 1399 A
1698 | TTERARTY | T ERISIE 116| T STHR Twéi? 3 418 2
1699 | TR | TG ERISIE 116|  I¥Qd BIGR Taég? 3 418 2
1700 | TR | T JETSYR 38 | oHET uNTR Taég? 131 389 6
1701 | TREGRRTY | e ERISIE 16| AR A el (@ g, 361 2
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1702 | IR | e GIN 81| SITEIY YT Sead) | Y 121 1150
1703 | TETERTY | TRT bR 72 IR Heel Twéi? 35 1702 2
1704 | TERART | ATQT GIE] 9 TN T%g? 35 483 6
1705 | TETERTY | TRT BINL 72 I Hed Twéi? 107 1705 4
1706 | TETERTY | ATET IR 72 HEQRS| Twéi? 102 1704 4
1707 | TEERTY | TGT bR 72 TR #sd Twéi? 102 1705 4
1708 | TR | e BT 63 | EReTer il T%g? 51 1261 1
1709 | R | e GIN 63 ESISUGIR] T%g? 86 1286 3
1710 | TERRTY | AT HeTHYR HHAT <l Taég? 32 934 2
1711 | R | e YT 19 AT ARy Taég? 263 798 125
1712 | R | e HEHId D] AigAg I Taég? 11 38 4
1713 | TERTA | ETeT BIKE 72 I GeATpT T%g? 2426 125
1714 | TERERTY | TRT IS 72 Althds TATHT v (@0 2426 125
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1715 | TETERTY | TRT 3IK3L! 72 | G FeATHT ) 2426 125
1716 | TIERRTY | TG BINSE] 72 EESURERIET T%g? 2426 125
1717 | IERTY | gATeT EET N qew il Taég? 91 172 3
1718 | TTERT | e INEIG Rraves || T%g? 250 1252 1
1719 | IR | e NEISI 18 AT ITH Taég? 172 445 3
1720 | TR | TG EET N qew il Taég? 91 178 3
1721 | SRIRIRT | ST IBESIH 115 g Hsd T%g? 3 527 12
1722 | T | qETaT IRESIH 115 | TTHIGR IS AT T%g? 3 444 12
1723 | T | e IRESIH 115| IAN= TS A8 T%g? 3 527 10
1724 | ordIeRT | e Rrase 115  GIRER Hed T%g? 3 527 12
1725 | TERRTY | TS YT 100 GICUKIE] T%g? 346 434 0.015
1726 | TERTY | JITGT frerT 100 Arar =ish T%g? 354 439 0.03
1727 | TERRT | TRT frerT 100 JRHTER AT vt (@1 345 434 0.005
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1728 100 BEIRIE! P, 359 61 0.21
1729 100 BRI A T%g? 359 60 0.005
1730 100 STTed Aish T%g? 359 66 0.01
1731 100 RNIKIE T%g? 42 66 0.02
1732 100 Handt | T%g? 318 466 0.02
1733 100 SEUKIE] T%g? 123 68 0.06
1734 100 BR[A A T%g? 352 435 0.01
1735 100 R, i T%g? 352 432 0.02
1736 100 D! AT T%g? 358 459 0.025
1737 100 S A T%g? 323 426 0.0025
1738 100 FARAT ATl T%g? 356 425 0.025
1739 100 [EtENIIE] T%g? 311 720 0.02
1740 100 ENEICIE| v (@0 358 428 0.09
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1741 100 GEAEIES P, 325 2075 0.015
1742 100 L IE] T%g? 56 408 0.005
1743 100 TREY High T%g? 336 418 0.02
1744 100 qreizer A T%g? 56 408 0.025
1745 100 wial wish T%g? 57 408 0.005
1746 100 NEREEIE] T%g? 57 408 0.025
1747 100 NEECEGIE T%g? 657 437 0.07
1748 100 REERIIE] T%g? 332 415 0.005
1749 100 EICEECIIE] T%g? 336 418 0.005
1750 100 EREIRIE T%g? 325 416 0.01
1751 100 EAICIE| T%g? 318 414 0.01
1752 100 g sl T%g? 351 462 0.01
1753 100 Afgs #ish v (@0 332 415 0.01
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1754 100 ERINEIE] S ) 338 4464 0.003
1755 100 T Al T%g? 325 416 0.01
1756 100 REERIIE] T%g? 359 63 0.02
1757 100 BicRIEl T%g? 340 417 0.03
1758 100 GIGIIE) T%g? 123 67 0.04
1759 100 NEECEGIE T%g? 59 63 0.02
1760 100 GENIRIE] T%g?

1761 100 EIEl T%g? 353 445 0.04
1762 100 D] sl T%g? 356 425 0.005
1763 100 HAER gl T%g? 346 434 0.015
1764 100 B AT T%g? 16 405 0.01
1765 BICIIE] TQ;%?

1766 100 ERELURIE]S vt (@1 359 60 0.025
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1767 100 STAT Al P, 360 74 0.02
1768 100 Uy Aish T%g? 332 415 0.01
1769 100 EaINCIE T%g? 344 423 0.015
1770 100 g Al T%g? 356 425 0.0125
1771 100 fHerear #ish T%g? 335 465 0.06
1772 100 RCRUKIE] T%g? 318 486 0.015
1773 100 i wish T%g? 318 466 0.0035
1774 100 ERCIIE| T%g? 318 466 0.0035
1775 100 ERIIE] T%g? 318 466 0.0035
1776 100 ERIEIE] T%g? 334 406 0.01
1777 100 SISCIRCIE) T%g? 16 405 0.01
1778 100 EIGCCRIE) T%g? 359 60 0.005
1779 100 A1 @i vt (@1 355 442 0.06
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1780 | TTETERT | TRT frerT 100 qge Arsl P, 318 466 0.02
1781 | TEERTY | ITRT ESISIE 116 EULRIE] Twéi? 9 286 0.03
1782 | TETERTY | ITRT ESISIE 116 IEERT A Twéi? 8 249 0.04
1783 | TETERTY | ITGT ESISIE 116 ECEIRIE] Twéi? 12 288 0.05
1784 | TETERTY | IATGT ESISIE 116 g sl Twéi? 5 285 0.04
1785 | TETERTY | ITRT ESISIE 116 ERINEIE] Twéi? 9 284 0.03
1786 | TETERTY | IATGT ESISIE 116 I A Twéi? 25 281 0.03
1787 | TERTY | e EET N 110 [A1E &N Taég? 91 238 0.5
1788 | TTERTYT | TG EET N 110 [HfcHA T Taég? 92 238 0.5
1789 | TR | e GG 23 [gRaar <41 Taég? 34 76 0.5
1790 | erdRT | TG SRAT 12 | ¥R AEal T%g? 134 446 0.325
1791 | TETERTY | ITRT dRIQIYR 107 |1&HT el Twéi? 38 89 0.6
1792 | ERRTA | AT fashagR 10| IRT & @ 238 0.8
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1793 | TTERTT | T EET N 110 [¥rar <= Soad) | O 238 0.8
1794 | TR | AT EET N 110 [STHT &1 Taég? 91 238 0.6
1795 | TTERTYT | e EET N 110 [RToT= < Taég? 92 239 0.9
1796 | TTERTT | TG EET N 110 |37l <™ Taég? 92 239 0.5
1797 | TTERTT | AT EET N 110 |STTSTT & Taég? 92 239 0.5
1798 | IR | gTaT arey 75 [gUR @rg T%g? 100 1440 0.5
1799 | TR | e Rrasrg SIEEENE T%g? 3 444 0.10
1800 | TR | AT ERAYR guA g Twéi? 41 1097 0.6
1801 | TTETERTY | IATGT HeIYR E%?ITETW Twéi? 281 1659 0.2
1802 | erdIIRTT | TG R Td TS A9 T%g? 3 527 0.10
1803 | TR | e Rrasrg b MISIC] T%g? 3 527 0.10
1804 | TREERTY | SgETET INESIH] IERICECTIN T%g? 3 444 0.10
1805 | TRIRIRT | T INESIH JgEcd Tl @ (@) 444 0.10
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1806 | TR | <pTaT INESIH IHITAD HSol Sead) | 3 444 0.10
1807 | TRIRIRT | TTaT Rrasre NERE I T%g? 3 527 0.10
1808 | erRdIRITT | TG IRESIH ECRECAG] Tqég? 3 444 0.10
1809 | erdIRITT | TG IRESIH U= M TQ;%? 3 444 0.10
1810 | TR | <pTeT INESIH RA I T%g? 3 444 0.10
1811 | TERRTY | e RAJYR R grAaT Twéi? 38 232 0.150
1812 | TR | e arey G TS I T%g? 263 599 0.3
1813 | TR | <gTeT BIE]] RraRo M T%g? 263 598 0.7
1814 | TERRTY | e YT GIRCZRMINCIE Twéi? 111 1221 0.4
1815 | IR | e YT CIRIREIRCIE] Taég? 111 1221 0.6
1816 | TERRTY | AT gdl@ls Eﬂ‘{ﬁﬂﬂﬂ? Twéi? 3 314 0.7
1817 | IR | qETE] RIS HHI0 B! <Al Taég? 3 315 0.450
1818 | TERRTY | AT ERISIE RGN v (@0 3 315 0.950
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1819 | TERARTYT | T ERISIE T I Sgad) | 3 315 0.950
1820 | TTERTT | TG ERISIE SEZEICINGI] Taég? 3 315 0.450
1821 | TEARTY | T ERISIE ATSER Tl Twéi? 3 315 0.450
1822 | TR | e ERISIE A wgar TQ;%? 3 315 0.3
1823 | TIeRTT | NqETaT farergR ga¥l Rig T%g? 105 3070 0.5
1824 | TETERTY | ATET goal RINENESIE Twéi? 76 94 0.725
1825 | TTETERTY | TGT goal ANYER AT Twéi? 76 96 0.475
1826 | TETERTY | ITGT goal MR ATE Twéi? 76 95 0.375
1827 | TETERTY | IATRT goal CIER IR Twéi? 76 96 0.350
1828 | TETERTY | ITGT goal dIed T Twéi? 76 96 0.1
1829 | TTERARTY | T JATTIR IAHT g Twéi? 475 170 0.5
1830 | TR | AT JATTIR EIRIESIC Twéi? 475 170 0.5
1831 | TEARTY | T JATTIR SECREESIC v (@0 475 170 0.5
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1832 | oI | SqTe SThSYR] A0 GEier <t Srad) | 141 273 0.375
1833 | TETERTY | ITET goal RTHART HI19 Twéi? 8 242 0.7
1834 | oRIeRTT | et | ABHIGR fAEE] IR T%g? 18 352 0.150
1835 | IR | TS | ABHIYR HgE] face #gar Taég? 18 352 0.150
1836 | TERRTY | AT GXHYR TJeieT <l Twéi? 41 1016 0.3
1837 | IR | e YT 3G UTAaT Taég? 288 198 0.250
1838 | TTERTY | e SICEN 155 [Tifd=e T8 T%g? 5 181 0.475
1839 | TTERTT | TG QINEIR] <X HSAA T%g? 192 900 0.3
1840 | TR | <pTeT IR A0 AHAT <d T%g? 146 571 0.3
1841 | TTEIERTYT | TRGT IR T g™ T%g? 146 572 0.3
1842 | TERARTY | T HeT YR 16 |gTR®T URIa= Twéi? 285 526 0.3
1843 | TEARTY | T SEZEN el T Twéi? 69 123 0.625
1844 | TR | TG IRIRYR EIENELIGENI] xadl (@0 289 48 0.16
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1845 | TR | TR | AIRIQAYR gAYy R Sead) | 18 73 0.550
1846 | oI | e STHRYR NAESIC] T%g? 35 205 0.875
1847 | TERRTY | AT STHNYR BENIGICH Twéi? 35 204 0.6
1848 | TRIRIRTY | ITET INESIH < g TQ;%? 3 444 0.10
1849 | erRIRTY | TTT IRESIH o= Rig TQ;%? 3 444 0.10
1850 | erIRT | TTGT IRESIH o= R T%g? 3 444 0.11
1851 | erRdIIRTT | TS IBESIH AT g TQ;%? 3 527 0.12
1852 | TRERT | SgETer INESIH] el HAR T%g? 3 444 0.11
1853 | TRIRIRT | ITaT INESIH AT AT T%g? 3 444 0.11
1854 | TRIRIRT | ITaT INESIE o yare Rig Tqég? 3 527 0.17
1855 | TRIRIRT | T IBESIH sifa <4 T%g? 3 527 0.10
1856 | TIRITRTT | <pTaT INESIH qreifds M T%g? 3 444 0.12
1857 | TRIRIRT | ITaT INESIH IJOITaR Hedl @ (@) 444 0.11
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1858 STINTH Heof P, 527 0.650
1859 ToRH Heol T%g? 527 0.650
1860 YMEEAR Heol T%g? 527 0.650
1861 ELCRIRICEI] T%g? 527 0.650
1862 RART HSl T%g? 527 0.900
1863 SINECHE S| T%g? 527 0.700
1864 PRI | T%g? 527 0.11
1865 RATUE 10 HSd T%g? 527 0.650
1866 U AR T%g? 444 0.10
1867 ATATITH HSA T%g? 527 0.650
1868 NIRERIE T%g? 444 0.12
1869 GIEINE T%g? 527 0.8

1870 315 XA vt (@1 527 0.8
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1871 | eI | SgTe EIEaS Hdl0 GarHgr <dr Sead) | 230 412 0.550
1872 | TR | e ArDHS] #7410 RSl <4 T%g? 230 412 0.550
1873 | TERRT | gTaT INESIES 115 |3UcTTel HSof T%g? 3 444 0.10
1874 | TRIRIRTY | WTaT INESH 115 [Ram <4t T%g? 3 527 0.3
1875 | TRIRIRT | WTaT INESIE 115 |Faetad Rig T%g? 3 527 0.7
1876 | IR | ST IRESIH 115 |g89ad e T%g? 3 527 0.850
1877 | SRIRIRT | SETaT INESIE 115 [STIUHTET ST T%g? 3 527 0.10
1878 | ordIeRT | a1 INESIES 115 [RTSTHAR 3T T%g? 3 527 0.9
1879 | ERRT | TS INESIES 115 |d8TgY HSdf T%g? 3 444 0.10
1880 | TRIRIRT | WTaT INESIE 115 |fasra et T%g? 3 527 0.12
1881 | TRIRIRTY | TTaT INESIE 115 |ITeraT 2l T%g? 3 527 0.10
1882 | ordeRT | e INESIES 115 [l Hsel T%g? 3 527 0.7
1883 | ordIeRT | gETaT INESIES 115 [GReT T @) 527 0.10
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1884 115 |RgT dea e ) 527 0.8
1885 115 |fae=l < T%g? 527 0.6
1886 115 [T <l T%g? 444 0.6
1887 115 [AQI<d ¥4 T%g? 444 0.10
1888 115 |[Ae== U=TE Ol T%g? 527 0.1
1889 115 |SIf=aT <4 T%g? 527 0.3
1890 115 |NTHI < 919 T%g? 527 0.7
1891 115 |31 <Y T%g? 527 0.5
1892 115 |Gl HHAR HS el T%g? 244 0.13
1893 115 |[gHT HAR Hs T%g? 244 0.13
1894 115 [RMAETT Hea T%g? 527 0.650
1895 115 |[aTcHifd ot T%g? 527 0.10
1896 115 [Tl B/AR HSA xadl (@0 244 0.13

Bl
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1897 | TR | e INESIH 115 |l HAR HS Sead) | 3 244 0.13
1898 | TRIRIRTY | TTaT INESH 115 [BIfRTeT <dT T%g? 3 527 0.6
1899 | TRIRIRT | TTaT INESIH 115 |[AMT HSd T%g? 3 444 0.11
1900 | TR | gTaT Rra<ie 115 |fdTe HAR T T%g? 3 444 0.10
1901 | TERRTY | e HEA I 94 RIS &N Twéi? 29 175 0.350
1902 | TERRTY | e HE I 94 |G TN Twéi? 29 175 0.350
1903 | SRR | TTET SRAT 12 [JATT HEAr T%g? 383 3881 0.5
1904 | TR | T FEATAYR | 103 [RMHad Heel T%g? 25 70 0.8
1905 | IETIRTY | TS HEHTTYR AR Hee Twéi? 12 17 0.150
1906 | TERRTY | e HAEHTCTYR TRHTANT <l Twéi? 25 71 0.350
1907 | TERRTY | AT HIMYR 93 |dSTTT IM Taég? 153 259 0.2
1908 | TERRTY | AT SiS| 136 |U¥ATST ¥Td Twéi? 338 1486 0.4
1909 | TTETERTY | TET %j\urgﬂ 19 |SRAT il v (@0 84 394 0.8
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1910 | TERRTY | AT HIgdd 3 [RISTRHAR UTAdT ) 90 70 0.12
1911 | erdIeRT | gETer TR 49 |RTEST HEdl T%g? 45 135 0.10
1912 | erRdIeRTa | gETa TR 53 [WTST HEdT T%g? 58 188 0.2
1913 | iR | e IARYR 51 [HlaR™ dd T%g? 35 205 0.350
1914 | oredIeRT | e geigR 49 [dTar st T%g? 38 66 0.550
1915 | TREIERTY | Ter TR 49 |AETAR! WY T%g? 38 66 3.500
1916 | TREIERT | Ter TR 49 |a1 Al T%g? 38 66 0.550
1917 | TR | e gefigR 49 |g=far <d) T%g? 38 66 0.725
1918 | ordIeRT | e geigR 49 [drar \rg T%g? 38 66 0.375
1919 | IR | gTaT geiigR 49 [RMEfdT™T A1 T%g? 38 66 0.375
1920 | TR | T gefigR 49 [HAT T4 T%g? 38 66 0.750
1921 | edIeRT | gTer TR 49 |URHTIR Hedl T%g? 38 67 0.700
1922 | TR | e gefigR 49 [TRRAE STHR @ g 66 0.375
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1923 | TERRT | gTaT geiigR SIRISSIC] Sead) | 38 66 0.325
1924 | STERIRT | T E| Gl 47 |grach <4 T%g? 195 567 0.10
1925 | IR | e HEIgR 50 | WISl FeIdrT T%g? 97 208 0.250
1926 | IR | TS HIEHEYR 152 (AT T Twéi? 83 65 0.5
1927 | IR | TS ERAYR 88 |31aY Heol Taég? 41 1001 0.8
1928 | FERRT | ST | RIS BIRMAYR | 35 [T ol T%g? 25 30 0.6
1929 | TREIRRT | AT IRAT 12 |STHAT M T%g? 1203 1343 0.625
1930 | TR | T EERIIK AT Agdl Taég? 143 637 0.4
1931 | TREIRRT | AT EIN 7 |99ES XM T%g? 85 181 0.7
1932 | TERRIY | AT HATGYR 30 [@Telt wEar Twéi? 225 650 0.4
1933 | TERRTY | AT ClSagR I AN Twéi? 91 619 0.5
1934 | TERRTY | e RTAYR CIE TN Twéi? 1014 2868 0.7
1935 | TERRTY | AT 3THNYR EGE| CIEAY xadl (@0 332 326 0.4
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1936 | TERRTY | e QINEIGI SUSIRCES S dh) 26 1081 0.350
1937 | TERRTY | e INEIGI ARIAY fdvg Twéi? 26 1081 0.3
1938 | TERRTY | e BT RG] Twéi? 51 1302 0.575
1939 | TERRTY | e BT A0 ART <4 Twéi? 51 1302 0.575
1940 | TR | T EEEI 92 R AT’ T%g? 84 152 0.1
1941 | TETERTY | TRT AT NHYY | 37 HEIR UTaar Twéi? 56 192 0.3
1942 | FERRTY | AT SR SRR Hgdr Twéi? 338 1399 0.175
1943 | THTERTY | ATET AT NHYY | 37 |YRIR Hedl Twéi? 56 39 0.10
1944 | FERRTY | AT hHe TR I Twéi? 91 79 0.3
1945 | TERRTY | AT AL ESISSISL Twéi? 145 33 0.4
1946 | STERIRT | T ATTgR 53 (A0 Al <Al T%g? 45 344 0.9
1947 | R | e fehROTgR 44 | TR UER Taég? 45 602 0.16
1948 | TETERTY | ATET SISEN 53 [§ISIRT AR TSI xadl (@0 53 388 0.8
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1949 | SRR | T AHAAYR 43 |10 afdar <dr Sead) | 52 373 0.1
1950 | TERRTY | AT HHAAYR 43 |faE AR Taég? 257 304 0.6
1951 | TR | TS | ABHIYR HgE] faTer wgar T%g? 8 248 0.6
1952 | TAIERT | gTer gl RIEENI] T%g? 16 148 0.350
1953 | IR | ST | ABHIYR HgE] qehlel HEdT Taég? 8 248 0.6
1954 | TERRTY | AT dTd] arfgear <d Twéi? 22 290 0.4
1955 | TERIRTY | T HARYR WIerR ufsd Twéi? 135 181 0.5
1956 | TERIRTY | T IRYR g urIard Taég? 35 204 0.6
1957 | TETERTY | ITRT Tl 47 |31S9 |E@ Taég? 112 410 0.3
1958 | IR | e JARYR IR ik Taég? 24 1018 0.4
1959 | FERRTY | AT AT NTHYR SEICERCINCID Twéi? 60 185 0.5
1960 | TIRIIRT | T NI REINEERIN T%g? 12 38 0.19
1961 | TR | TS | WHIGR gl RToi~ Al @) 89 0.7
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1962 | TERRTY | AT AFHYR HESl S dh) 14 418 0.9
1963 | TETARTYT | T ATDHYR gR¥eT Hsd Twéi? 74 418 0.9
1964 | TREERTY | SgETET ERIIEN RSIER]] T%g? 40 123 0.350
1965 | TERRTY | AT dToTgR U= AR (g Taég? 85 388 0.7
1966 | TR | T ATTHYR fqwpaTer <dr T%g? 34 76 0.10
1967 | TERRTY | AT dTeTYR famirg wed Twéi? 88 388 0.9
1968 | TR | AT dTd] Ejﬁé‘ﬁ Twéi? 165 495 0.675
1969 | TR | TS | WHIGR fAgE] ERIEECUIN T%g? 79 376 03
1970 | TREERTY | SgETET TR RMEETET <dl T%g? 92 0.250
1971 | TTERTT | T AR ar Taég? 120 29 0.5
1972 | R | e AT R ICEICE R Taég? 102 81 0.3
1973 | TERRTY | e EERIIK 50 QAT <l Twéi? 83 199 0.1
1974 | TERRTY | T HEIgR 50 |@reredT <dl xadl (@0 83 199 0.1
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1975 | TERRTY | e EERIIK 50 |faear <t S dh) 83 199 0.1
1976 | TTERTT | TG BT 63 |RTHEROT dicil Taég? 333 1285 0.7
1977 | e | <gTeT SRHT 12 [ERM fa<= T%g? 2820 790 0.5
1978 | IR | e | AWIYR fUesr | 52 |Wienm HEdl T%g? 32 81 0.7
1979 | TRIRIRT | TTET 3T 31 [\g<q aich T%g? 229 774 0.4
1980 | TTETERTY | TET SThSYR] 18 [T XMW T%g? 364 483 0.525
1981 | TTERTT | e SERYR 51 |HIIRM™ a1eq Taég? 88 87 0.4
1982 | TERRTY | e fehROTgR A1 A Twéi? 186 821 0.750
1983 | erRdIeRTY | TG STHSYX] 18 |&Xad AEl Tqég? 175 272 0.4
1984 | TERRTY | e YT 19 @< XM Twéi? 27 1053 0.10
1985 | TERRTY | AT SThSYR] 18 |3TH0T HEdl Taég? 178 278 0.225
1986 | IR | TG arey 3T g T%g? 263 283 0.5
1987 | STRTA | SgTaT SN 19 [RMRER UrEdT= o @ 869 0.2
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1988 | TR | e TRTHYR 109 [SITHa®T <dl Sead) | 8 0.3
o : o T (@

1989 | TTERINTT | UG SNIEEN AT AT o) 475 170 0.3

1990 | TTETERTY | JTRT SfrerT 100 GICUIE] vt (@1 346 434 0.015
RIRSCKCY
: Rl (@

1991 | TTETERTY | TRT frerT 100 rar =ish P, 354 439 0.03

1992 | TTHRTY | JITGT frerT 100 JRHTER AT vt (@1 345 434 0.005
RIRSCKCY
. T ({1

1993 | TTHRTY | JITGT frerT 100 =4 A P, 359 61 0.21

1994 | TTHRTY | JITGT e 100 B HiSH vt (@1 359 60 0.005
RIRSCKCY

1995 | TTETRTY | JITGT et 100 STTed Aisl vt (@1 359 66 0.01
dre )
: Xl (1

1996 | TTETRTY | JITGT frerT 100 RNIKIE P, 42 66 0.02

1997 | TTEERTY | TGT frerT 100 Handt | vt (@1 318 466 0.02
RIRSCKCY

1998 | TTHTRTY | JTGT e 100 REAUKIE] vt (@1 123 68 0.06
dre )

1999 | TTETERTY | JITGT e 100 LaNGEIE] vt (@1 352 435 0.01
RIRSCKCY

2000 | TRITART | AT e 100 AR, i vt (@1 352 432 0.02
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2001 100 D! AT P, 358 459 0.025
2002 100 S A T%g? 323 426 0.0025
2003 100 AR Al T%g? 356 425 0.025
2004 100 [EtENIIE] T%g? 311 720 0.02
2005 100 ENEICIE| T%g? 358 428 0.09
2006 100 GEMEIES T%g? 325 2075 0.015
2007 100 e ATSH T%g? 56 408 0.005
2008 100 TREY High T%g? 336 418 0.02
2009 100 qreizer Al T%g? 56 408 0.025
2010 100 wial wish T%g? 57 408 0.005
2011 100 NEREIE] T%g? 57 408 0.025
2012 100 NEECIGIE T%g? 657 437 0.07
2013 100 RRERIIE] v (@0 332 415 0.005
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2014 100 EICEECIIE] S d) 336 418 0.005
2015 100 EREIRIE T%g? 325 416 0.01
2016 100 EAICIE| T%g? 318 414 0.01
2017 100 g sl T%g? 351 462 0.01
2018 100 Afgs #ish T%g? 332 415 0.01
2019 100 ERINEIE] T%g? 338 4464 0.003
2020 100 T Al T%g? 325 416 0.01
2021 100 REERIIE] T%g? 359 63 0.02
2022 100 BicRIEl T (@ 340 417 0.03
T
2023 100 GIGIIE) T (@ 123 67 0.04
T
2024 100 NEECIGIE T%g? 59 63 0.02
2025 100 ol i T%g? 54 62 0.01
2026 100 EEIEl v (@0 353 445 0.04
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2027 100 EIE P, 356 425 0.005
2028 100 HAER gl T%g? 346 434 0.015
2029 136 ECHEIRIE| TQ;%?

2030 136 a1 Arsh T%g?

2031 136 EUSCICIED T%g?

2032 136 XMH Q™ Tqég?

2033 100 Mg Aish T%g? 16 405 0.01

2034 BICIIE] TQ;%?

2035 100 ERELURIE] T%g? 359 60 0.025
2036 100 STAT A Tqég? 360 74 0.02

2037 100 Uy Aish T%g? 332 415 0.01

2038 100 EaINCIE T%g? 344 423 0.015
2039 100 g Arsh vt (@1 356 425 0.0125
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2040 | TRETART | AT frerT 100 INEEENEIF P, 335 465 0.06
2041 | FRETART | AT SfrerT 100 RCSURIE| T%g? 318 486 0.015
2042 | FREART | AT SfrerT 100 UGEIE T%g? 318 466 0.0035
2043 | FRETART | AT frerT 100 ERCIIE| T%g? 318 466 0.0035
2044 | TRETART | AT frerT 100 ERIRIE] T%g? 318 466 0.0035
2045 | FRETART | AT frerT 100 ERIIE T%g? 334 406 0.01
2046 | TRETART | AT frerT 100 SISCIRCIE) Tqég? 16 405 0.01
2047 | TR | ETET YT 100 qred Al T%g? 359 60 0.005
2048 | TRETART | AT frerT 100 A1 @i T%g? 355 442 0.06
2049 | FRETART | AT frerT 100 qge Arsh Tqég? 318 466 0.02
2050 | TRETART | TS ESISIE 116 EULRIE] Twéi? 9 286 0.03
2051 | FREART | AT ESISIE 116 IEERT A Twéi? 8 249 0.04
2052 | FREART | AT ESISIE 116 ECEIRIE] v (@0 12 288 0.05
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2053 | FREART | TS ESISIE 116 qag sl P, 5 285 0.04
2054 | FRETART | TS ESISIE 116 ERINEIE] Twéi? 9 284 0.03
2055 | FRETART | TS ESISIE 116 I HiEh Twéi? 25 281 0.03
2056 | TRITART | AT A 136 R High T%g? 338 1597 0.05
2057 | TEMERT | GITRT I 136 G| T%g? 9 1604 0.02
2058 | TRITART | AT A 136 Afews ™ T%g? 9 1604 0.02
2059 | TRITART | AT I 136 ST T Tqég? 5 1602 0.04
2060 | TRITART | AT I 136 IARABT T Tqég? 5 1602 0.04
2061 | TRITART | AT I 136 EESIE] Tqég? 5 1602 0.04
2062 | TR | T A 136 BIRa ™ Tqég? 5 1602 0.03
2063 | TR | T A 136 HRTAR FEdl Tqég? 7 1578 0.02
2064 | TRITART | AT I 136 grex 9 Tqég? 7 1578 0.04
2065 | TRITART | AT I 136 ECECRRIC] vt (@1 7 1578 0.06
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2066 | FRITART | IATST EREIN 115 EIGIKIE ] P, 59 93 0.01
2067 | FRETART | TS EREIN 115 EacIIE] Taég? 59 93 0.01
2068 | TRITART | TS EREIN 115 argd wish Twéi? 59 93 0.02
2069 | TRETART | AT EREIN 115 BIERI gl Twéi? 59 93 0.04
2070 | FRETART | TS EREIN 115 g Arsh Taég? 57 96 0.02
2071 | FREART | AT EREIN 115 SIRIIE| Taég? 18 92 0.04
2072 | FREART | TS EREIN 115 SlicsRIEl Taég? 59 93 0.05
2073 | FREART | TS EREIN 115 SINISICIE Taég? 25 78 0.01
2074 | FREART | TS EREIN 115 qred Al Taég? 25 78 0.01 1/2
2075 | FREMART | TS EREIN 115 gqTe Al Taég? 25 78 0.01 1/2
2076 | TRETART | AT EREIN 115 Siie Arsh Taég? 55 97 0.03
2077 | FREART | TS RITRYR 169 HiTe], #ish Twéi? 74 97 0.01
2078 | TRETART | AT RITRYR 169 LSRIIE vt (@1 74 97 0.01
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2079 | FREART | TS RITRYR 169 R High P, 74 96 0.01
2080 | TRITART | AT RITRYR 169 EEIRIE| Twéi? 74 95 0.01
2081 | TRETART | AT RIFTRYR 169 SRUERKIE] Twéi? 204 345 0.03
2082 | FRETART | TS RITRYR 169 SERRIE Twéi? 61 110 0.01
2083 | TRITART | AT RITRYR 169 EEIE) Twéi? 73 106 0.05
2084 | FRETART | AT RIFTRYR 169 EAICIE| Twéi? 74 95 0.01
2085 | FRITART | AT RITRYR 169 S Twéi? 74 128 0.01
2086 | TRITART | AT RITRYR 169 LEURCIE) Twéi? 74 128 0.01
2087 | FRETART | AT RITRYR 169 T4 A Twéi? 74 128 0.01
2088 | TRITART | AT RITRYR 169 e g Twéi? 66 134 0.1/2
2089 | TRITART | AT RIFTRYR 169 EEeRIEl Twéi? 66 133 0.02
2090 | FRITART | AT RITRYR 169 SR A Twéi? 74 97 0.01
2091 | FREART | AT RITTRYR 169 e Hish vt (@1 74 97 0.01
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2092 | TR | T RETTRYR 169 HEIRIE Sead) 74 97 0.10
2093 | FREART | AT RITTRYR 169 BR] H1sh Twéi? 74 97 0.01
2094 | FREART | AT RIFTRYR 169 [UATS HisH Twéi? 74 97 0.01
2095 | FRETART | AT RIFTRYR 169 IR Twéi? 71 101 0.01
2096 | TRITART | TS RIFTRYR 169 REINIEIE] Twéi? 67 132 0.01
2097 | FREART | TS RIFTRYR 169 Pt S Twéi? 67 100 0.01
2098 | FRITART | TS RITRYR 169 Trorer High Twéi? 74 97 0.01
2099 | FRETART | TS RITTRYR 169 YTl A Twéi? 74 97 0.01
2100 | TRITART | AT RITTRYR 169 bl s Twéi? 68 122 0.01
2101 | FREART | AT RITRYR 169 NNERCIE] Twéi? 78 130 0.01
2102 | TR | gATa RITRYR 169 IGEIRIE] Twéi? 66 134 0.1/2
2103 | TRETART | AT RITTRYR 169 g =ish Twéi? 66 133 0.02
2104 | TREART | AT RITRYR 169 rar wish vt (@1 66 133 0.02
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2105 | FREART | TS RITTRYR 169 YT Hish S dh) 72 138 0.01
2106 | TEERTI | QIR EREELN 161 % il Twéi? 543 603 0.02
2107 | TERERT | QTSI A TYNT 161 T ATed Twég? 543 605 0.01 1/2
2108 | TREART | AT TCAYRI 161 SR A= Twéi? 543 603 0.01 1/2
2109 | TR | RTET @ 47 | DIBE HEAT T%g? 62 615 0.01
2110 | e | <pfer T 47 B HEal T%g? 41 412 0.01
2111 | e | e Gra1 47 gag Hed! T%g? 41 412 0.01 1/2
2112 | TERIRT | pTe @ 47 gATey HEdl T%g? 41 412 0.01 1/2
2113 | TR | e @ 47 | TFREGHY HEAT T%g? 41 612 0.03
2114 | TR | ETEr Qrdr 47 AR HSoT T%g? 62 615 0.10
2115 | TR | <her @rar 47 SESUKES T%g? 41 612 0.03
2116 | TR | e @ 47 s w'an T%g? 47 491 0.06
2117 | e | <pher T 47 o mear | @ g 491 0.06
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2118 47 TS ARl aead) | 4 412 0.03
2119 47 31T Hedl T%g? 41 612 11.00
2120 47 | THEROT wEAl T%g? 90 601 0.03 1/2
2121 47 | FIfdS F8A T%g? 90 601 0.07
2122 47 gHuTe R T%g? 90 601 0.05
2123 47 I Heal T%g? 41 612 0.07
2124 47 | THEER HEAD T%g? 90 601 0.05 1/2
2125 47 e Azl T%g? 90 601 0.05 1/2
2126 47 35 Al T%g? 90 601 0.05
2127 47 | STTCTET HEAl T%g? 80 212 0.03
2128 47 | IR HEQAT T%g? 80 212 0.06 1/2
2129 47 | TRITTS UTRA T%g? 80 212 0.01 1/2
2130 a7 | s om0 AT g 212 0.01 1/2
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2131 49 < el aead) | 2° 30 0.04 1/2
2132 49 M AEal T%g? 40 30 0.04 1/2
2133 49 NHER™Y giad T%g? 7 24 0.04
2134 49 ERISIIEE T%g? 7 24 0.05
2135 49 | ARTIOT HEAl T%g? 7 24 0.05
2136 49 fRsl wgar T%g? 19 25 0.02
2137 49 S RIEE] T%g? 18 29 0.03 1/2
2138 49 EERIIGE! T%g? 42 30 0.06
2139 49 ERIRICE] T%g? 40 30 0.04
2140 49 41 AEar T%g? 27 27 0.01 1/2
2141 49 wAl Hedl T%g? 80 28 0.04 112
2142 49 JHR HEal T%g? 27 28 0.04
2143 49 U W19 vt (@1 40 30 0.03
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2144 | TR | TG gl 49 CICURSIC] Sroaa) | L© 26 0.01
2145 | oI | e IR 49 | areIfeY Ared T%g? 10 26 0.02 1/2
2146 | TR | e IR 49 |  UHUS! HEdll T%g? 14 34 0.05 1/2
2147 | e | e IR 49 RSl T%g? 28 31 0.05 1/2
2148 | TR | RIS RIS 49 GEFSIRICE] T%g? 7 24 0.05
2149 | TR | AT geiigR 49 TR T%g? 7 24 0.05
2150 | AR | AT geiigR 49 REBEZIN T%g? 40 18 0.06
2151 | o | e BRI 49 | Rrgury 7ed! T%g? 40 20 0.06
2152 | R | el iG] 47 | U1 UTHEE T%g? 61 617 0.05
2153 | IR | QAT T 47 | fa<wad H#ea T%g? 62 615 0.10
2154 | TERRTE | T E|E) 47 gITR Hed Taég? 62 615 0.01
2155 | SRR | T E|E) 47 chd Hed Taég? 62 615 0.01
2156 | TR | gATa T 47 NIREIRIST v (@0 62 615 0.01
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2157 | STEIRTE | e EEASIN 108 ENEIE Sead) | 22 57 0.02
2158 | TR | IRTET e 100|  faceft =ish T%g? 3 221 0.02
2159 | STEIRTY | T EEISIN 108 ESIKIE] T%g? 32 56 0.01
2160 | AT | AT EE2IN 108 EEURCIE] T%g? 32 56 0.02
2161 | IR | AT EERINY 108 e Aish T%g? 25 56 0.08
2162 | IR | e TDHNI 108 EEIE]l T%g? 25 51 0.03
2163 | T | R EE2IN 108 S IEl T%g? 25 51 0.01
2164 | AR | IR SThSYR] 18 DI A T%g? 134 881 0.01
2165 | oI | e STHSYR] 18 CISCIGIE) T%g? 134 881 0.01
2166 | AERTY | e STHSYR] 18 | A= Hish T%g? 134 881 0.01
2167 | oreeNT | e STHSYR] 18 |  drded Al T%g? 134 881 0.01
2168 | IERTY | TS e 100  Ruardr #=h T%g? 3 221 0.01
2169 | TR | fTer EECRl| 108 ENIE ol @ o 51 0.02
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2170 e 100 [ERUEIE] aead) | 221 0.01
2171 EETIN]] 100 UEIRIE]D T%g? 25 51 0.01
2172 AT 100| 3ol sl T%g? 3 221 0.01
2173 gellel a9ax | 99 BISIIE]D T%g? 356 572 0.01
2174 gellell g9hx | 99 RRENKIE Tqég? 356 572 0.001/2
2175 gellell ghx | 99 ®1Y Al T%g? 356 572 0.04
2176 gellell gx | 99 | STTeTer A T%g? 356 572 0.01 1/2
2177 gellell g9dx | 99 EERIGIE Tqég? 356 572 0.01 1/2
2178 gellell ax | 99 | Hge Al T%g? 356 572 0.02
2179 gellel a9aR | 99 AR A T%g? 315 572 0.02
2180 gellell 7R | 99 U High T%g? 356 572 0.02
2181 gellell 7R | 99 AR Al T%g? 356 572 0.02
2182 gellell gx | 99 | TR AE o @0 e 572 0.01 1/2
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2183 glell R | 99 | RERR AN |, &) | 138 324 0.02
2184 gellell g | 99 | TR A T%g? 356 572 0.02
2185 gellell gdx | 99 CEIE T%g? 133 325 0.02
2186 gellell 7R | 99 BT Hish T%g? 356 572 0.02
2187 gellell gx | 99 | Rywur Afsh T%g? 315 572 0.02
2188 gellell gx | 99 | STIZER #ish T%g? 356 573 0.03
2189 gellell gx | 99 | #HETad ATl T%g? 356 572 0.03
2190 gellell 7R | 99 Grex Hish T%g? 356 572 0.05
2191 gellell 7R | 99 e AT T%g? 356 572 0.011/2
2192 gellell 7R | 99 PIfTD HiEh T%g? 356 572 0.01
2193 gulell g9@) | 99 | 4T & wamEE T%g? 356 572 0.02
2194 gellell 7R | 99 RIEIE T%g? 356 572 0.01 1/2
2195 gellell 7R | 99 TR o @0 e 572 0.01
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2196 gellell ghx | 99 EISECA IR froad) | 39 572 0.02 1/2
2197 gellell g9dx | 99 g AT qug‘r? 356 572 0.02 1/2
2198 gellell 7R | 99 i A T%g? 356 572 0.02 1/2
2199 gellell ghx | 99 T AT qug‘r? 356 572 0.02 1/2
2200 gellell 7R | 99 EUEIIE T%g? 356 572 0.02 1/2
2201 gellell 7R | 99 IRY AT T%g? 133 324 0.25
2202 gellell 7R | 99 A < T%g? 356 521 0.01
2203 gellell R | 99 | < <faem T%g? 356 521 0.011/2
2204 gellell 7R | 99 | w=Rad <faem T%g? 356 521 0.02 1/2
2205 gellell 7R | 99 ferggeT it T%g? 133 324 0.02
2206 gellell 7R | 99 Taard AtEh T%g? 133 324 0.03
2207 gellell 7R | 99 arepey, S T%g? 133 324 0.04
2208 gellell 7R | 99 farsy wtsh o @A gy 324 0.03
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2209 gellell 7R | 99 T i Seaa) | 139 324 0.03
2210 gellell 7R | 99 et At T%g? 133 324 0.03
2211 gellell 7R | 99 7y High T%g? 133 324 0.03
2212 gellell 7R | 99 erad A T%g? 133 324 0.03
2213 gellell 7R | 99 fRyarely #tsh T%g? 133 324 0.02
2214 gellell 7R | 99 7y High T%g? 133 324 0.02
2215 gellell 7R | 99 Sfrg wEh T%g? 133 324 0.02
2216 gellell 7R | 99 AR i T%g? 133 324 0.02
2217 gellell 7R | 99 BT A T%g? 133 324 0.01
2218 gellell 7R | 99 RISTaT A T%g? 133 324 0.01
2219 gellell gx | 99 | <raRar Afsh T%g? 133 324 0.02
2220 BIERILIE 140 <rer At T%g? 158 441 0.03
2221 AR 140 Jad A vt @ 439 0.01
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2222 140 SRIEZKIE] S dh) 158 442 0.02
2223 140 GISEIE T%g? 152 442 0.03
2224 140 RIGIRCIE] T%g? 158 440 0.05
2225 140 ST Hish T%g? 158 442 0.03
2226 140 EIEEIE T%g? 34 440 0.02
2227 140 wgad AiEl T%g? 151 380 0.01
2228 140 CINIRIE] T%g? 149 382 0.01
2229 140 NISCIRCIE) T%g? 159 380 0.01
2230 140 SIRIRER ATeh T%g? 144 378 0.05
2231 140 ERIKIE] T%g? 149 382 0.05
2232 140 BT A T%g? 148 385 0.03
2233 140 IR T%g? 145 367 0.05
2234 140 20T High v (@0 150 441 0.02
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2235 140 RIS S dh) 144 381 0.01
2236 140 BIGSISRIE T%g? 151 379 0.02
2237 140 gc Alsh T%g? 158 442 0.05
2238 140 SEIENCIIE] T%g? 158 441 0.02
2239 140 EIRIEl T%g? 158 442 0.04
2240 140 LUK IE] T%g? 148 365 0.03
2241 140 EEIE T%g? 151 379 0.02
2242 140 TRy Al T%g? 4 22 0.03
2243 140 EURCRIGIE T%g? 151 369 0.02
2244 140 arqe Ash T%g? 151 379 0.02
2245 140 CERCRICIE| T%g? 147 366 0.02
2246 140 EISMEIE] T%g? 156 367 0.03
2247 140 ST Hish v (@0 147 366 0.02
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2248 | TERRTE | TS AR 140 T A Qe | 148 365 0.03
2249 | AR | ET | gEllell g | 99 e Hish T%g? 356 692 0.07
2250 | AR | eT | gEllell g | 99 et wish T%g? 332 722 0.11
2251 | AR | Eer | gellell aFaR | 99 TR i T%g? 332 722 0.11 12
2252 | e | e | gellell aaR | 99 ol il T@g? 216 723 0.01 1/2
2253 | AR | TS AR 140 it wigh T%g? 144 381 0.01
2254 | TERRTY | TS AT 140 g A T%g? 154 391 0.02
2255 | TERRTE | TS AR 140 T i T%g? 147 390 0.08
2256 | AR | TS AR 140 B i T%g? 148 365 0.03
2257 | TR | TS AR 140 Bl Tq T%g? 152 389 0.04
2258 | TERRTE | TS AR 140 et T%g? 69 456 0.04
2259 | TR | TS AR 140 i < T%g? 244 899 0.17
2260 | TRITART | AT SThSYRI 18 3y fpeiR areq vt (@1 175 156 0.02
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2261 | TR | TG | SARTSA b | 36 | rid el wrar Sroaa) | L© 55 0.07
2262 | FEART | AT NP 64 SRIIREIR] T%g? 369 1603 0.03
2263 | TR | e IR 64 BB A T%g? 53 223 0.02
2264 | FREART | AT INEIG 69 dteg aicht Twéi? 250 898 0.04
2265 | TERRTE | TS NICE] 166| Rra ware A T%g? 88 175 0.08
2266 | TRITART | AT INEIGI 69 31 wear Twéi? 250 898 0.12
2267 | FERIRTY | TR INEIGI 69 fawpea <m T%g? 250 898 0.12
2268 | TRERIRTY | e rsar 52 Prfip weal T%g? 16 137 0.01 1/2
2269 | TRERIRTY | e IR 52 RTERET e T%g? 16 134 0.01
2270 | IR | e frsar 52 EREY el T%g? 17 137 0.01
2271 | rERIRTY | <gETeT firser 52 < e T%g? 44 133 0.03 1/2
2272 | IR | e rser 52 AET UER T%g? 44 133 0.07
2273 | IR | e frser 52 NGECEER| (@ 129 0.01 1/2
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2274 52 S a1ed S dh) 50 132 0.9 1/2
2275 52 GIRSISRESI T%g? 59 131 0.05
2276 52 I el T%g? 16 137 0.03
2277 52 e Hed! T%g? 44 133 0.01 1/2
2278 52 BRG] Tqég? 29 139 0.07 1/2
2279 52 gell weal T%g? 44 133 0.08
2280 52 IGEINGEES T%g? 44 133 0.02 1/2
2281 52 Ho Fwfoar T%g? 16 137 0.03 1/2
2282 52 BRI TQ;%? 16 135 0.03
2283 52 RICURCEN ) T%g? 59 131 0.05
2284 52 TRHTER UG T%g? 32 130 0.03 1/2
2285 52 REISERICERI] T%g? 59 131 0.05
2286 52 el area vt (@1 29 139 0.07
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2287 | ERIRTY | e rsar 52 ECICIGED)] Soa) | 18 137 0.08
2288 | ERIRTY | e I 52 I HEdr T%g? 59 139 0.41/2
2289 | TERIRTY | e frser 52 e T%g? 44 133 0.06 1/2
2290 | TR | AT | TATSTYR QTEST | 53 RICUCES] T%g? 67 115 0.088
2201 | ST | TGl | ISTYR QrEsT | 53 <IRT FEl T%g? 64 139 0.03 1/2
2292 | IR | AT | TATSIYR QTEST | 53 e Hedl T%g? 64 139 0.04 1/2
2293 | TR | ATl | TIOIYR QrEsT | 53 RRRERER T%g? 67 115 0.04
2294 | IR | AT | TATSTYR QTEST | 53 EEEEE T%g? 64 139 0.011/2
2295 | IR | AT | TATSTYR QTEST | 53 G HeEd! T%g? 47 128 0.03 1/2
2296 | IR | QAT | TATSTYR QTEST | 53 @l el T%g? 64 139 0.02
2297 | IR | AT | TATSIYR QTEST | 53 TRE IR T%g? 209 306 0.02 1/2
2298 | IR | AT | TATSTYR QTEST | 53 RICERAE T%g? 46 230 0.01 1/2
2299 | IR | AT | TATSTYR QTEST | 53 Breoft a1 ol @ g 230 0.01/3
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2300 | TR | AT | TATSTYR QTEST | 53 S 3T Sgad) | 48 230 0.01 1/2
2301 | STEIRRTY | AT HHAAYR 43 Rftear zi T%g? 54 319 0.01 1/2
2302 | TERERTI | IR HHAAYR 43 Riireay e T%g? 32 320 0.02
2303 | IR | T T 43 3 < T%g? 132 154 0.013
2304 | FREART | AT RN 64 @l A Twéi? 369 1535 0.02
2305 | TRITART | AT He YN 64 CEICRCIE] Twéi? 369 1983 0.05
2306 | TRIRIRTY | AT HeRIYR 64 Herg Al T%g? 369 1983 0.05
2307 | TERRTY | AT HE YR 64 RISIE] T%g? 179 1985 0.04
2308 | AT | AT RTOTYR 183 EREZIN T%g? 176 1141 0.02
2309 | TRETART | AT YR 23 REZEURERI] Twéi? 31 65 0.12
2310 | FREART | AT XYY 23 BHT e Twéi? 31 65 0.03 1/2
2311 | TERRT | AT GRYR 23 Horchl HET! T%g? 31 65 0.03 1/2
2312 | TERERI | IRl XYY 23 ERICIE RG] vt (@1 31 65 0.04
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2313 | TERERI | IRl XYY 23 farer wer S d) 31 65 0.06
2314 | TERERT | QIR XYY 23 el wEdl Twéi? 38 76 0.03
2315 | TERERTI | QIR XYY 23 AT HEdl Taég? 23 64 0.02
2316 | TEERTI | QIR XYY 23 CIECHREN] Twéi? 23 65 0.03
2317 | TERERI | IRl XYY 23 THER HEd! Taég? 31 65 0.04
2318 | STEIRRTY | ATl GRYR 23 fawea e T%g? 23 64 0.08 1/2
2319 | THERRII | QIR XYY 23 SIS el Twéi? 31 65 0.04
2320 | TERRT | AT GRYR 23 I el T%g? 31 65 0.02 1/2
2321 | TERERT | IRl XYY 23 =G HE! Twéi? 23 64 0.04
2322 | TERERTI | QIR XYY 23 A wEe Twéi? 23 64 0.06
2323 | TERRT | AT GRYR 23 S HEdl T%g? 31 65 0.03 1/2
2324 | TERRTY | AT GRYR 23 g T%g? 31 65 0.01 1/2
2325 | TERERTI | IRl XYY 23 T HEdl vt (@1 23 64 0.05
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2326 | TTEIRRTY | AT GRYR 23 GRCIECH Sgad) | 23 64 0.01 1/2
2327 | TERERT | QTR XYY 23 AT HEdl Taég? 23 64 0.06
2328 | FRETART | AT XYY 23 RUECIE] Twéi? 31 65 0.02 1/2
2329 | FREART | TS XYY 23 &=, Hedl Twéi? 31 65 0.01
2330 | TREIRIRTY | TS YR 23 faeadl wee T%g? 285 523 0.01 1/2
2331 | e | e SRR 23 P AR T%g? 285 525 0.01 1/2
2332 | TTEIRRTY | AT GRYR 23 AR AT T%g? 285 520 0.02
2333 | STEIRRTY | ATl GRYR 23 ERCRIEEI T%g? 255 532 0.02
2334 | FRERRTI | AT YR 23 T UTAET Tqég? 285 528 0.05
2335 | FREART | TS HelHYR 16 I AT UTIaT T%g? 285 534 0.03
2336 | TREART | AT HelHYR 16 IMIAR YTAATT T%g? 285 530 0.02
2337 | FREART | AT HelHYR 16 ESICICIKCIN] Twéi? 285 531 0.05
2338 | TRETART | TS HelHYR 16 <Y T vt (@1 285 531 0.01
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2339 | FRERRT | AT YT 19 HIARM BTaR S d) 3 452 0.01
2340 | IR | AT YT 19 CISCERCE] Twéi? 3 452 0.02
2341 | rERIRTY | <gEiTeT Hel 61 s der T%g? 110 584 0.02
2342 | TERERT | QIR TIDISIE T |Tg Tqég? 48 138 0.01 1/2
2343 | FRERRT | AT e 58 IFERE A Tqég? 258 1702 0.08
2344 | e | e | ST fheHYR | 73 <qifr & T%g? 271 1309 0.1/2
2345 | FRERIRT | SRR BRI 72 AR e T%g? 350 1866 0.03 1/2
2346 | eI | HTaT SRR 14 & i T%g? 350 | 2466 0.04
2347 | FREART | AT 3IK3L! 72 < AR T%g? 369 1495 0.02
2348 | TERRTY | AT HeTHYR 16 ST T8 T%g? 846 1116 0.06
2349 | TR | gATa JATTIR 158 HRT T T%g? 88 640 0.01
2350 | TR | gATa JATTIR 158 T I T%g? 88 640 0.03
2351 | TRETART | AT JATTIR 158 et ifrr vt (@1 88 640 0.01
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2352 | IR | TR JATTIR 158 MSEIINCIET Soaz) | &8 640 0.03
2353 | TR | gATa JATIR 158 ISl TSI T%g? 88 640 0.03
2354 | TR | gATa JATIR 158 ST Yol T%g? 88 640 0.03
2355 | TR | gATa JATTIR 158 darer Afrar T%g? 88 640 0.03
2356 | TR | gATal JATIR 158 IR gTAa T%g? 88 640 0.01
2357 | TR | gATa JATTIR 158 TG YA T%g? 88 640 0.03
2358 | TR | gATa JATTIR 158 el UAT T%g? 88 640 0.03
2359 | TR | gATa JATTIR 158 ERCICIREIR T%g? 88 640 0.01
2360 | TR | GATa JATTIR 158 | Y ureAT T%g? 88 640 0.03
2361 | TR | gATa AR 158 ERIRCIKEIn T%g? 88 640 0.03
2362 | TR | gATa JATTIR 158 Sl UraT T%g? 88 640 0.03
2363 | TR | gATa JATTIR 158 T AT T%g? 88 640 0.04
2364 | TREMART | AT JATTIR 158 | <RI rEr vt (@1 88 640 0.04
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2365 | TR | GATa JATTIR 158 Ul g Soaz) | &8 640 0.03
2366 | TR | GATa JATIR 158 B YA T%g? 88 640 0.04
2367 | I | R EREEN 73 ofierer ferary T%g? 108 1312 0.20
2368 | TRATART | AT BEENIEN 64 Hio Aferar Twéi? 369 2052 0.05
2369 | TRITART | AT GRIE 59 qrfeifes wgd T%g? 198 523 0.05
2370 | TR | TS GINES) 72 RECREUR) T%g? 350 1836 0.05
2371 | FEART | TS 3IR3L! 72 I T%g? 350 1750 0.04
2372 | IR | e Bl 63 AR T T%g? 274 1293 0.03 1/2
2373 | TERERT | IRl BT 63 Bl el T%g? 274 1293 0.03
2374 | TERERT | QIR BT 63 e <t T%g? 278 1293 0.03
2375 | TERERTI | QIR B 63 % TR T%g? 272 1689 0.01/2
2376 | TEERTI | QIR STHSYRT 18 R e T%g? 134 885 0.01
2377 | FEART | TS RTHYR 75 [ECIEESIC) vt (@1 118 7 0.05
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2378 | TRATART | AT HET 61 AR el Sroa ) 113 194 0.10 1/2
2379 | TR | TS R 77 AT BT el (@ o 321 0.03
dre )
2380 | TERRTE | TS R 77 T Frer el (@ o 321 0.03
dre )
2381 | TR | TS R 77 S BTt el (@ o 378 0.02
RIRSCKCY
2382 | AR | TS ART 77 BT BrST vt (@ 242 379 0.03
RIRSCKCY
2383 | TR | TS R 77 o e | @R e 283 0.06
RIRSCKCY
2384 | AR | TS R 77 forT BT el (@ 378 0.03
RIRSCKCY
o ¢ o AT (.
2385 | TEART | ITET GINBIE] 69 CIIRCC] S ) 150 898 0.08
o ¢ o . |RER @
2386 | TR | AT RINSIGI 69 TR HieHe At ) 250 898 0.02
o ¢ o . AT (.
2387 | STEIARTY | AT GINBIR] 69 F10 wferr S ) 192 900 0.04
o ¢ o . XA (.
2388 | TR | AT GINBIE] 69 REER-ACIN]] S ) 250 898 0.06
o ¢ o XA (.
2389 | STEIARTY | AT ECEASIE 86 INCENESIC) S ) 58 138 0.02
2390 | TR | el Rigra 87 el <&@ vt (@1 326 217 0.04
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2391 | FREART | AT 3N 136 ESCRE S dh) 7 1578 0.06 1/2
2392 | TR | gATa JATIR 158 T fa T%g? 105 764 0.14
2393 | FREART | AT ARICTHYR 109 PERART |G T%g? 36 34 0.02
2394 | TR | FgEATE HTETYR 91 TR A T%g? 133 121 0.04
2395 | TERTA | TR AR 91 TeFard) High T%g? 133 127 0.03
2396 | ERTA | TEATE HTEYR 91 ol AfEh T%g? 133 121 0.03
2307 | ERTA | ST HTEYR 91 el e T%g? 133 121 0.08
2308 | ERTA | TR HTEYR 91 S IE T%g? 133 121 0.01
2399 | FREART | TS STTYR 90 wMfa= wigh Twéi? 14 662 0.05
2400 | FREART | AT STNTYR 90 GRT High Twéi? 41 662 0.05
2401 | TERART | AT STNTYR 90 [ERRECIE] Twéi? 41 659 0.01
2402 | FEART | AT SITYR 90 NEURIE Twéi? 26 664 0.05
2403 | FREART | AT STRTYR 90 i High vt (@1 26 664 0.02
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2404 | FEART | AT STTYR 90 URHTER Al S dh) 26 664 0.02
2405 | TERRTY | AT SITYR 90 STg Al T%g? 2 660 0.03
2406 | TRETART | AT SITYR 90 [SSBURIES Twéi? 2 660 0.03
2407 | FREART | AT STTYR 90 areTet Aish Twéi? 2 660 0.002
2408 | FRETART | AT STTYR 90 areTet A Twéi? 2 660 0.002
2409 | FREART | TS STNTYR 90 CESURIE | Twéi? 39 663 0.02
2410 | TERERT | QIR STTYR 90 R A T%g? 39 663 0.02
2411 | TR | el SIRTYR 90 regel Hish Twéi? 38 666 0.03
2412 | TERERT | QIR STTYR 90 BIRIKIE T%g? 14 670 0.03
2413 | TERERII | QIR SITYR 90 o7 High T%g? 14 670 0.03
2414 | TERRT | QIR SITYR 90 ERUIE T%g? 14 670 0.03
2415 | TERERTI | QIR SITYR 90 eIReR A T%g? 14 670 0.03
2416 | TREART | AT STTYR 90 CICTIE] vt (@1 36 672 0.05
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2417 | TERERT | QIR STTYR 90 [ESEIIE P, 16 674 0.02
2418 | FEART | TS STTYR 90 R A Twéi? 16 674 0.02
2419 | TERERT | QIR SITYR 90 NECRIEIE] T%g? 16 674 0.02
2420 | TERERT | QIR STTYR 90 3FRaT <41 T%g? 16 673 0.06
2421 | FEART | TS STTYR 90 Fifcie A Twéi? 28 676 0.01
2422 | TERERT | QIR STTYR 90 SicERIE | T%g? 28 676 0.01
2423 | FEART | AT STTYR 90 e A Twéi? 28 676 0.01
2424 | TERERT | QIS STTYR 90 ERER ATEd T%g? 28 676 0.013
2425 | FREART | AT STTYR 90 ATE Hish Twéi? 28 606 0.06
2426 | TR | QI SIRTYR 90 ESCERIE] Twéi? 28 676 0.016
2427 | TERERT | QIR SITYR 90 TRATT Hish T%g? 28 676 0.03
2428 | FEART | AT STTYR 90 Ho q&T <4 Twéi? 28 676 0.03
2429 | STEIRRTY | AT SITYR 20 S High @ g, 677 0.02
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2430 | TERERT | QIR STTYR 90 roTT sl P, 34 677 0.02
2431 | FEART | AT STTYR 90 EEIRIE Twéi? 34 677 0.02
2432 | TR | el SIRTYR 90 [RERIE Twéi? 26 668 0.04
2433 | TERERT | QIR STTYR 90 A < T%g? 39 664 0.02
2434 | TERERT | QIS STTYR 90 Hirer el T%g? 41 656 0.05
2435 | FREART | AT STTYR 90 areied Hish Twéi? 41 656 0.05
2436 | TREART | AT STTYR 90 PrereaR sl Twéi? 41 656 0.05
2437 | TR | e SIRTYR 90 ESCERIE] Taég? 16 655 0.015
2438 | TEERT | IR STTYR 90 TS, High T%g? 16 655 0.05
2439 | FEART | AT STTYR 90 ST Hish Twéi? 16 655 0.015
2440 | FREART | AT SITYR 90 RACHURIE] Twéi? 16 655 0.015
2441 | FTEART | AT SITYR 90 [GEIIE] T%g? 16 655 0.015
2442 | FHERT | AT STRTYR 90 R High vt (@1 16 655 0.015
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2443 111 T Il seaa) | 470 1998 0.02
2444 111 fTT et Tqég? 595 1992 0.035
2445 111 g et Tqég? 470 1990 0.025
2446 111 AT, BIST Tqég? 595 1993 0.01
2447 11| FRIATIT BIST T%g? 595 1992 0.025
2448 111 G Bl T%g? 595 1992 0.015
2449 111 e DIl T%g? 513 1996 0.025
2450 111 39 drer T%g? 595 1992 0.005
2451 111 31U BTeT T%g? 620 1999 0.01
2452 111 fam drer T%g? 492 1994 0.02
2453 100 Tl Bl T%g? 268 989 0.03 1/2
2454 100 AT BrST T%g? 168 989 0.01
2455 100 faud arer vt (@ 268 989 0.01
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2456 | erdreT | e e 100 HTR T Srad) | 140 1038 0.02 1/2
2457 | TR | e STreT 100 CIGEEASH] qug‘r? 140 1038 0.02 1/2
2458 | AR | TS g 11| BIEROT BIST T%g? 620 1992 0.04
2459 | TERRTY | TS g 111 TRd BleT T%g? 595 1992 0.01
2460 | TERRT | IRTET JRAT 12 | 9= UgaE qug‘r? 1203 4000 0.03
2461 | IR | ETET JRAT 12| FIC uTHaT qug‘r? 1203 | 4000 0.03
2462 | IR | e IRIGIYR 107 Hiqar a1 Tqég? 57 16 0.02 1/2
2463 | TERRTE | TS g 111 ECRICIS T%g? 542 1810 0.02 1/2
2464 | TERRTE | TS SMfHgA 111 <A BrST T%g? 542 1810 0.02
2465 | TERRTE | TS g 111 BT BIST T%g? 511 820 0.01
2466 | TERRTY | TS g 111 AT BlsT T%g? 511 1808 0.02
2467 | TERRTE | TS g 111 BTH DIl T%g? 511 1808 0.02 1/2
2468 | TERRTE | TS g 111 A DSl vt (@ 511 1808 0.02
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2469 | TERIRTY | e g 111 =T Prer e ) 511 1808 0.02
2470 | TERRTE | TS g 11| TRHTR BIST T%g? 511 1808 0.02
2471 | erdrem | e ANibg 111 afe BreT T%g? 511 1808 0.04
2472 | erdreRT | e ANibg 111 Y BT T%g? 511 1808 0.03
2473 | erdreT | e ANibg 111 I3, BIST T%g? 511 1808 0.03
2474 | TERRTY | IETST SRR 111 AR BleT T%g? 511 1808 0.03
2475 | TERRTE | TS e 111 BTl DleT T%g? 470 1990 0.02 1/2
2476 | AR | AT hcexX 21 Traellel ITad Twéi? 12 132 0.03 1/2
2477 | IR | e Heex 21 TR Ireq T%g? 12 132 0.03 1/2
2478 | TR | ATl HCTHYR 16 | ¥ UrEE T%g? 733 | 4369 0.06
2479 | TR | ATl HCTHYR 16 goil <4l T%g? 760 460 0.0 12
2480 | TR | ATl HCTHYR 16 | X9 gTE G T%g? 842 115 0.02
2481 | TERERTI | QIR goal 22 DIered <dl v (@0 82 211 0.05
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2482 | TR | ATl TR 27| dofed AR Soaa) | 108 887 0.02
2483 | AERTY | e SEN 167 B B T%g? 107 753 0.02
2484 | STEIRRTY | AT SEN 167 PTE TS T%g? 107 754 0.03
2485 | AR | e SEN 167 ARGl BT T%g? 100 519 0.02
2486 | TR | QI RER 167 qred MY Twéi? 100 755 0.02
2487 | R | TS NIGE]] 166 T[T Uy T%g? 93 123 0.01
2488 | IR | TR e AlD] 50 CARREAN] T%g? 54 42 0.08
2489 | R | e SUEN 19 i T%g? 111 1231 0.03
2490 | TR | RTST | ARl QR | 37 | AT @Al T%g? 143 244 0.06
2491 | TR | ST | AR RMYR | 37 | Yebad YAIE Ied qug‘r? 27 30 0.02
2492 | TR | ST | AR YR | 37 | HHTRT WO Ared qug‘r? 27 30 0.09
2493 | TR | ATeT | Al YR | 37 | HETed Yo Areq T%g? 27 30 0.09
2494 | SRR | ST | STl RMQR | 37 | fawad) w@g @, 30 0.04
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2495 | SRR | RTST | MAMTA QR | 37 | MG elEl N 30 0.04
2496 | TFRERT | ST | @M AR | 37 | gAY AR T%g? 27 30 0.09
2497 | TR | ST | Al YR | 37 RICINICC) T%g? 27 30 0.05
2498 | R | IRfTeT | SrdfTel YR | 37 EECIEIEE] T%g? 27 30 0.12
2499 | TR | ST | Al YR | 37 CENRICT) T%g? 27 30 0.02
2500 | AERIRTT | AT | 3@l HYR | 37 NIEEIUICT] Taég? 27 30 0.07
2501 | TR | Rfrer | afafirel QR | 37 | offad Al T%g? 68 113 1012
2502 | R | RTeT | SrdfTel YR | 37 go et T%g? 27 30 0.09 1/2
2503 | TR | RTeT | Al QR | 37 | AITel Ared T%g? 61 30 0.09 1/2
2504 | TR | RTST | AR YR | 37 | URHRER T T%g? 61 177 0.08
2505 | TR | ST | Sfafiel YR | 37 BTET ATeY T%g? 27 30 0.9 12
2506 | TETERTI | QIS CRAYR 4 HEIST Iq1ed Taég? 312 60 0.02
2507 | TEERTI | QTSI CRAYR 4 | HATET IR A1ed v (@0 312 60 0.02
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2508 | TTETRT | QT WY 143|  FARIIY A1 Sgad) | 314 856 0.04 1/2
2509 | STEIRTY | e qI D 3 | PfUedca urga= Taég? 40 21 0.01
2510 | orereT | SEfTa RTSTYR 83 ol dfed T%g? 233 | 1399 0.06
2511 | TR | ATl HEIYR 50 | Tfa=e T T%g? 21 125 0.01
2512 | TERERTI | QIR HI D 3 s urgar Twéi? 70 64 0.02 1/2
2513 | IR | e HEHIYR 50 | R T SN Taég? 85 175 0.04
2514 | TETERT | GITRT 3RHT 12 | XTHI=S 9radE T%g? 203 4000 0.02
2515 | TRATART | TS HQUNT 159 ANT YA Twéi? 163 556 0.06
2516 | TR | ATl SEEN 159 ! A T%g? 141 24 0.02
2517 | FREART | TS HQUNT 159 DAl TrIATT Twéi? 141 23 0.03
2518 | TRATART | TS HQUNT 159 @ BISEIG] Twéi? 141 39 0.01 1/2
2519 | TRAART | AT HQUNT 159 RIUREIREIG] Twéi? 141 41 0.02
2520 | FRETART | TS NERN 159| URHYAR URIATH v (@0 141 39 0.011/2
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2521 | TERERTI | QIR NEEN 159 e M Sroad) 141 70 0.01
2522 | TERERTI | QIR NEEN 159 Bl A Tqég? 141 70 0.01
2523 | FREART | TS HQUNT 159 REGESIC) Twéi? 141 40 0.02
2524 | FRETART | AT HQYNT 159 BRI AT Twéi? 141 76 0.02
2525 | FRATART | TS HQYNT 159 WW Twéi? 141 76 0.01
2526 | TRITART | AT HQUNT 159 dfe graaH Twéi? 141 25 0.01
2527 | AR | AT YR 159 BRex ¥ T%g? 164 491 0.03
2528 | TRETART | TS HQUNT 159 ol oHR Twéi? 141 500 0.03
2529 | TR | ATl NEEN 159 e A T%g? 141 508 0.04
2530 | TR | ATl NEEN 159 HIDRICH T%g? 141 507 0.05
2531 | FREART | TS HQUNT 159 ARG 19 Twéi? 5 324 0.03
2532 | TR | ATl NEEN 159 CIECRESIC] T%g? 102 319 0.03
2533 | FRETART | AT NERN 159 TS A1d v (@0 8 323 0.03
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2534 | FRETART | AT SERN 159 IS IS o d) 7 515 0.03
2535 | TrTRT | gATa AR 158 RENISIC T%g? 239 964 0.02
2536 | RERIRTY | e HIOTHYR 87 MR T%g? 210 550 0.04
2537 | o | Eer | OB YR 87 |  STICIY A T%g? 226 556 0.04
2538 | STEIRRTY | AT JRATTYR 7 BRI T%g? 125 240 0.04
2539 | Tl | {Emer | AIOTRR 87 R <dr T%g? 226 553 0.05
2540 | ot | Emer | HIOTBYR 87 | 9T TN T%g? 226 563 0.12
2541 | TR | QTS RTTHYR 16 ST Hsa T%g? 182 463 0.06
2542 | TR | AT MENIEN 64 RISIESIE] T%g? 369 1726 0.04
2543 | Tl | Emer | WIfOTRYR 87 NI T%g? 226 554 0.03
2544 | AERTY | e ATfTHYR 87 e ATed T%g? 234 470 0.03
2545 | AR | TeT | gelella R | 99 | RToTw Rf4_T T%g? 356 521 0.01
2546 | TR | TG TSI 69 T M el (@ g, 898 0.07
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2547 | TR | TG TSI 69 Iel HAsd Sreaa) | 250 398 0.03
2548 | SRR | SETa YR 170|  fewrdl Ag, T%g? 764 | 2001 0.03
2549 | AR | AT SThSYX] 18 ERSIRSED T%g? 175 445 0.12
2550 | TRATART | AT QINEIE] 69 RTHTW T XMH Twéi? 250 898 0.05 1/2
2561 | cREeRT | SEfTa Sig 136 Hio /= Tqég? 298 | 1483 0.06
2552 | TERTA | AT Afbg 111 =40 Afe=T T%g? 53 1473 0.015
2553 | oo | et | SRR [ 114 LIRIRCIE] T%g? 28 1484 0.01
2554 | TERTA | TR b 111 B[ AT T%g? 3 1475 0.005
2565 | oo | et | SAfBg (111 dierR AR T%g? 3 1475 0.005
2556 | o | et | SAfRgE [ 114 EERIE T%g? 3 1475 0.01/2
2557 | TR | TGt MbgT | 111 REIGIE] T%g? 3 1475 0.001/2
2558 | oo | et | SAfBg 111 Rmed Al T%g? 3 1475 0.001/2
2559 | TTTRTE | TGt AMfega  |111]  RyorE A=l (@ 1475 0.01
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2560 111 ST AT Sead) | 3 1475 0.002
2561 111|  F¥8ad #ish T%g? 3 1475 0.002
2562 1M1 gAZeR Hish T%g? 3 1475 0.002
2563 111 faeer #ish T%g? 3 1475 0.02
2564 11| IFEER Aish T%g? 17 1472 0.001/2
2565 111 TTorer sl T%g? 3 1475 0.012
2566 11|  gesTd Azl T%g? 30 1493 0.01
2567 11| HEER Hish T%g? 30 1493 0.01
2568 111 CIRICIE | T%g? 28 1484 0.01
2569 111 LRIcEIE T%g? 28 1484 0.01
2570 111 ST A T%g? 28 1484 0.016
2571 111 [ERUIIE] T%g? 28 1484 0.01
2572 111 RIESIEIED v (@ 1484 0.015
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2573 | TR | QT AfegT |11 PR ARt e o o) | 28 1484 0.008
2574 | FERTA | TRATET b 111 SUCKCIE T%g? 28 1484 0.011
2575 | TERTA | TR by 111 AT Hish T%g? 28 1484 0.004
2576 | TERTA | AR b 1M1 AGET Al T%g? 28 1484 0.02
2577 | FERTA | TRATE Afbg 111 [EREIE T%g? 26 1487 0.01 3/4
2578 | TR | TS HTAYR 92 | RTIRY HSA T%g? 89 229 0.01 3/4
2579 | o | mer | sNfRgA [ 111 EERIE T%g? 30 1493 0.01
2580 | oo | meT | Mg [ 111 59 i T%g? 24 4167 2
2581 | TERTA | TRATET A 11| TR Hish T%g? 3 1475 150
2582 | TERTA | TRATET A 111 g Hish T%g? 3 1475 3
2583 | ERTA | TR A 111 ga1 el T%g? 53 1473 150
2584 | R | Rwer | sNfRgA [111|  ®red AEh T%g? 16 1469 150
2585 | o | WmeT | sNfRgA (111 aTeled AEh @ 1475 2
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2586 111 dre Hish qeaa) | L 1440 1
2587 11| gE<d sl T%g? 40 1471 2
2588 111 EESIED T%g? 3 1475 1
2589 111 CISIRIE | T%g? 3 1475 1
2590 11| ARYT A T%g? 40 1471 2
2591 111 oy Al T%g? 28 1484 1
2592 111 AT A T%g? 28 1484 1
2593 11| IFEER Aish T%g? 28 1484 1
2594 11|  Refaly Aish T%g? 28 1484 1
2595 111 He i Aish T%g? 28 1484 1
2596 111 dre Hish T%g? 28 1484 2
2597 111 CISIEGIE] T%g? 28 1484 2
2598 100 TR v (@0 213 138 450
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2599 | EeRT | e UTAYR 105 ARG e qead) | 32 10 350
2600 | erTERT | i ANibg 111 ST AT T%g? 189 956 10
2601 | TERTA | TEATer CIEaSE 11| HBTER @y T%g? 189 957 8
2602 | TR | e NG 11| =TE UrEa qug‘r? 187 971 7
2603 | erdreT | e ANibg 11| g% URIEE T%g? 189 972 2
2604 | erareRT | e ANibg 111 =0 BRI T%g? 187 973 3
2605 | erareT | e ANibg 111 URA Mg T%g? 187 976 2
2606 | eraTeT | e AMNibg 111 SESSEY T%g? 189 983 4
2607 | TERTA | TR A 111  HEIGR SIHR T%g? 189 979 5
2608 | ERTA | FEATE A 11| MRS AR T%g? 187 969 12
2609 | TR | TG NG 11| MR F&q T%g? 189 990 6
2610 | ERTA | TR g 111 HTell <18 T%g? 189 991 4
2611 | TERTA | TR g 11| TREEE AT @0 g 1016 1
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2612 | erdeRT | e AMNibg M| ERTET AT | oo | 189 1027 2
2613 | erdem | i ANibg 111 7% fa= T%g? 188 1020 3
2614 | TR | i ANibg 11| 9IGT Ared T%g? 189 1022 4
2615 | erdTaRT | i ANibg 111|  WITAd gred T%g? 189 1024 4
2616 | TERTA | TR Afpg 111 WRER ared T%g? 189 1029 2
2617 | TERTA | ST g 11| e urga T%g? 189 946 10
2618 | erdrem | e ANibg 111 PUIINEED T%g? 189 984 2
2619 | TR | ATeT SNfgA 111 CICRIIE]] T%g? 189 1040 10
2620 | TR | GATa EIRCIRT 94 RTET BTaR Twéi? 69 145 4
2621 | TETERT | GITRT 3RHT 12 REZSASE T%g? 203 4925 7
2622 | IR | ST SRHAT 12 AT HaT T%g? 1203| 4925 2
2623 | ERIRTY | TS AT 12 Y, AaT T%g? 1203 4925 11
2624 | AR | ST SRHAT 12 CICICC] A @R 03| a0z 17
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2625 12 Rl e Soaa) | 1208|4925 7
2626 12 TIg |al qug‘r? 1203 | 4925 1
2627 12 ST &l Tqég? 1203 | 4925 8
2628 12 gy HaT qug‘r? 1203 | 4925 3
2629 12 SICESE qug‘r? 1203 | 4925 8
2630 12 AR FaT Tqég? 1203 | 4925 125
2631 12 FIfcid AT Tqég? 1203 | 4925 375
2632 12 GEIEZRIIE qug‘r? 1203 | 4925 425
2633 12 fac=h T T%g? 1203| 4925 550
2634 12 qref¥aR Y T%g? 1203 | 4925 550
2635 12 el et T%g? 1203| 4925 8
2636 12 Aol a1 qug‘r? 1203 | 4925 150
2637 12 EEGEIGE A @R 03| a0z 2
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2638 | TR | TS IRHT 12 GEECINEID] Qe | 1203|4007
2639 | TR | TR 3RAT 12| DA YA T%g? 1203 4007
2640 | TERRTY | TS IRHT 12 ©g_ YA T%g? 1203 | 4630
2641 | TERRTE | TS IRHT 12| AR 9TEaH T%g? 1203 | 4007
2642 | TERTT | TR IRHT 12 CERCI T%g? 1203 | 4100
2643 | AR | ST SRHT 12| &I yrIa T%g? 1203| 4101
2644 | TETERT | GITRT 3RHT 12 ERSIE] T%g? 1203 4049
2645 | TAIERTY | TS SRHAT 12 HAT <41 T%g? 1203| 4099
2646 | STEIRTT | TR IRHT 12 WRA fa= T%g? 1203 | 2827
2647 | ERIRTY | TS IRAT 12 U4 T T%g? 1203 4025
2648 | IR | ST SRHAT 12| dreleeR o= T%g? 1203 | 2227
2649 | STERTT | TR IRHT 12 oy fas T%g? 1203 | 2827
2650 | STERRTE | T EET N 6 ST STl el (@ 42
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2651 | erdem | i fashagR 6 RIECIREE] Sead) | 28 37
2652 | STEIRTY | T EET N 6 | oTIIER QIS Taég? 28 37
2653 | TARRE | TS| AR MEYR | 7 RfSTr <4t T%g? 168 237
2654 | TR | WTeT | AR MEYR | 7 | AAI0 |aT <dl T%g? 125 | 2383
2655 | TARRE | TS| AR MEGR | 7 A0 A3 T%g? 125 238
2656 | TR | TS| AR MEYR | 7 TR MM T%g? 125 233
2657 | TARRE | e[| AR MEYR | 7 I T%g? 146 568
2658 | IR | e JMGYR 155| iR #=ar T%g? 43 335
2659 | IR | e JMGYR 155|  delvaR HEal T%g? 43 235
2660 | ERIRT | TATET JMGYR 155|  Sferd Azal T%g? 43 235
2661 | IR | e JMGYR 155|  STRTA HEgal T%g? 43 235
2662 | TR | i 3IRHT 12| qaqm fa= T%g? 1203 | 2823
2663 | TR | IRTET SRAT 2| st [T @M 0| a7

qryad)




L (@

2664 12| IR 9FR Qe | 1203 3846 2
2665 12 CILIISI T%g? 1203| 3847 3
2666 12 IR 918 T%g? 1203| 3852 3
2667 12 ©g_ ATE Tqég? 1203| 3852 150
2668 12 HAIER A8 T%g? 1203 | 3852 150
2669 12 MR T%g? 1203 | 3857 2
2670 12 HRT Al T%g? 1203 | 3944 3
2671 12|  AFTe e T%g? 1203 | 3926 3
2672 12 qq Tqég? 1203| 3967 4
2673 12 qHC AR Tqég? 1203| 3977 4
2674 12| R gga T%g? 1203| 3988 5
2675 12| <A yIaH T%g? 1203| 3788 6
2676 12| e |0 @ oos | s0e3 5
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2677 12 @ UREE Qe | 1203|3987
2678 12 | MR 9rFaE T%g? 1203 | 3997
2679 12 | I 9 T%g? 1203 3997
2680 12 | YT 9rAAT T%g? 1203 3998
2681 12 | SRATY 9THd qug‘r? 1203| 3999
2682 12 |  HEER urdaH T%g? 1203 3999
2683 12| ®led uNaH T%g? 1203 | 3999
2684 12 B YTEaT qug‘r? 1203| 4005
2685 12| IR OTaT T%g? 1203| 4005
2686 12 | SFIARI UTHa T%g? 1203 4008
2687 12 AT AT qug‘r? 1203| 4009
2688 12 Ry ST T%g? 1203 | 4011
2689 12 qrel 31 @R 03| 2013
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2690 12 KUEKEE Qe | 1203|4017 6
2691 12 RRINASIE T%g? 1203 | 4027 8
2692 12 <A gl T%g? 1203 | 4033 1
2693 12 Ared ey T%g? 1203| 4033 1
2694 12 ER&T Grdy T%g? 1203 | 4033 1
2695 12 REUSIIE T%g? 1203 | 4045 .05
2696 12 I M qug‘r? 1203 | 4045 150
2697 12 RIS Tqég? 1203| 4038 3
2698 12| wdE=s W qug‘r? 1203 | 4046 150
2699 12 GECISIS T%g? 1203 | 4046 5
2700 12 JrEr T%g? 1203 | 4051 1
2701 12 CCI T%g? 1203 | 4051 05
2702 2| wermemx OO @M oos|  a0st 250

Bel
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2703 12 RECUBSIE Qe | 1203|4056 1
2704 12 CUSIIE Tqég? 1203 | 4056 1
2705 12 HRA ATE Tqég? 1203 | 4056 1
2706 12 EECE RIS Tqég? 1203 | 4056 .05
2707 12 fa=rer @18 T%g? 1203 | 4067 1
2708 12 IR |18 T%g? 1203 | 4079 2
2709 12 g S Tqég? 1203 | 4081 3
2710 12 At gf=a T%g? 134 5488 1
2711 12 Y Al T%g? 134 | 5488 6
2712 12 HI0 AR T%g? 134 5499 2
2713 12 NIERSED T%g? 134 5479 2
2714 12 ENIIND] T%g? 134 5505 5
2715 12 SHE & el (@, 5505 350
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2716 | erdrem | e 3RHT 12 CIRIRCIEN qrad) | 1794|5475 2
2717 | TR | e 3T 12 ESERIE T%g? 1794 | 5443 3
2718 | TR | TS IRHT 12| IR ™A™ T%g? 1203 1386 2
2719 | TR | wfTer AT 12 LG ENI] T%g? 1356 | 5440 2
2720 | ordreRT | < AT 12|  rdel yraad T%g? 1203 | 1394 1
2721 | IR | e YRABIYR 13 | WIARM STHY Taég? 81 36 6
2722 | FERRE | QAT | ABHAGHR | 17 | AR e Tqég? 71 105 12
2723 | FERRE | QT | ABHAAR | 17 TR A8l Tqég? 71 116 12
2724 | o | E@er | AR YR 7 SIRUIKIIRSIE] T%g? 89 566 8
2725 | FERIRT | e EET N 6 WA gl Taég? 28 40 4
2726 | IR | TR EET N 6 quel 18 Tqég? 28 44 9
2727 | SRR | e EET N 6 BT BT Taég? 28 41 6
2728 | TR | ST | AR MR | 7 e [ @ g 555 4
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2720 | AR | e | IR MR | 7 ST TS Srad) | 8 562 4
2730 | AR | e | 9IR MR | 7 EolRIE T%g? 89 560 5
2731 | AR | e | @Ik MR | 7 GRISIESIE T%g? 89 550 1
2732 | AR | @mer | GIR MEYR | 7 | RME8IGR (M T%g? 1125 236 3
2733 | TR | Ter | AR MR | 7 R A T%g? 125 239 3
2734 | AR | e | 9IR MR | 7 [EHSEEANC T%g? 125 237 2
2735 | R | el HIOTeHYR 87 BeTdl 3 T%g? 234 284 350
2736 | TEERTI | QTSI HEHGYR 159 RN Tqég? 7 517 5
2737 | SR | RTeT | SfafiTel XMYR | 37 | &R urdard T%g? 57 192 37
2738 | SRR | RTST | SrdfTel RAYR | 37 [ MR YA T%g? 57 192 23
2739 | TR | RTeT | 37Tt RMYR | 37 | AR qRIAT T%g? 57 192 15
2740 | TR | QhreT | 3fafiet XMYR | 37 | g urAa T%g? 57 192 1
2741 | TR | ATeT | S7afiTel RMYR | 37 | RTARIATAT AT @ 192 15
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2742 | SRR | RTeT | SfafiTel MR | 37 UNEASINI] T%g? 57 192 13
2743 | SRR | ATeT | SfdfTel XMYR | 37 | AT OTAaTd T%g? 57 192 58
2744 | TR | QTeT | ATl RMYR | 37 | ARG URAA T%g? 60 185 37
2745 | TR | RATeT | 3rafiTer RMYR | 37 EEINGIN]] T%g? 14 199 37
2746 | FERRIT | AT | AR IMYR | 37 3| qicit Twéi? 14 199 6
2747 | SRR | RTeT | SfafiTel YMYR | 37 ENIESED T%g? 48 164 750
2748 | TR | QST | AT XMYR | 37 | WIET Xolb T%g? 48 164 450
2749 | SRR | RTeT | SfafiTel YMYR | 37 e b T%g? 48 164 450
2750 | SR | RTeT | SfafiTel YMYR | 37 Jele, dicl T%g? 14 199 350
2751 | i | et | orafiel YMYR | 37 YT TN T%g? 14 147 1
2752 | AERRIT | AT | AR IMYR | 37 IER I Taég? 14 147 1
2753 | AERRIT | AT | IR IMYR | 37 ESEEL T%g? 14 147 1
2754 | TR | gder | 3rafiTet YR | 37 arged T T%g? 14 147 1




2755 | AERRIT | AT | AR IMYR | 37 RIEEAGIG| Taég? 55 207 2
2756 | AERIRIT | AT | IR IMYR | 37 CISIIGINI] Tqég? 55 207 1
2757 | SRR | ST | ordfiel AR | 37 [ fhgA WigR T%g? 55 206 950
2758 | TR | ST | 37afiTel RMYR | 37 | g8Hqd UIER T%g? 13 167 750
2759 | TR | ST | 3rafiTer RMYR | 37 CICESER T%g? 13 167 1250
2760 | TR | RATeT | 37afiTel RMYR | 37 RININCED T%g? 53 200 850
2761 | SRR | ST | orafiel RAYR | 37 | W UrgaT T%g? 29 197 650
2762 | TR | RATeT | 3fafiel YR | 37 | HIARM UrId T%g? 29 197 650
2763 | TR | RATeT | 37afiTer RMYR | 37 CISIIGIN]] T%g? 29 194 450
2764 | TR | ST | SAfTer RMYR | 37 | <dl Urgad T%g? 53 172 125
2765 | TEIERTY | TATET IRAT 12 NIEESE T%g? 134 5478 4
2766 | AR | AT AT 12 TR 0Th T%g? 134 5482 8
2767 | erdrem | e 3RHT 12 ESRSED T%g? 134 5482 2
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2768 12 BCICRE DI Srad) | 134 5483 1
2769 12 GINECEI T%g? 134 5492 7
2770 12 Bg Hedl T%g? 134 | 5493 650
2771 12 IR HEdl T%g? 134 5493 150
2772 12 g4l Heal T%g? 134 | 5496 2
2773 12| 91geld Hear T%g? 134 | 5497 3
2774 12 TTRT Agar T%g? 134 5521 4
2775 12 IRl T%g? 134 5580 7
2776 12| YauieeR Hedl T%g? 134 | 5532 7
2777 12 hex Hedl T%g? 134 | 5537 2
2778 12| RraeRor A8 T%g? 134 5538 .05
2779 12 I T8 Tqég? 134 5584 6
2780 12| queRI Hedl @A | sses 5
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2781 12 g4l Heal qoady) | 134 | 9589 5
2782 12 Hqew Hedl T%g? 134 5592 550
2783 12 ISR T%g? 134 5592 550
2784 12| g 78l T%g? 1203| 1163 8
2785 12| faeg=mer fAst T%g? 1203 1165 2
2786 12| ¥ARM T8 T%g? 1203 | 1174 4
2787 12 BT Hedl T%g? 1203 | 1174 4
2788 12 fRra A T%g? 1203 1192 7
2789 12 | w0 glogar T%g? 1203 | 1199 2
2790 12 EISENI| T%g? 1203| 1216 150
2791 12 EIEREER] Tqég? 1203| 1216 150
2792 12 A T T%g? 1203 | 1218 5
2793 12| R frer |0 @ oos | 1218 5
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2794 12 CIGRCIEN qoady) | 1203 1219 5
2795 12 EEUKEG) T%g? 1203 | 1220 5
2796 12| fiwRe 4 T%g? 1203| 1222 19
2797 12 R Hedl T%g? 1203 | 1381 5
2798 12 NIGEENEI] T%g? 1203 | 1382 150
2799 12 fojy et T%g? 1203 | 1382 1
2800 12 NECENET T%g? 1203 | 1382 125
2801 12| TUES A Tqég? 1203| 1382 125
2802 12 | WERAM YA T%g? 1203| 1386 8
2803 12 | Rrawer yraaH Tqég? 1203 | 1390 3
2804 12 qb1 STRR T%g? 1203| 1343 250
2805 12 W BolH Tqég? 1203| 1335 150
2806 12|  H8I[ER &M @ @R 0s| 1334 350
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2807 | eI | e IRAT 12 INEIRSSIC] qoaa) | 1208|1384 350
2808 | TR | wfTer 3T 12|  dRged Hedl T%g? 1203 | 1344 150
2809 | TR | e SRAT 12| AN AEGl T%g? 1203| 1352 250
2810 | eredTeRTa | wfTer AT 12 ElKESI] T%g? 1203| 1353 13
2811 | eredTeRT | Wi AT 12| dRged Hedl T%g? 1203| 1357 7
2812 | TR | gATa EET N 6 ERIIENE] Twéi? 82 274 3
2813 | IR | e EET N 6 JgHe dfl TQ;%? 82 274 1
2814 | TR | gATa EET N 6 HIG il Twéi? 82 274 150
2815 | TR | T EET N 6 ! M Taég? 82 274 1
2816 | TR | gATa EET N 6 SUEAGIG] Twéi? 82 248 1
2817 | eI | e fashagR 6 8T X T%g? 82 274 150
2818 | TR | gATa EET N 6 o1 Ae Twéi? 82 274 1
2819 | TR | Q! EET N 6 g e v (@0 82 274 1
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2820 | TR | GATa EET N 41 X Soad) | G2 274 2
2821 | erdem | g fashagR IROT " T%g? 82 274 150
2822 | TR | gATa EET N ST ™ Twéi? 82 274 150
2823 | IR | QAT EET N ERLECING! TQ;%? 82 274 1
2824 | IR | TR EET N RMHAe X TQ;%? 82 274 1
2825 | TR | T EET N Bled M Taég? 82 274 150
2826 | TR | QI EET N SIIE] Twéi? 82 274 1
2827 | IR | TR EET N RGNS Taég? 82 274 1
2828 | TR | GATa EET N CIREENE] Twéi? 82 274 1
2829 | TR | QI EET N 3N IH Twéi? 82 274 1
2830 | TR | el EET N AT | Twéi? 82 274 150
2831 | TR | gATa EET N e M Twéi? 82 274 1
2832 | IR | e EERIN s S LG I 274 1
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2833 | TR | el EET N 6 ATl M P, 82 274 150
2834 | TR | Q! EET N 6 oRH M Twéi? 82 274 1
2835 | R | el fashagR 6 URHTER M T%g? 82 274 150
2836 | TR | gATa EET N 6 IR M Twéi? 82 274 2
2837 | IR | e EET N 6 G X Taég? 82 274 1
2838 | TR | AT EEZIR 6 <qe! MM T%g? 82 274 16
2839 | TR | el EET N 6 ger I Twéi? 82 274 2
2840 | TR | GATa EET N 6 YR Twéi? 82 274 2
2841 | TR | QI EET N 6 WA M Twéi? 82 274 2
2842 | TR | GATa EET N 6 ISEECIURE! Twéi? 82 274 150
2843 | TR | QI EET N 6 Y Y Twéi? 82 274 2
2844 | ST | SgEdTE fashagR 6 ol XM T%g? 82 274 150
2845 | TRATART | AT N 136 JRHYR EIEA v (@0 348 1429 0.03 1/2
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2846 | IR | QAT INA 136| ilclhd STHY Srad) | 340 1429 0.03 1/2
2847 | IR | TG SN 136|  aTEEC <Al T%g? 9 1566 0.05
2848 | TRATART | AT S8 136 W@;qﬁa Twéi? 71 1511 0.03 1/2
2849 | STEIRTY | T INA 136 BT ufed T%g? 71 1511 0.03 1/2
2850 | TTEIRRTE | ST INA 136| fuiR dfea T%g? 71 1511 0.03 1/2
2851 | TR | T INA 136 Ry dfsd T%g? 335 1468 0.02
2852 | IR | QAT INA 136 daw dfed T%g? 335 1478 0.02
2853 | STEIRTY | T INA 136|  drefed udfsd T%g? 335 1468 0.02
2854 | IR | AT INA 136 gx ufesd T%g? 335 1507 0.03
2855 | IR | QAT INA 136 PIE UlSd T%g? 335 1469 0.02
2856 | TRATART | AT S8 136 _U ufsd Twéi? 335 1468 0.01 1/2
2857 | IR | QAT INA 136 EISIIEIRK] T%g? 338 1468 0.02
2858 | TRATART | AT N 136 e yfed v (@0 338 1468 0.01
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2859 | eRdRTY | IR SR 136  STTdTer ufed Sy | 338 1466 0.03
2860 | AT | ST SR 136 TR ufsd T%g? 346 1468 0.01 1/2
2861 | T | IR SR 136 <q ufed T%g? 346 1465 0.011/2
2862 | TRATART | AT S8 136 EIEIICRGINE| Twéi? 9 1527 0.05
2863 | RIRRTT | AT SN 136| #EI0 GENT T%g? 337 | 1446 0.05
2864 | T | IR SR 136 fimar <&@ T%g? 209 1512 0.04
2865 | eRERTY | IR SR 136 CERIG) T%g? 209 1512 0.03
2866 | TETERTI | QIR S8 136 aret ATqd Twéi? 209 1518 0.03
2867 | IR | QTG SN 136 T ufed T%g? 209 1518 0.02
2868 | TRIRRTY | AT Srg 136 AN STaR T%g? 209 | 1512 0.09
2869 | TEERTI | QIR S8 136 HETIR A1 Twéi? 209 1512 0.07 1/2
2870 | IR | QAT SN 136 <41 Ty T%g? 209 1512 0.06 1/2
2871 | TERRTE | T SR 50 Ty ot el (@, 195 0.06
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2872 | e | e NEEN 159  JAT WE | oo &) | 108 47 0.02 1/2
2873 | TR | ATQT 3IRHAT 159|  Y-I¥R red Tqég? 128 | 5392 0.02 1/2
2874 | RN | e STHSYR] 18 HHE! el T%g? 176 414 0.07
2875 | TRATART | TS CISEER 107 9 Hed Twéi? 38 47 0.02
2876 | TR | AT GaTa 60 Yg, Hish T%g? 122 476 0.0 1/2
2877 | TR | gATE CEER 60 S CISECIE] Tqég? 6 480 0.04
2878 | TERIRT | AT Gala 60 ERIE T%g? 48 1077 0.02
2879 | R | el GeTa 60 CRIRCIE| T%g? 48 1077 0.05 1/2
2880 | erdTeT | TR gTa 60 ARG Hish T%g? 48 1077 0.02
2881 | R | el GeTa 60 | SR A T%g? 48 1077 0.01 1/2
2882 | erdeT | e Gela 60 EURICIE] T%g? 48 1077 0.01 1/2
2883 | ERTY | e GeTa 60 | fdgea wm@ T%g? 48 1077 0.05
2884 | STEIRTY | T T 60 <dr wish N 472 0.03
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2885 | R | el GeTa 60 CRCIRCIE| Srad) | 48 1076 0.01 1/2
2886 | R | el GeTa 60 Tl High T%g? 48 1077 0.01 1/2
2887 | erdeT | i Gala 60 NEEERGIE T%g? 48 1075 0.03 1/2
2888 | ERTY | e GeTa 60 RISIIE T%g? 48 1075 0.01
2889 | TR | AT GaTa 60 |  dTgellel ATSH T%g? 46 1075 0.02
2890 | TR | AT GaTa 60 EERIEl T%g? 48 1075 0.05
2891 | TR | TE CEER 60 PHorgaR Al Twég? 48 1075 0.01
2892 | EeRTa | e GeTa 60 |  HHERI ASN T%g? 48 1076 0.011/2
2893 | erdTeT | i GeTa 60 HYRI AT T%g? 48 1077 0.05
2894 | erdTeT | TR GeTa 60 ERNIE] T%g? 6 472 0.01 1/2
2895 | TETERTI | QIR gd‘\lqﬂ 60 EREEIE Twég? 48 1075 0.02
2896 | erdTeTaT | TR gTa 60 |  gwag =Sl T%g? 48 1075 0.03 1/2
2897 | TR | gTE CEER 60 SA&HOT A v (@0 48 1075 0.02
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2898 | ERTY | I GeTa 60 ESSIGIE Srad) | 48 1075 0.01
2899 | erdTeTa | TR T 60 Heq, st T%g? 48 1075 0.01 1/2
2000 | AERT | e GeTa 60 | HEIGR AN T%g? 48 1075 0.001/2
2001 | AERTY | I GeTa 60 RINIRIE T%g? 48 1075 0.01
2002 | EeRTa | el GeTa 60 RISIIE] T%g? 48 1075 0.01 1/2
2003 | AERTY | e geTa 60 <fider wish T%g? 48 1075 0.02 1/2
2004 | TR | AT CHER! 60 |  wEaq Hish T%g? 48 1075 0.03 112
2905 | LRI | AT Gala 60 |  XTHUY A T%g? 48 1075 0.01
2906 | STEIRTY | T T 60 Sl A= Tqég? 6 472 0.03
2007 | eRTa | el GeTa 60 RISIRIED T%g? 48 1075 0.01 1/2
2008 | EeRT | el GeTa 60 fa< #isht T%g? 48 1075 0.02
2000 | AERTY | e GeTa 60 | drferHe®! Hish T%g? 48 1075 0.01 1/2
2910 | FEeRTa | e GeTa oo| i [ @M g 1075 0.01 1/2
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2011 61 faarer \ar Sroaa) | 13 505 0.04
2912 61 drer HaT T%g? 131 505 0.01
2013 61 EIGSE] Tqég? 131 506 0.01 1/2
2014 61 STAT |aT Tqég? 131 506 0.01 1/2
2015 61 BT ATaT qug‘r? 131 507 0.01
2016 61 AT T qug‘r? 131 506 0.01 1/2
2917 61 g3l ar T%g? 131 507 0.01
2018 61 Tl |aT T%g? 131 507 0.01 1/2
2919 61 EARUSE] T%g? 131 507 0.01
2920 61 far | T%g? 131 513 0.01
2021 61 T A&T Tqég? 131 515 0.02
2022 61 ge |al Tqég? 131 485 0.011/2
2023 61 TR HaT el (@, 458 0.01

qryad)




L (@

2024 | TERIRT | AT HET 61 U HaT fgaa) | 13 485 0.01 1/2
2025 | TERIRT | IR & 61 EISINEE] T%g? 131 485 0.01 1/2
2926 | TR | IR & 61 REZRE] T%g? 131 487 0.03 1/2
2027 | TR | AT " 58 |  SINITER Hal T%g? 258 1563 1
2028 | TR | AT " 58 |  fawred wer T%g? 258 1564 2
2929 | TTEIRRTY | AT HYgcA 58 JMHAG], A&l T%g? 258 1565 3
2030 | AERTY | e UKER 58 | 9 Nfdard T%g? 258 1580 3
2931 | THERERI | IR Hgad 58 EEEIRENEEAR] Twéi? 258 1581 .6
2932 | TTEIRRTY | AT HYgcA 58 I AT T%g? 258 1695 1
2933 | TTEIRRTY | ATl HYg&A 58 ST &1 T%g? 258 1696 1
2034 | TR | AT UNER 58 |  XMIR Wl T%g? 258 1697 2
2935 | STEIRRTY | AT HYg&A 58 B[ AT T%g? 258 1698 3
2936 | TRITART | AT Aga 58 AAI0 da v (@0 258 1702 .5
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2037 | TR | ATl " 58 a4l e Seaa) | 258 1701 2
2938 | TTEIRRTY | AT HYg&A 58 PRI HaT T%g? 258 1701 150
2030 | AERTY | e UKER 58 NIERIE] T%g? 258 1701 2
2040 | ERT | e UKER 58 fa< et T%g? 258 1704 150
2941 | AR | TS BINI[S] 72 AT Fat Twéi? 350 1803 2
2942 | FRERRT | AT RIS 72 IEENIIE Twég? 350 1804 .05
2943 | FREART | AT BINIS] 72 hel ol Twéi? 350 1804 5
2944 | FERRT | AT RIS 72 % \aT Twég? 350 1806 1
2945 | FRERRT | AT BIE 72 NIGISE] Twég? 350 1807 .05
2946 | TREART | AT BINIS] 72 VAR Hal Twéi? 350 1807 .05
2047 | TR | AT EENIEN 64 diy a1 T%g? 369 1582 8
2948 | TR | e HEIYR 64 e dfed Twéi? 369 1582 8
2949 | FREART | AT HEeYR 72 NIGESIG] v (@0 350 1819 10
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2950 | eredrerT | e SINEIR] 69 fawrcg ™ Sead) | 20 898 5
2951 | TR | gATa INEIGI 69 & CINIR] Taég? 250 898 8
2952 | TR | AT NI 166 wEYR Rig T%g? 124 111 10
2053 | TR | ATl AeTHYR 16 | W10 BHeTrad] <dl T%g? 458 206 4
2954 | e | TaT YR 16 | fawarer Hear T%g? 858 | 2028 3
2955 | TR | gATa goal 22 ERIESEE Twéi? 23 153 7
2956 | SRR | SEfTaT YR 16 IR T%g? 285 | 1842 450
2057 | TR | AT YR 16 gIR®T T T%g? 285 1842 250
2958 | TR | SEfTa YR 16 TR Hedl T%g? 285 | 3437 2
2950 | TR | SEfTaT TITAYR 27 | ST HEl T%g? 108 908 4
2960 | TR | GATa HeT YR 16 Ao THH Twéi? 285 462 4
2061 | TR | ATl YR 16 SIREIICT) T%g? 607 1796 9
2062 | TR | AT AeTHYR 16 e B RS P 42 750
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2963 | erdTeT | e RTTHYR 16 | RTHRTIOT el Srad) | 582 3829 3
2964 | TR | GATa T YR 16 YR dicr Twéi? 447 341 10
2065 | TR | AT AeTHYR 16 RTed M T%g? 245 700 2
2966 | TrITRT | GATa goal 22 el gl Twéi? 84 206 12
2967 | TR | gATa INYR 20 REICIC]] Taég? 23 102 3
2968 | TR | GATa INYR 20 [SRIEZRCI Twéi? 23 170 2
2969 | IR | TR INYR 20 CICIRSIES] Tqég? 23 87 8
2070 | TR | AT SREN 19 RgH o T%g? 193 1291 150
2971 | TR | gATE EEER 60 SEHad Hisl Tqég? 22 501 2
2072 | AR | AT GeTa 60 ERSCIE T%g? 22 501 150
2973 | TR | gTE CEER 60 M Y9I Taég? 22 501 1
2974 | AR | gATE EEER 60 TIRY His Tqég? 22 501 150
2975 | AR | PATE CEER 60 BR] AlSi v (@0 22 501 1
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2976 | TR | ATl CHER! 60 CIRIRIE] aea) | 2 501 250
2977 | STERT | T T 60 g1 HAisi Tqég? 22 501 1
2978 | STEIRTY | T T 60 RISCIRGIEN Tqég? 22 501 4
2979 | AR | gATE CEER 60 RRESEIE] Tqég? 22 501 2
2980 | STEIRTY | T T 60 RICUKIE] Tqég? 22 501 2
2981 | STEIERTY | T T 60 T Al T%g? 22 501 2
2982 | TR | gATEl CEER 60 EEEEIE Tqég? 22 501 6
2983 | STEIRTY | T T 60 IR i Tqég? 22 501 4
2984 | STEIERTY | T T 60 BRI T%g? 22 501 250
2985 | TEIRT | TR BT 63 | STITGIT UTAAT T%g? 284 1773 3
2986 | TR | gATEl CEER 60 NEICRIE] Twég? 22 501 250
2987 | STEIERTY | T &I 60 dte AvEh Tqég? 22 501 4
2988 | TR | QIR %j\urg%l 19 | QU ARTYYT <l v (@0 250 729 2
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2089 | TR | AT SREN 19 ESICIESIE] aeaad) | 3 1048 12
2090 | ERTa | el SR 136 g ufea T%g? 21 1508 5
2991 | TERRTY | AT HeTHYR 16 RRY M T%g? 239 585 3
2002 | AERTY | e SELIEN 16 | HEER AT T%g? 879 3160 5
2993 | TERRTY | AT YR 16 RIGERIEE] T%g? 879 1174 5
2994 | e | e AHYR 16| g@ad A8 T%g? 879 | 3174 3
2995 | TERRTY | AT HeTHYR 16 SACEGIC] T%g? 879 3178 7
2996 | TR | gATa INYR 20 0 T Twéi? 23 97 5
2997 | FEART | TS IRYR 20 BgH Taég? 23 96 4
2008 | TIRRI | QTS| TD WeYR | 17 | SIHA |l T%g? 2 109 10
2009 | Tl | e | AIOIGR 87 | HHl0 HHT <Al T%g? 234 470 8
3000 | e | er | HTOTHYR 87 | WITR Ied T%g? 234 470 8
3001 | iR | e ferarr 31 Fe e | @ e 909 550
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3002 | AR | ST | AR MR | 7 | SRR g91s Sead) | 110 234 350
3003 | TIRTY | e HKIBIYR 13 RUGECHGIN] T%g? 9 326 6
3004 | TR | T Rar 31 STRI HEdl T%g? 185 909 5
3005 | oTRIRT | TS Rar 31 bl HEal T%g? 185 909 550
3006 | IR | el NEIST 31| 9T Hedl T%g? 185 909 550
3007 | AR ST | Fh WeRyR | 17 | SRl AeAl T%g? 61 115 6
3008 | TR | T TRABIYY 13 NG FE ! Twéi? 63 21 9
3009 | AR | TRT | HRIBIYR 13| ATScTe We T%g? 81 24 850
3010 | TR | ITST | HRABIYR 13 e A T%g? 81 66 950
3011 | STEIIRT | TS HEIBTYR 13 REGINE | T%g? 125 235 3
3012 | AR | T HRAPBIYR 13 CREINASI]| T%g? 168 245 9
3013 | AR | pfmeT | HRIBIYR 13 SIRIGRED| T%g? 230 89 150
3014 | AR | ETRT | HRIBIYR 13 T N A5G I 327 1
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3015 | TETIRT | g HEABIYR 13 qrg el Srad) | 264 87 6
3016 | AEERTT | AT RABIYR 13 CLESIC TQ;%? 254 80 4
3017 | IR | g HEABIYR 13 EIEANIG] Taég? 30 325 4
3018 | AR | TGT | Fh HOMYR | 17 | ARG WEAl T%g? 71 111 450
3019 | TR | et | AP WeRgR | 17 ES Rl T%g? 81 118 4
3020 | TR | RITST | AP WeEYR | 17 | @ A T%g? 71 112 525
3021 | AR | ST | Fh HeRgR | 17 LEREINCE]] T%g? 81 106 3
3022 | AR | TRT | HRIBIYR 13 3rofiot At T%g? 230 89 150
3023 | TEART | AT RABIYR 13 H9g% g T%g? 264 81 4
3024 | TERRTY | e HKIBIYR 13 RCLAIGS TQ;%? 264 84 4
3025 | TEIRT | T HEABIYR 13 S EREGIG]| Taég? 264 83 2
3026 | TRTY | e HKIBIYR 13| IMRER IER TQ;%? 256 41 6
3027 | TEARTY | AT HXAWBIYR 13 ﬁ?ﬁ EINSEIN] v (@0 264 45 .6
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3028 | oTEfraRT | TG HEABIYR 13 NIREAGIGI] Sead) | 264 45 6
3029 | AR | Ifmer | IR TR | 7 IR XM T%g? 89 228 2
3030 | IR | IpTeT | @R MR | 7 IR T%g? 89 224 250
3031 | AR | e | IR TR | 7 e M T%g? 89 224 3
3032 | IR | et | HRAWIYR 13| gera A T%g? 230 89 250
3033 | IR | et | HRAWIYR 13 3T BTHR T%g? 133 62 175
3034 | AR | TG YRAIBIYR 13 L INEESIC T%g? 133 62 175
3035 | TR | ST | HRABIYR 13| TERT SR T%g? 133 62 175
3036 | IR | ETET | HRAWIYR 13| =40 g T%g? 133 62 175
3037 | IR | et | HRAWIGR 13 gHd A T%g? 230 89 150
3038 | TR | T HEABIYR 13 RECANIRI) T%g? 264 82 2
3039 | IR | AT HIgdd 3 Eﬂ‘{ﬁﬂtﬂ?ﬂ—dﬁ Twéi? 10 20 A
3040 | IR | AT RINEEZ 3 NLASEREINSEIN] v (@0 10 20 A
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3041 | IR | AT HIgdd 3 W{J}Tﬁ?{ ) 40 21 A
3042 | TEARTY | AT SES 136 EEIERSIE] Twéi? 111 1510 4
3043 | IR | AT SR 136 CIEURIE Tqég? 298 1483 6
3044 | AR | IRATST HISRITHT 140 ELSKGIE]! T%g? 158 142 05
3045 | TR | e SN 136|  dlefad Azdl T%g? 298 1389 350
3046 | TR | 3T SN 136 <dr area T%g? 209 1512 5
3047 | TENRT q\eillc_a 3XA 136| 10 ENSEIEISIECIN] Twéi? 9 1527 3
3048 | TR | e AR 158|  XMH<d W18 T%g? 16 734 750
3049 | TERIRTT | GITET 3N 136 Tl dfed Twéi? 238 1467 8
3050 | TR | ETer | gElell R | 99 RSB BleT T%g? 356 2287 375
3051 | ey | ETer | gElell R | 99 A1 BT T%g? 356 2301 3
3052 | TR | IRTST [ geilell aR | 99 9IS PreT T%g? 390 | 2256 2
3053 | TR | e SSEN 167 AT Hee v (@0 73 521 250
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3054 | oIIRT | TS YT 19 oiel frr Srad) | 286 253 4
3055 | oIIRT | XEATST AR 158|  dlg UrAQ Taég? 88 654 2
3056 | STEIRTY | AT RTIYR 157 AL A5 T%g? 38 259 .950
3057 | TETARTY | AT qd® 3 ST Bl Tqég? 90 19 10
3058 | STEIRTY | TG SREN 19 Ferl A T%g? 185 1128 4
3059 | erEfaRT | TG YT 19 gl AT Tqég? 12 1135 5
3060 | erEfaRTa | e IRHT 12 STHAT XM Tqég? 1203 1235 1275
3061 | TR | e IRHAT 12 STAT AEal Tqég? 1203 1358 225
3062 | TR | T IARYR 18 RS ER RIS T%g? 275 318 3
3063 | oTEaRT | TG YT 19| IFRAA AEdl T%g? 147 31 7
3064 | oTEART | TG NEISI 18 SIECIRSIE Tqég? 175 318 6
3065 | eI | e | gElell R | 99 TSI BIST T%g? 387 2282 1
3066 | TR | IRTST [ geilell ahR | 99 S BreT o @0 e 2252 05
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3067 geTell x| 99 TR BlST e ) 370 2260 125
3068 gelell g% | 99 gl Brel T%g? 370 2260 2
3069 gelell g 7R | 99 iR P T%g? 359 2262 125
3070 gelell g9a) | 99 I BreT T%g? 386 2286 2
3071 gUlell a7x | 99 JEd Pl T%g? 386 2286 .05
3072 gUlell a7x | 99 ST et T%g? 373 2001 150
3073 gUTell a7x | 99 HTE Bl T%g? 373 2001 1
3074 gelell a7aR | 99 RIS PleT T%g? 373 2001 1
3075 geTell a7R | 99 g DIl T%g? 373 2001 1
3076 gUTell a7R | 99 T BreT T%g? 373 2001 2
3077 gelell a7r | 99 IR BIST T%g? 367 2279 6
3078 gUlell aax | 99 | =T BreT T%g? 358 2236 175
3079 gelell a7pR | 99 | gaFBR BIST @A 7 2177 350
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3080 geTell x| 99 AR PleT froad) | 34 668 2

3081 gUlell a7ar | 99 HTET PIST T%g? 214 668 150
3082 gelell g 7R | 99 AT Bl T%g? 214 668 .150
3083 gUTell a7R | 99 W BreT T%g? 214 668 275
3084 gUlell a7x | 99 Tl BIST T%g? 214 668 125
3085 gUlell a7x | 99 TR BIel T%g? 214 668 125
3086 gellell 7R | 99 RRIVECEL] T%g? 356 452 150
3087 gelell g9aR | 99 RESCIS) T%g? 356 452 2

3088 geTell a7R | 99 AT DIl T%g? 356 452 125
3089 gUTell a7R | 99 AR BIeT T%g? 356 452 125
3090 gelell a7r | 99 ol PrST T%g? 356 452 1

3091 gellell 7R [ 99 | HAI0 AW T%g? 356 452 05
3002 gelell a7R | 99 gYAR BT vt (@ 356 452 .05
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3003 | AR | IfTer | gelell ahR | 99 <, BIST Sead) | 3% 452 .05
3004 | AR | IRfer | gellell aR | 99 | fagARd BT T%g? 356 452 05
3095 | eI | Eer | gElell R | 99 I DI T%g? 356 452 175
3096 | TR | ETer | gElell R | 99 | BlsT T%g? 356 452 2
3007 | AR | IRfTer | gelell ahR | 99 dld, el T%g? 356 452 .05
3008 | AR | IRfTer | gelell ahR | 99 D] Bl T%g? 356 452 75
3009 | AR | IRfTer | gelell ahR | 99 A Prel T%g? 356 452 .05
3100 | AR | IRfTer | gelell ahR | 99 T PreT T%g? 356 452 25
3101 | STEIRTA | e SREN 19 | REIRM Hgdr T%g? 189 418 150
3102 | e | e PAYR] 19| el Hedl T%g? 189 418 450
3103 | eI | e PIYRT 19 | YdIZaR Hed! T%g? 189 418 10
3104 | TR | e SREN 19| wer A T%g? 189 418 13
3105 | TEIRTA | ETaT SREN 19 merdR W | @ g 418 350
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3106 | IR | T YT 19 ArelT e P, 189 418 9
3107 | TERTA | ETaT SREN 19 S Hedl T%g? 189 418 950
3108 | AR | e SREN 19| SR Hed! T%g? 189 418 1150
3109 | TR | el SREN 19 RISIESIES T%g? 189 418 350
3110 | orEIeRTa | e SREN 19| 899 XoTH T%g? 189 418 250
3111 | orereRTa | e SREN 19 GRoL, wEdl T%g? 189 418 5
3112 | IR | e YT 19 SEINICEGI T%g? 189 418 12
3113 | e | el SREN 19 HICESE T%g? 189 418 950
3114 | STERTA | ETaT SREN 19 EEIEINEE T%g? 189 418 6
3115 | TEIRTA | ETaT SREN 19 BEEINSIC) T%g? 189 418 6
3116 | e | e PIYRT 19 CINIGES]] T%g? 189 418 450
3117 | e | e PIYR] 19 RICIRCEN] T%g? 189 418 450
3118 | STEIRTa | e SREN to|  wEdd e | @ g 418 550
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3119 | e | e IR 19 CIRIGES]] froad) | 189 418 550
3120 | R | el SREN 19 | AT |1g T%g? 178 125 5
3121 | TR | T | @R MR | 7 CEZASIES T%g? 201 585 1
3122 | IR | TR 3NHT 12 ENEGE T%g? 1203 4927 0.02
3123 | IR | TR 3RHT 12 He W&l T%g? 1203 4927 0.02
3124 | IR | TR 3RHT 12 RIESESE] T%g? 1203 4927 0.02
3125 | IR | TR 3RHT 12 w0 Afem TQ;%? 1203 4927 0.02
3126 | IR | TR 3RHT 12 RISl et T%g? 1203 4927 0.02
3127 | AR | TR 3NHT 12 T AT T%g? 1203 4927 0.02
3128 | IR | TET 3RAT 12 HeT] et T%g? 1203 4927 0.02
3129 | IR | TR 3NHT 12 g w|aT T%g? 1203 4927 0.02
3130 | IR | TR 3RHT 12 [ESESE] T%g? 1203 4927 0.02
3131 | TR | e 3RAT 12 T8 T vt (@1 1203 4927 0.02
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3132 12 [ERRISE] S dh) 1203 4927 0.02
3133 12 RTSH 3T T%g? 1203 4927 0.02
3134 12 [EEREL T%g? 1203 4925 0.02
3135 12 CEIREE T%g? 1203 4925 0.02
3136 12 STATER el T%g? 1203 4925 0.02
3137 12 H10 A T%g? 1203 4925 0.02
3138 12 Aqde Hal T%g? 1203 4925 0.02
3139 12 qde Hal T%g? 1203 4925 0.02
3140 12 [EEIRE T%g? 1203 4925 0.02
3141 12 CUSIRE T%g? 1203 4925 0.02
3142 12 SRIRSEY T%g? 1203 4925 0.02
3143 12 fRyereeR wAar T%g? 1203 4925 0.02
3144 12 PIg AaT vt (@1 1203 4925 0.02
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3145 3RAT 12 U T S dh) 1203 4925 0.02
3146 IRHAT 12 T |t T%g? 1203 4925 0.02
3147 IRHAT 12 ERGESE T%g? 1203 4925 0.02
3148 RAT 12 DHA HaT T%g? 1203 4925 0.02
3149 3RAT 12 RISIGE] T%g? 1203 4925 0.02
3150 3RAT 12 CIEIISE] T%g? 1203 4925 0.02
3151 RAT 12 AT AT T%g? 1203 4925 0.02
3152 ART 77 A Bl T%g? 294 493 6.25
3153 AR 77 T BreT T%g? 294 442 2.25
3154 AR 77 AT BreT T%g? 294 442 0.03
3155 AR 77 refret Brer T%g? 294 463 2.25
3156 AR 77 elrer BrgT T%g? 294 434 0.09
3157 ART 77 31Ty Bl vt (@1 294 463 45
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3158 | TTRARRTY | IRATST IR 77 | w0 qRwr <@ Sreaa) | 29 465 45
3159 | orfRTa | e ART 77 qId BreT T%g? 409 470 0.03
3160 | oTIRTY | TG ART 77 T Brer Tqég? 409 470 3.25
3161 | TEARTY | TS DI 108 RISENEIE] T%g? 25 51 0.01
3162 | AEERTT | AT DI 108 T g T%g? 25 51 0.01
3163 | TTERRT | TS DT 108 ST A T%g? 25 51 1.75
3164 | AR | AT DT 108 TSl High T%g? 25 51 0.75
3165 | TERIRTI | GITET DI 108 STATER High Twéi? 25 51 0.75
3166 | TTERRT | TS DI 108 Erea iR T%g? 25 51 0.01
3167 | TTERRT | TS DI 108 STgd wsh Tqég? 25 51 1.25
3168 | TR | GITeT DT 108 Rrq HER A= Twéi? 25 51 0.05
3169 | IR | AT DT 108 SSSRIE T%g? 25 51 1.75
3170 | AR | TS DT 108 e High v (@0 25 51 1.25
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3171 | TTERRT | e DI 108 SENCICIUIE] Soad) | 2 51 0.01
3172 | IR | TS DI 108 U High Twéi? 25 51 0.075
3173 | IR | TS DT 108 TN A Tqég? 20 57 0.02
3174 | TTERRT | TS DI 108 aqrerRaR Afsh Tqég? 20 57 0.05
3175 | TTERRT | TS DI 108 T AT Tqég? 20 57 0.05
3176 | IR | T DT 108 ClSRIE] Twéi? 20 57 0.05
3177 | FERIRTT | e DT 108 STATER High Twéi? 20 57 0.05
3178 | R | AT ECINL 108 gy wish Tqég? 20 57 2.00
3179 | FERIRT | GITe DI 108 g i Twéi? 20 57 1.00
3180 | TERIRTT | GITeT DI 108 JbR High Twéi? 29 57 1.00
3181 | TR | e faermgR 86 BT T T%g? 1417 | 3767 0.04
3182 | TIERRTA | IRiTeT faemgR 86 bR T T%g? 1417 | 3767 0.02
3183 | TR | e faermgR 86 R N AU/ A YT 1.50
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3184 86 T T, S dh) 1417 3767 2.25
3185 86 SRI T, T%g? 1417 3767 2.25
3186 86 JEs ARA T%g? 1417 3767 0.02
3187 86 EIERRENE| T%g? 1417 3767 0.04
3188 86 H T, T%g? 1417 3767 0.02
3189 86 AT AT AR T%g? 1417 3767 0.05
3190 86 BRI <l T%g? 1417 3767 0.05
3191 86 TSN JHRT T%g? 1417 3767 0.02
3192 86 HEI IRT T%g? 1417 3767 0.02
3193 86 g G T%g? 1417 3767 25
3194 86 HITeT E¥ET T%g? 1417 3767 0.02
3195 86 AR AR T%g? 1417 3767 0.01
3196 86 SIg, TR vt (@ 1417 3767 3.75
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3197 86 ERTeflel aRT ) 1417 3767 0.05
3198 86 G TR T%g? 1417 3767 35
3199 86 q@ gl T%g? 1417 3767 2.75
3200 86 EUISE] T%g? 1417 3767 2.75
3201 86 o ey T%g? 1417 3767 0.03
3202 86 g, IR T%g? 1417 3767 55
3203 86 Adq] g9l T%g? 1417 3767 4.75
3204 86 TR T T%g? 1417 3767 2.75
3205 86 g I T%g? 1417 3767 35
3206 86 AN T%g? 1417 3767 3.75
3207 86 T TR T%g? 1417 3767 0.05
3208 86 AT T, T%g? 1417 3767 0.03
3209 86 ] e vt (@1 1417 3767 35
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3210 | SRR | IRITeT faermgR 86 ASEINRERE Quad) | 1417|3767 2.25
3211 | IR | TR faemgR 86 Qe AN T%g? 1417 3767 25
3212 | TR | TG faemgR 86 Y T T%g? 1417 3767 15
3213 | TEART | AT HHAAYR 43 FUTR W&l T%g? 133 679 0.75
3214 | TEART | AT HHAAYR 43 BRI T%g? 133 679 0.05
3215 | TEARTY | AT HHAAYR 43 Tt e T%g? 133 679 0.05
3216 | IR | AT HHHHYN 43 EELCCIGE] T%g? 133 679 0.075
3217 | IR | AT HHAAYR 43 BRG] Taég? 133 680 0.075
3218 | IR | AT HHAAYR 43 EUEIEEEGE) Taég? 133 680 0.075
3219 | IR | AT HHAAYR 43 RISTRTH &SI Taég? 133 680 1.25
3220 | TRIRIRTY | TS HHAAYR 43 NECAIGE T%g? 133 680 1.00
3221 | TR | TR g 111 farsrr st T%g? 623 1825 0.04
3222 | TR | e ANfbg 111 SRR High o @A ey 1825 0.04

qryad)
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3223 111 RACHURIE] S dh) 623 1825 35
3224 111 Hrelr wigh T%g? 623 1825 1.75
3225 111 NIESIIE) T%g? 623 1825 1.75
3226 111 wrg gl T%g? 623 1825 0.03
3227 11 I sl T%g? 623 1825 0.02
3228 111 RIS High T%g? 623 1825 0.02
3229 11 T Al T%g? 623 1825 1.75
3230 111 ] Hish T%g? 623 1825 1.75
3231 111 T Hish T%g? 623 1825 1.75
3232 111 RESUEIE T%g? 623 1825 2.25
3233 111 RTHIAR A T%g? 623 1825 25
3234 11 EIIE TQ;%? 623 1825 0.03
3235 111 HER High xadl (@0 623 1825 15
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623

1825

15

3237

111

SSURIE

R @
qrad)

623

1825

15




